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➮✫➟⑥➚✂➨➔Ò➑➻①➥→➪✂➡➙➟⑥➞✈➝❉➞✈➝✚➟⑥➩❤➜✂➝✚➪✟➨→➚➒➨→➚ Ô ➚▼➨➫➬♥➝✪➬✈➨→➮☎➝⑥Ð✡Ø✮➡■➟✥➞✈➝❭➡✈✃✂➥➔➬✯➳❢➨→➚❲➟✥➡❸➧✼➡❸➬♥➝❭➮❇❒➆➨➔➬♥➜➒➡✈➥→➨➫➪✂➨→➚▼➼➆➬✈➜✂➝➀➪✼➧✼➚✂➟⑥➮✫➨➫➩✚➡
➨➫➡➂➚✂➻⑥➚✂➨→➚❫➤①➝❭➞➢➬✈➨→➺✂➥➫➝❿➨➫➚➄➡➢➻①➮✫➝❿➦✲➟⑥➞❸➬♥➡➂➻⑥Ò➙➬♥➜▼➝✮➦✂➜✲➟⑩➡✈➝❽➡➢➦✲➟⑥➩✚➝⑩Ð➣èÕ➝✥➩✚➻①➚▼➡✈➨→➪▼➝✚➞➂➬✈➜✂➝✮➩✚➟⑥➡✈➝❿❒➆➜✂➝✚➞➢➝❷➟⑥➥➫➥✲➻①➞✈➺✂➨➔➬♥➡
➟⑥➞➢➝❽➝❭➤⑥➝✚➚❫➬♥✃✂➟⑥➥→➥➔➧➄➬♥➞✈➟⑥➦✂➦➱➝✚➪✜➨→➚➌➟✖➚▼➝✚➨→➼⑥➜④➺➱➻①✃✂➞➢➜✂➻④➻✼➪➌➻⑩Ò✡➬✈➜✂➝❷➡➢❒➆➨➔➬♥➩❤➜✂➨➫➚✂➼✝➡✈✃▼➞➢Ò●➟⑥➩❭➝❷➡✈✃✂➩❤➜✜➬♥➜✲➟❢➬❜➬♥➜✂➝❮➧➌❒➆➨→➥➫➥
➩❭➻①➚❫➬❤➟⑥➨➫➚➏➡✈➥➫➨→➪✂➨➫➚✂➼✫➡➢➝✚➼①➮☎➝✚➚❫➬✈➡✚Ð❷➛s➜✂➨➫➡✮➮☎➝✯➟⑥➚✂➡✥➬♥➜✲➟⑩➬❽➟⑥➚➍➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞✮➝✓é▼➨➫➡➢➬✈➡❷➟⑥➚✂➪➏➨➔➬❽➨➫➡✮➻①➺▼➬♥➟⑥➨→➚▼➝✚➪✴Ò➑➞➢➻①➮
➬✈➜✂➝❿Ò➑➻⑥➞➢❒➀➟⑥➞✈➪☎➬♥➞♥➟❋Ü➢➝✚➩❭➬✈➻①➞✈➨➫➝✚➡❉➻⑥Ò➙➦➱➻①➨➫➚♦➬✈➡❉❒➆➜▼➝✚➞✈➝❿➬♥➜✂➝❿➡➢❒➆➨➔➬♥➩❤➜✂➨➫➚✂➼➒➡✈✃✂➞❸Ò●➟⑥➩✚➝✥➩✚➝✯➟⑩➡✈➝✚➡➂➬♥➻➒➺❚➝❿➨→➚❫➤⑩➟⑥➞✈➨→➟⑥➚❫➬✯Ð■Ñ❥➚
➟➄➬❥❒➂➻⑩❰❥➪▼➨→➮☎➝✚➚✂➡➢➨→➻①➚✲➟⑩➥■ê✡➻①➨→➚▼➩✯➟⑥➞➢ë✝➮➄➟⑥➦✴➻⑥Ò➂➟➄➬♥➜✂➞➢➝✚➝✝➪✂➨➫➮✫➝❭➚✂➡✈➨➫➻①➚✲➟⑥➥✛➦✂➨➫➝✚➩✚➝❮❒➆➨→➡➢➝❮❰❥➡➢➮✫➻④➻⑥➬✈➜➍➡➢➧④➡➢➬✈➝✚➮★➬✈➜✂➨→➡

∗ ì❚í✿î➓ï➑ð✿ñ❮ò✼ó❚ô❸õ✚ð✿í➇ô➣örñ❭í✛÷✛ø☛ø☛òùîùô➢ú❷û✛ñ❭õ☛òùî➲õ☛ô✈ü✓í✡ý➒ü❤ð➇ô➢þsü❤ð➇î➓ÿ❸ï✁�✄✂✛õ❢î✆☎❭ô❸í➉ï●î➲ð✞✝❿ñ❮ö✂ì❏í✿îùï●ð➇ñ❭ò✟�✄✂✡õ☛î✆☎❭ô❸í➉ï●î➲ð✞✝✡✠❼ü✓ò☞☛✌�❢ì❏í➇î➓ï➑ð✿ñ❮ò✍�ì✏✎✒✑✔✓✁✕✏✖✘✗✚✙✜✛✣✢✥✤✒✦✒✧★✦✪✩✥✫✭✬✒✙✌✩★✢✯✮✄✰✒✧✱✛✞✦✳✲✴✛✶✵★✷✄✸
† ì❚í✿î➓ï➑ð✿ñ❮ò✼ó❚ô❸õ✚ð✿í➇ô➣örñ❭í✛÷✛ø☛ø☛òùîùô➢ú❷û✛ñ❭õ☛òùî➲õ☛ô✈ü✓í✡ý➒ü❤ð➇ô➢þsü❤ð➇î➓ÿ❸ï✁�✄✂✛õ❢î✆☎❭ô❸í➉ï●î➲ð✞✝❿ñ❮ö✂ì❏í✿îùï●ð➇ñ❭ò✟�✄✂✡õ☛î✆☎❭ô❸í➉ï●î➲ð✞✝✡✠❼ü✓ò☞☛✌�❢ì❏í➇î➓ï➑ð✿ñ❮ò✍�ì✏✎✒✑✔✓✁✕✏✖✘✗✺✹✻✛✽✼✾✛✿✰✳✢✒✩❁❀❃❂✄✦❃✫✭✬✒✙❄✩★✢✥✮✒✰❃✧❅✛✞✦✳✲❆✛✶✵❃✷✒✸
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➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞✟➩❭➻①➚✂➡✈➨➫➡➢➬✖➻⑥Òs➬✈➜✂➝➌Ò➑➻①➞❸❒❜➟⑥➞➢➪ ➨→➮✫➟⑥➼①➝❭➡✟➻⑥Ò✥➟➏➥→➨➫➚✂➝⑥Ð➏è➠➝➌➨➫➚♦➤⑥➝✚➡❸➬♥➨→➼①➟⑩➬♥➝➌➬✈➜✂➝➌➩✯➟⑩➡✈➝➌❒➆➜✂➝❭➚Ï➬✈➜✂➨→➡
➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞✮➨➫➡✮➦➱➻①➥➫➧④➼①➻①➚✂➟⑥➥➔❰➉➡✈➜✲➟⑥➦➱➝✚➪✴➟⑥➚✂➪➍➻④➩✚➩❭✃✂➞✈➡✭➟⑥➡❽➟➌➞✈➝✚➡➢✃✂➥➫➬❽➻⑥Ò❉➟➌➺✂➨➫Ò➑✃▼➞✈➩✯➟❢➬♥➨→➻⑥➚✘❒➆➜✂➝❭➞✈➝✖➟➌➦➱➝✚➞✈➨➫➻✼➪▼➨→➩
➻①➞➢➺✂➨➫➬❜➺❚➝❭➩✚➻①➮☎➝✚➡➆✃✂➚✂➡❸➬❤➟⑥➺▼➥→➝✭➪✂✃✂➝✭➬♥➻✝➬♥➜▼➝➒➞➢➝✚➮☎➻❋➤⑥➟⑩➥➙➻⑥Ò➣➨➔➬♥➡s➡➢➥→➨→➪▼➨→➚✂➼❼➡➢➝✚➼①➮☎➝✚➚❫➬✚Ð➂➛s➜✂➨➫➡➆➦✂➜✂➝✚➚▼➻①➮✫➝❭➚✂➻①➚✰➨→➡
➡➢➨→➮☎➨→➥❆➟⑩➞❿➬✈➻✘➟✕➡➢✃✂➦❚➝❭➞✈➩❭➞✈➨➫➬✈➨→➩✚➟⑥➥❈❇✥➝❭➨→➮✫➟⑥➞✈æ①❰♠ç▼➟⑥➩❤æ⑥➝❭➞❷➺✂➨➫Ò➑✃▼➞✈➩✯➟❢➬♥➨→➻⑥➚➍➨→➚➏➬♥➜▼➝☎➡➢➝✚➚✂➡➢➝☎➬✈➜✲➟⑩➬❷➬✈➜✂➝✖➦❚➻①➥➔➧④➼①➻①➚✲➟⑥➥r❰
➡➢➜✲➟⑥➦➱➝✚➪❼➟❢➬✈➬♥➞✈➟⑥➩❭➬✈➻①➞✛➞✈➝❭➡✈➝✚➮✟➺✂➥→➝❭➡➣➟s➬♥➻①➞➢✃✂➡✚Ð❊❉❷➚➒➬♥➜✂➝❉➻⑥➬✈➜✂➝✚➞✡➜✲➟⑥➚✂➪❏➳⑩➬♥➜▼➝➀➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞✛➨→➡✛➚✂➻⑥➬✣➟➆➬✈➻①➦➱➻①➥→➻①➼⑥➨→➩✯➟⑩➥
➩❭➨→➞✈➩❭➥→➝✮➟⑥➚✂➪➌➨➔➬♥➡❜➨➫➚♦➬✈➞✈➨➫➚✂➡✈➨➫➩✥➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡❜➩✚➟⑥➚✕➺❚➝✮➮✫➻①➞➢➝✮➩❭➻①➮✫➦▼➥→➨→➩✚➟⑩➬♥➝❭➪✫➬✈➜✲➟⑥➚✕➨→➡➂➦❚➻⑥➡✈➡✈➨➫➺✂➥→➝✥➻①➚✜➟✟➡➢➮✫➻④➻⑥➬♥➜
➬✈➻①➞✈✃✂➡❭Ð

❋ ●■❍❑❏✏▲◆▼P❖❘◗❘❙❚❏✾❯✭▼❱❍

è➠➝✴➟⑩➞✈➝✰➩✚➻①➚✂➩❭➝✚➞➢➚✂➝✚➪ ❒➆➨➔➬♥➜ ➟✏Ò➑➻✼➩❭✃✂➡❸❰✿➬❥➧④➦❚➝✰✃✂➚✂➡❸➬❤➟⑥➺✂➥➫➝✴➦➱➝✚➞➢➨→➻④➪✂➨→➩✕➻①➞➢➺✂➨➫➬✖➬✈➜✲➟⑩➬✫➨→➡☎➩✚➥→➻⑥➡✈➝✜➬♥➻Õ➼⑥➞♥➟❄❲❭➨→➚✂➼
❒➆➨➔➬♥➜✕➟❼➡❸❒➆➨➫➬♥➩❤➜▼➨→➚✂➼✝➡➢✃✂➞➢Ò●➟⑥➩❭➝❽➩✚➻⑥➚♦➬♥➟⑥➨→➚▼➨→➚✂➼✝➟❼➡➢➥→➨➫➪✂➨→➚✂➼➒➞✈➝❭➼①➨→➻⑥➚➙Ð✣è➠➝❷➡✈➜✂➻❋❒➶➬♥➜✲➟⑩➬s➟✟➦❚➻⑥➥➫➧④➼①➻①➚✲➟⑩➥➔❰❥➡➢➜✲➟⑥➦➱➝✚➪
➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞➙➩✚➻④➝❮é✼➨➫➡➢➬♥➡✺❒➆➨➔➬♥➜❽➬♥➜▼➝❉✃▼➚✂➡➢➬♥➟⑥➺✂➥→➝✪➦➱➝✚➞➢➨→➻④➪✂➨→➩■➻①➞✈➺▼➨➫➬✯➳❋➦▼➞✈➻❋➤④➨→➪✂➝❭➪❲➨➔➬✺➨→➡➙➩❭➥→➻①➡➢➝✪➝✚➚✂➻⑥✃✂➼①➜✭➬♥➻s➼①➞✈➟❄❲✚➨➫➚✂➼✂Ð
Ñ➉Ò■❒➀➝➒❒➀➝❭➞✈➝❲➬✈➻✫➩❤➜✂➟⑥➚✂➼①➝✟➟☎➦✲➟⑩➞♥➟⑥➮☎➝❭➬✈➝✚➞➆➡✈✃✂➩❤➜✘➬♥➜✲➟⑩➬❿➬♥➜▼➝❲➻①➞➢➺✂➨➫➬➆➡❸➬❤➟⑥➞❸➬♥➡➆➬♥➻✫➡✈➥→➨➫➪✂➝⑥➳✂➬✈➜✂➝✚➚✰➬♥➜✂➝➒➦➱➝✚➞✈➨➫➻✼➪▼➨→➩
➻①➞➢➺✂➨➫➬■➺➱➝✚➩✚➻⑥➮✫➝❭➡➣➡➢➬♥➟⑥➺✂➥→➝❜➟⑥➚✂➪✟➬✈➜✂➝❜➦➱➻①➥➫➧④➼①➻①➚✂➟⑥➥➔❰➉➡✈➜✲➟⑥➦➱➝✚➪✟➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞■➨→➡■➼①➻①➚✂➝⑩Ð❊❳✥➝❭➚✂➩✚➝⑩➳❫❒➀➝❜➩❭➻①✃✂➥➫➪✟➬♥➜✂➨➫➚✂æ
➻⑥Ò✭➬✈➜✂➨→➡➌➦▼➜✂➝✚➚✂➻⑥➮✫➝❭➚✂➻①➚ ➟⑥➡✕➟ ➡✈✃✂➦➱➝✚➞➢➩✚➞➢➨➫➬♥➨➫➩✯➟⑥➥✔❇✥➝❭➨→➮✫➟⑥➞✈æ①❰❸ç✼➟⑥➩❤æ⑥➝❭➞✕➺✂➨➫Ò➑✃✂➞➢➩✯➟⑩➬✈➨→➻①➚❏Ð❇➛s➜▼➝Ö➺▼➨➫Ò➑✃✂➞➢➩✯➟⑩➬✈➨→➻①➚
➻④➩✚➩❭✃✂➞✈➡✪❒➆➜✂➝❭➚✫➬♥➜▼➝❿➡➢➥→➨➫➪✂➨→➚✂➼✮➞✈➝✚➼⑥➨→➻①➚✝➤⑩➟⑥➚✂➨➫➡✈➜✂➝❭➡✸Ò➑➞➢➻①➮Ù➬✈➜✂➝➆➦❚➝❭➞✈➨➫➻✼➪✂➨➫➩❜➻①➞➢➺✂➨➫➬✪➬✈➜✂➞✈➻①✃▼➼①➜✖➼①➞♥➟❄❲❭➨→➚✂➼▼Ð✣Ø❜➬✸➬♥➜✂➝
➼①➞✈➟❄❲✚➨➫➚✂➼❽➦➱➻①➨→➚❫➬➣➬✈➜✂➝s➻①➞➢➺✂➨➫➬✪➨➫➡➣➡➢➬✈➨→➥➫➥✼➡❸➬❤➟⑥➺✂➥➫➝⑥➳♦➟⑩Ò➋➬✈➝✚➞✪➼①➞✈➟❄❲✚➨➫➚✂➼❽➨➔➬✪➺❚➝❭➩✚➻①➮☎➝✚➡✪✃▼➚✂➡➢➬♥➟⑥➺✂➥→➝➆➟⑩➚✂➪☎➟❽➦❚➻①➥➔➧④➼①➻①➚✲➟⑥➥r❰
➡➢➜✲➟⑥➦➱➝✚➪×➟❢➬✈➬♥➞✈➟⑥➩❭➬✈➻①➞❷➨→➡✭➺➱➻①➞✈➚❏Ð❨❇❿➻⑥➬♥➝✖➬♥➜✲➟❢➬➒➬✈➜✂➝✖➺✂➨➫Ò➑✃▼➞✈➩✯➟❢➬♥➨→➻⑥➚Ö➨➫➡❷➮✫➝❭➪✂➨❆➟❢➬♥➝✚➪Ö➺❫➧➍➬♥➜✂➝✖➦✂➞➢➝✚➡➢➝✚➚✂➩❭➝➌➻⑥Òs➟
➡➢➥→➨→➪▼➨→➚✂➼s➞➢➝✚➼①➨➫➻①➚➙Ð✛Ñ➉Ò▼❒➂➝➀➪✂➨➫➡✈➞➢➝✚➼❫➟⑥➞➢➪➒➬✈➜✂➝✸➡➢❒➆➨➔➬♥➩❤➜✂➨➫➚✂➼✂➳☛➬♥➜✂➝❉➡➢➬♥➟⑥➺✂➨→➥➫➨➫➬❥➧✥➦✂➞✈➻⑥➦❚➝❭➞➢➬♥➨➫➝✚➡✛➻⑥Ò✼➬♥➜✂➝❉➦❚➝❭➞✈➨➫➻✼➪✂➨➫➩➣➻①➞➢➺✂➨➫➬
➬❥➧④➦✂➨➫➩✯➟⑥➥➫➥➫➧➌➪▼➻✫➚✂➻⑩➬✥➩❤➜✂➟⑥➚✂➼①➝➒➨→➚✕➬♥➜▼➝❲➚✂➝❭➨→➼①➜♦➺➱➻①✃✂➞➢➜✂➻✼➻④➪✜➻⑥Ò✣➬✈➜✂➝✭➺✂➨➫Ò➑✃▼➞✈➩✯➟❢➬♥➨→➻⑥➚✘❩➑➨➫➬➆➞➢➝✚➮✫➟⑥➨→➚✂➡s✃▼➚✂➡➢➬♥➟⑥➺✂➥→➝❃❬❮Ð
Ø✥➡❿➨➔➬s➬♥✃✂➞➢➚✂➡❿➻①✃▼➬✯➳✂➬✈➜✂➝✭➦❚➻⑥➥➫➧④➼①➻①➚✲➟⑩➥➔❰❥➡➢➜✲➟⑥➦➱➝✚➪✰➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞s➨→➡s➚✂➻⑥➬✥➟✝➬♥➻①➦➱➻①➥➫➻①➼①➨→➩✚➟⑥➥➱➩✚➨→➞➢➩✚➥➫➝⑥➳✲➺➱➝✚➩✯➟⑩✃✂➡✈➝✭➬♥➜✂➝
➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡☎➝❮é④➬♥➝❭➚✂➪✂➡➌➬♥➻Ö➬♥➜✂➝✘➥→➨➫➚✂➝✚➡☎➪✂➞♥➟✯❒➆➚ ➬✈➜✂➞✈➻①✃▼➼①➜❐➬✈➜✂➝✴➡➢➨→➪✂➝❭➡✕➟⑥➚✂➪❐➨→➡➄➚▼➻⑥➬➄➞➢➝✚➡❸➬♥➞✈➨➫➩❭➬✈➝✚➪Ú➬✈➻Õ➬♥➜✂➝
➡➢➨→➪✂➝❭➡❿➻⑩Ò■➬✈➜✂➝❷➦❚➻⑥➥➫➧④➼①➻①➚➙Ð❭❉❽✃✂➞s➼⑥➻❫➟⑥➥➙➨➫➡❜➬♥➻✖➡✈➜✂➝❭➪✘➥➫➨→➼①➜❫➬s➻⑥➚✜➬✈➜✂➝✭å♦✃✂➝✚➡❸➬♥➨→➻⑥➚✰❒➆➜✲➟❢➬✥➨➫➡➀➬♥➜▼➝❲➟⑩➦✂➦✂➞✈➻⑥➦✂➞✈➨→➟⑩➬♥➝
➝❭å④✃▼➨➫➤⑩➟⑥➥→➝❭➚❫➬➆➻⑥Ò➣➟✝➡➢➮✫➻④➻⑥➬♥➜✕➬✈➻①➞✈✃✂➡➆➨➫➚✜➟☎➦✂➨➫➝✚➩❭➝❭❒➆➨→➡➢➝❮❰➉➡✈➮☎➻✼➻⑥➬✈➜✕➡➢➧④➡➢➬✈➝✚➮✰Ð

❉❽✃✂➞❿➮✫➻⑥➬✈➨➫➤⑩➟⑩➬✈➨→➚✂➼✝➝✓é✂➟⑩➮✫➦✂➥➫➝✭➨→➡✥➟☎Ò➑➻①➞➢➩✚➝✚➪✰Ò➑➞✈➨➫➩❭➬♥➨➫➻①➚✜➻①➡✈➩❭➨→➥➫➥❆➟⑩➬✈➻①➞s➻①➚➏➟☎➺❚➝❭➥➫➬✚➳✂❒➆➜✂➨→➩❤➜✴❒➀➟⑥➡✥➡➢➬♥✃▼➪✂➨→➝❭➪
➝✓é✼➬✈➝✚➚✂➡➢➨➫➤⑥➝✚➥➫➧✏➨➫➚Ö➬✈➜✂➝☎➥→➨➫➬✈➝✚➞✈➟⑩➬♥✃✂➞➢➝✜➭➔➽⑥➳✾❪▼➳✪➽☛➴✼➳✪➽✯➷⑩➸✿Ð➄Û✮✃✂➝✖➬♥➻✰➪✂➨→➡➢➩✚➻①➚❫➬♥➨➫➚♦✃✂➨➫➬✈➨→➝✚➡❷➻⑩Ò➀➬♥➜▼➝☎Ò➑➞➢➨→➩❭➬✈➨→➻①➚➏Ò➑➻⑥➞✈➩✚➝
➬✈➜✂➝✘➮✫➟⑩➬✈➜✂➝✚➮✫➟⑩➬♥➨➫➩✯➟⑥➥➂➮✫➻④➪✂➝❭➥s➨→➡✖➻①➚✂➥➔➧ ➦✂➨→➝❭➩✚➝❮❒➆➨→➡✈➝✓❰❥➡➢➮✫➻④➻⑥➬♥➜❏ÐÚ➛s➜✂➝✘➡➢❒➆➨➫➬✈➩❤➜✂➨→➚▼➼➠➡➢✃✂➞➢Ò●➟⑥➩❭➝✴➨➫➡☎➪▼➝ Ô ➚✂➝❭➪
➺❫➧×➬✈➜✂➝✕➤①➝✚➥➫➻✼➩❭➨➫➬❥➧×➟⑩➬✝❒➆➜✂➨→➩❤➜ ➬♥➜▼➝✜Ò➑➞➢➨→➩❮➬♥➨→➻⑥➚ÕÒ➑➻①➞✈➩❭➝✜➩❤➜✲➟⑥➚✂➼①➝❭➡✫➡➢➨→➼①➚❏Ð×Ñ➉Ò✮➬✈➜✂➝➌Ò➑➞✈➨➫➩❭➬♥➨➫➻①➚×Ò➑➻①➞➢➩✚➝✜➻①➚ ➬♥➜✂➝
➡❸❒➆➨➫➬♥➩❤➜▼➨→➚✂➼✫➡✈✃✂➞❸Ò●➟⑥➩✚➝❼➩✚➟⑥➚➏➺✲➟⑩➥❆➟⑥➚✂➩❭➝➒➬✈➜✂➝✟➝✓é④➬♥➝✚➞➢➚✲➟⑥➥✡Ò➑➻①➞✈➩❭➝✚➡❽➟⑩➚✂➪✴➬♥➜▼➝✟➨→➚▼➝✚➞➢➬✈➨❆➟✖➻⑥Ò✪➬♥➜▼➝✟➮✫➟⑥➡✈➡❿➬♥➜✂➝❭➚✴➬♥➜✂➝
➺✂➥➫➻✼➩❤æÖ➡➢➬✈➨→➩❤æ♦➡✝➬♥➻➏➬✈➜✂➝✕➡✈✃✂➞❸Ò●➟⑥➩✚➝✪❫❜➬♥➜✂➨➫➡❼➨→➡✟➮➄➟⑩➬✈➜✂➝✚➮✫➟⑩➬✈➨→➩✯➟⑩➥→➥➫➧✴➬♥➜✂➝✕➡➢➥→➨→➪▼➨→➚✂➼➏➞➢➝✚➼①➨➫➻①➚➙Ð✘❉✮➬♥➜✂➝❭➞➢❒➆➨→➡➢➝➌➬♥➜✂➝
➺✂➥➫➻✼➩❤æ✜➮✫➟⑥➡✈➡✮➥→➝✯➟✯➤⑥➝✚➡✮➬✈➜✂➝✝➡➢➬✈➨→➩❤æ✰➦✂➜✲➟⑥➡➢➝✝➟⑥➚✂➪➍➡❸➬❤➟⑥➞❸➬♥➡✮➬✈➻➌➡✈➥➫➨→➦➙Ð❽Ø✥➚✏➟⑥➥➫➬✈➝✚➞➢➚✲➟⑩➬♥➨➫➚✂➼➄➡➢➝✚å♦✃✂➝❭➚✂➩✚➝✖➻⑥Ò✪➬✈➜✂➝✚➡➢➝
➦✂➜✂➟⑥➡✈➝❭➡s➨→➡❜➞➢➝❭Ò➑➝✚➞➢➞✈➝❭➪✜➬✈➻✖➟⑥➡❜➡❸➬♥➨→➩❤æ①❰➉➡✈➥→➨➫➦✕➮✫➻⑩➬♥➨→➻⑥➚➙➳❫❒➆➜✂➨→➩❤➜✜➩✯➟⑩➚✕➺❚➝❷➦➱➝✚➞➢➨→➻④➪✂➨→➩⑩➳✼å♦✃✲➟⑥➡➢➨➔❰➉➦❚➝❭➞✈➨→➻④➪✂➨➫➩✥➻①➞➀➝❭➤①➝❭➚
➩❤➜✲➟⑩➻⑥➬♥➨➫➩✘➟⑩➡☎❒➂➝✘❒➆➨➫➥→➥❜➡➢➝✚➝✴➥→➟⑩➬♥➝❭➞✚Ð❐➛s➜✂➝✴➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡☎➻⑥Ò❽➡❸➬♥➨→➩❤æ①❰➉➡✈➥→➨➫➦❐➮☎➻⑥➬✈➨→➻①➚ ➩✚➟⑥➚ ➺➱➝✴➟⑥➚✂➟⑥➥➫➧❴❲✚➝❭➪❐➺❫➧
➪✂➨➔Ó❏➝❭➞✈➝❭➚♦➬➂➬♥➝❭➩❤➜✂➚✂➨→å♦✃✂➝❭➡❜➨→➚▼➩✚➥→✃▼➪✂➨→➚✂➼❛❵✱❜✴❝❢Þ✒❞❢❡❣❝✭❵✲Þ✖➭r➽✒❪❢➸➇➳❤❞✭✐❄❞❮â✱❥❦❡❣❝✭❵✲Þ✝➭r➽☛➵☛➸❏➟⑥➚✂➪➍á⑥à→Þ✒❧✥♠❢â✱❥➇à➋â✱♥④à♦❥q♣❱❡❣❝✭❵✲Þ
➭➘➾⑩➸➇Ð➌Ñ❥➚➠➬✈➜✂➨→➡➒➦✲➟⑥➦➱➝✚➞✭❒➀➝☎➬❤➟⑥æ⑩➝☎➬✈➜✂➝➄➥→➟⑩➬✈➬✈➝✚➞✭➟⑥➦▼➦✂➞✈➻❫➟⑩➩❤➜➙Ð➌èÕ➝✫➩✚➻①➚▼➡➢➬♥➞➢✃✂➩❭➬❼➟✰➥➫➻✼➩✚➟⑥➥✪➦✂➨➫➝✚➩✚➝❮❒➆➨→➡➢➝❮❰❥➥➫➨→➚✂➝✚➟⑥➞
ê✡➻①➨→➚✂➩✚➟⑥➞✈ës➮✫➟⑥➦☎➟⑥➚✂➪☎➪✂➝❮➤✼➨➫➡✈➝✥➟❽➬♥➜✂➞➢➝✚➝❮❰➉➦✲➟⑥➞✈➟⑥➮✫➝❮➬♥➝❭➞✪➚✂➻①➞✈➮✫➟⑥➥▼Ò➑➻⑥➞✈➮✰➳①➬♥➜✲➟⑩➬✸➩✚➟⑥➚☎➺❚➝➆✃✂➡➢➝✚➪✫➬✈➻✭➡➢➬♥✃▼➪▼➧✝➬♥➜✂➝
➦✂➜▼➝✚➚✂➻①➮☎➝✚➚▼➻①➚➄➨➫➚➄➼①➞➢➝✯➟⑩➬✈➝✚➞❉➪✂➝❭➬♥➟⑥➨→➥➇Ð■è➠➝✥➡➢➜✂➻❋❒P➬♥➜✲➟⑩➬❉Ò➑➻①➞❉➩✚➝❭➞➢➬❤➟⑩➨→➚➄➦✂➟⑥➞♥➟⑥➮☎➝❭➬✈➝✚➞✪➤⑩➟⑥➥→✃▼➝✚➡✸➬♥➜✂➝✮➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞
➞➢➝✚➡✈➨➫➪✂➝✚➡❿➻①➚✴➟⑥➚✘➨➫➚❫➤⑥➟⑩➞✈➨❆➟⑩➚♦➬➆➦➱➻①➥➔➧✼➼⑥➻①➚➙➳✂❒➆➜✂➨➫➩❤➜✴➜✲➟⑥➡❿➪✂➨➔Ó❏➝❭➞✈➝✚➚❫➬✥➚♦✃✂➮❼➺➱➝✚➞❿➻⑥Ò➣➡➢➨→➪✂➝❭➡✮➪✂➝❭➦❚➝❭➚✂➪✂➨→➚▼➼✫➻①➚✰➬♥➜✂➝
➦✲➟⑩➞♥➟⑥➮☎➝❭➬✈➝✚➞✈➡❭Ðsr✲➻①➞➆➟✝➦✲➟⑥➞➢➬✈➨→➩❭✃✂➥❆➟⑥➞➀➡✈➝❭➬❿➻⑥Ò■➦✲➟⑥➞✈➟⑥➮☎➝❭➬♥➝❭➞❜➤⑩➟⑥➥→✃✂➝❭➡❜❒➀➝❲➟⑥➥➫➡✈➻✝➡✈➜▼➻☛❒ ➜✂➻❋❒ ➩❤➜✲➟⑥➻⑩➬♥➨→➩❷➮☎➻⑥➬✈➨→➻①➚
➪✂➝❮➤①➝❭➥→➻①➦✂➡➆➨➫➚✜➬✈➜✂➝✭➡➢➧④➡➢➬✈➝✚➮✰Ð

Ñ❥➚✘➭ù➴✼➽❭➸✲➦❚➝❭➞✈➨➫➻✼➪✂➨➫➩❜➻①➞➢➺✂➨➫➬✈➡✪➨→➚✖➪✂➝✚➥→➟✯➧①➝✚➪✫➞✈➝❭➥❆➟✯➧❼➡❸➧✼➡❸➬♥➝❭➮✫➡➂➟⑥➞✈➝➆➡❸➬♥✃✂➪✂➨➫➝✚➪➙➳❫❒➆➜✂➝❭➞✈➝➆➬♥➜✂➝➆➦➱➝✚➞➢➨→➻④➪✝➨→➡✪➩✚➥➫➻①➡✈➝

➴



r✣➨➫➼①✃✂➞✈➝✟➽✌t✪Ø Ò➑➻①➞✈➩❭➝✚➪✰➥→➨→➚▼➝✯➟⑥➞❜➻⑥➡✈➩✚➨➫➥→➥→➟⑩➬♥➻①➞❉➻①➚✘➟✝➺❚➝❭➥➫➬s❒➆➨➫➬✈➜✕Ò➑➞✈➨→➩❮➬♥➨➫➻①➚➙Ð

➬✈➻✜➬✈➜✂➝☎➪✂➝✚➥→➟❋➧⑥Ð✫Ñ❥➚Ö➬♥➜✂➨➫➡❷➩✯➟⑥➡➢➝☎➬✈➜✂➝☎➥→➻④➩✯➟⑥➥✪ê✡➻①➨→➚▼➩✯➟⑥➞➢ë☎➮✫➟⑥➦✏➜✲➟⑥➡➒➪✂➨➔Ó❏➝❭➞✈➝✚➚❫➬➒➪✂➨➫➮✫➝❭➚✂➡✈➨➫➻①➚✂➡❷➪✂➝❭➦❚➝❭➚✂➪✂➨→➚▼➼
➻①➚✴➜✂➻❋❒ ➮✫➟⑥➚❫➧✜➬♥➨→➮☎➝✚➡✮➟✫➬♥➞✈➟☛Ü➢➝✚➩❮➬♥➻①➞❸➧➏➩❭➞✈➻①➡➢➡✈➝✚➡❽➬✈➜✂➝❼➡❸❒➆➨➫➬♥➩❤➜▼➨→➚✂➼✕➡➢✃✂➞➢Ò●➟⑥➩❭➝❼➪✂✃✂➞➢➨→➚✂➼➌➟➌➪✂➝✚➥→➟❋➧✘➨→➚❫➬✈➝✚➞➢➤⑩➟⑥➥➇Ð
➛s➜✂➝❭➞✈➝❮Ò➑➻①➞✈➝⑩➳✥➬♥➜▼➝➍➼①➥→➻①➺✂➟⑥➥✮ê✡➻①➨→➚▼➩✯➟⑥➞➢ë➏➮➄➟⑩➦P➨→➚✂➩❭➥→✃✂➪✂➝❭➡➌➦✂➞➢➻❢Ü➢➝✚➩❮➬♥➨→➻⑥➚✂➡➌➬♥➜✲➟❢➬✕➩✯➟⑥✃▼➡✈➝✚➡✕➬✈➜✂➝➍➡♥➟⑥➮☎➝✴➬❥➧④➦➱➝
➻⑥Ò✥➦✂➜✂➝❭➚✂➻①➮☎➝✚➚✲➟Ö➟⑥➡✖➡✈➥➫➨→➪✂➨➫➚✂➼➍➨→➚ ➦✂➨➫➝✚➩❭➝❭❒➆➨→➡➢➝❮❰➉➡✈➮☎➻✼➻⑥➬✈➜❐➻⑥➞✈➪✂➨➫➚✲➟⑥➞➢➧Õ➪✂➨➫Ó❚➝✚➞➢➝✚➚❫➬♥➨→➟⑥➥❜➝❭å④✃✂➟⑩➬♥➨➫➻①➚✂➡☎➟⑥➚✂➪ ➬♥➜✂➝
➟⑥➦▼➦❚➝✚➟⑥➞♥➟⑥➚▼➩✚➝✖➻⑥Ò➂➨→➚❫➤⑩➟⑥➞✈➨→➟⑥➚❫➬✭➦❚➻①➥➔➧④➼①➻①➚✂➡❭Ð✝Ñ❥➚♦➤⑩➟⑥➞➢➨❆➟⑥➚❫➬➒➦➱➻①➥➫➧④➼①➻①➚▼➡❷➩✯➟⑥➚➠➟⑥➥→➡➢➻✰➟⑥➞✈➨➫➡✈➝✖➨→➚✏➻⑥➬✈➜✂➝✚➞❷➬❥➧④➦❚➝❭➡❲➻⑩Ò
➦✂➨➫➝✚➩❭➝❭❒➆➨→➡➢➝❮❰➉➡✈➮☎➻✼➻⑥➬✈➜➠➡❸➧④➡➢➬♥➝❭➮✫➡❭➳✪➝⑥Ð➘➼✂Ð➔➳➣➨→➚Ö➬♥➜✂➝✫➮➄➟⑥➩❭➞✈➻④➝✚➩❭➻①➚✂➻①➮☎➨→➩❭➡➒➮☎➻④➪✂➝✚➥✸➻⑥Ò✭➭➲➴①➴❋➸✿➳➣➻⑥➞❲➨➫➚×➟✘➚▼➻①➞✈➮✫➟⑥➥
Ò➑➻①➞➢➮ ➪✂➝❭➞➢➤④➨→➝❭➪✴➟❢➬❿➟✖➩❭➻①➞✈➚▼➝✚➞➆➩✚➻①➥➫➥→➨➫➡✈➨→➻⑥➚➌➺✂➨➫Ò➑✃▼➞✈➩✯➟❢➬♥➨→➻⑥➚✏➭ù➴⑥➾☛➸✛➪✂✃✂➝❷➬♥➻✖➪✂➨➔Ó❏➝❭➞✈➝❭➚♦➬❿➮☎➝✚➩❤➜✲➟⑩➚✂➨→➡➢➮✫➡❭Ð

➛s➜✂➝✏➦✲➟⑥➦➱➝✚➞➄➨→➡✕➻①➞➢➼❫➟⑥➚✂➨✟❲✚➝✚➪ ➟⑩➡➌Ò➑➻①➥→➥➫➻☛❒➆➡❭Ð Ñ❥➚ ➬✈➜✂➝➍➚✂➝✓é✼➬✰➡➢➝✚➩❭➬✈➨→➻①➚P❒➂➝➍➪✂➝✚➡➢➩✚➞➢➨→➺➱➝Ö➻⑥✃✂➞➄Ò➑➞✈➨➫➩❭➬✈➨→➻①➚
➻①➡➢➩✚➨➫➥→➥❆➟❢➬♥➻①➞✸➟⑥➚▼➪➄➻①➺▼➬♥➟⑥➨→➚➄➟✟ê✡➻①➨→➚✂➩✚➟⑥➞✈ë✥➮➄➟⑩➦✫❒➆➨➫➬✈➜✫➬✈➜✂➝❽➜✂➝❭➥→➦➄➻⑩Ò➙➬♥➜✂➝✮➪✂➨→➡➢➩✚➻①➚❫➬♥➨➫➚♦✃✂➨➫➬❥➧✖➮✫➟⑥➦✫➬✈➝✚➩❤➜✂➚▼➨→å♦✃✂➝⑥Ð
Ñ❥➚☎➡✈➝❭➩❭➬♥➨➫➻①➚✫➹▼➳①❒➀➝❿➨→➚❫➬✈➞✈➻④➪✂✃✂➩✚➝❿➟❷➬♥➜✂➞➢➝✚➝✓❰❥➦✲➟⑥➞✈➟⑥➮☎➝❭➬♥➝❭➞✪➚✂➻①➞➢➮➄➟⑥➥✼Ò➑➻①➞✈➮ ➮✫➟⑥➦➙➳♦➟⑩➚✂➪✫➡➢➜✂➻❋❒ ➬♥➜✂➟⑩➬✸➨➫➬✸➜✲➟⑩➡➂➟⑩➚
➨➫➚♦➤⑩➟⑥➞➢➨❆➟⑥➚❫➬❷➦➱➻①➥➔➧✼➼⑥➻①➚✼❰❥➡➢➜✲➟⑥➦➱➝✚➪Ö➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞✚Ð✝èÕ➝✖➩✚➟⑥➥→➩❭✃✂➥❆➟⑩➬✈➝❼➬♥➜✂➝✖➚♦✃✂➮❼➺➱➝✚➞➒➻⑥Ò➂➡✈➨➫➪✂➝✚➡➒➻⑥Ò❉➬♥➜✂➝✖➦➱➻①➥➫➧④➼①➻①➚
➟⑥➚▼➡■➨➫➚♦➤⑥➝✚➡❸➬♥➨→➼①➟⑩➬♥➝✸➜✂➻❋❒ ➨➫➬✡➪✂➝❭➦❚➝❭➚✂➪✂➡■➻①➚❲➬✈➜✂➝➂➦✂➟⑥➞♥➟⑥➮☎➝❭➬✈➝✚➞➢➡✚Ð✛èÕ➝➂➟⑥➥→➡➢➻✥➪▼➝✚➮☎➻①➚✂➡➢➬✈➞♥➟⑩➬✈➝❉➬✈➜✂➝❉➩✚➻①➮☎➦✂➥→➨➫➩✯➟⑩➬✈➝✚➪
➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡✥➬✈➜✲➟⑩➬✮➩✯➟⑥➚➏➻④➩✚➩❭✃✂➞❽➻①➚✘➬♥➜✂➝✝➟❢➬✈➬♥➞✈➟⑥➩❭➬✈➻①➞✚Ð✥Ñ❥➚➍➡✈➝❭➩❭➬♥➨➫➻①➚➏➷➄❒➂➝❼➡➢✃✂➮✫➮✫➟⑥➞➢➨✍❲✚➝➒➻①✃✂➞✮➞✈➝✚➡➢✃✂➥➫➬✈➡❽➟⑥➚▼➪
➪✂➨➫➡✈➩❭✃✂➡✈➡sÒ➑✃▼➬✈✃✂➞✈➝✭➪✂➨➫➞✈➝✚➩❮➬♥➨➫➻①➚✂➡s➻⑥Ò■➞✈➝❭➡✈➝✯➟⑩➞✈➩❤➜➙Ð

✉ ✈①✇③②⑤④✳▲◆❯⑥❙❚❏✾❯⑥▼⑦❍ ▼❱⑧✾❙⑨❯✭⑩✭⑩★❶❛❏✾▼❷▲

è➠➝✟➩❭➻①➚✂➡✈➨➫➪✂➝✚➞❽➟➄➻①➚✂➝✓❰❥➪✂➝❭➼①➞✈➝❭➝❮❰❥➻⑩Ò❆❰➉Ò➑➞✈➝❭➝✚➪✂➻⑥➮ ➻⑥➡✈➩✚➨➫➥→➥→➟⑩➬♥➻①➞❷❩➑➡✈➝❭➝❸r✣➨→➼✂Ð✺➽✒❬➆❒➆➨➫➬✈➜➏➺✂➥➫➻✼➩❤æ✜➮✫➟⑥➡✈➡
m
➳➙➡✈➦✂➞➢➨→➚✂➼

s
➟⑥➚✂➪✰➪✲➟⑥➮☎➦❚➝❭➞

c
Ð❉➛s➜✂➝✭➺✂➥➫➻✼➩❤æ➌➮✫➟⑥➡➢➡❿➨➫➡s➡✈➥➫➨→➪✂➨➫➚✂➼✝➻①➚✘➟✖➮☎➻❋➤④➨→➚✂➼✖➺➱➝✚➥➫➬❿➟⑩➚✂➪✘➨➫➡❜Ò➑➻①➞✈➩❭➝✚➪✜➬♥➜✂➞➢➻①✃✂➼①➜✜➬♥➜▼➝

➡➢➦✂➞✈➨➫➚✂➼✂Ð✣è➠➝➒➟⑥➡✈➡➢✃✂➮✫➝❽➬✈➜✲➟⑩➬❜➬✈➜✂➝✚➞➢➝✭➨→➡➀Ò➑➞➢➨→➩❭➬✈➨→➻①➚➄➺❚➝❮➬❥❒➀➝❭➝✚➚✜➬♥➜✂➝✭➮✫➟⑥➡✈➡s➟⑩➚✂➪✕➬♥➜✂➝❷➺➱➝✚➥➔➬✯➳✼❒➆➜▼➨→➩❤➜✰➨→➚✂➪✂✃▼➩✚➝✚➡
➟❼Ò➑➞✈➨➫➩❭➬✈➨→➻①➚➄Ò➑➻⑥➞✈➩✚➝❷❒➆➨➔➬♥➜✰➟✝➪✂➝✚➩❭➞✈➝✯➟⑩➡✈➨→➚▼➼✫➡➢➥→➻①➦➱➝❷➚✂➝✯➟⑩➞❹❲❭➝✚➞➢➻✫➞➢➝✚➥❆➟❢➬♥➨➫➤⑥➝❽➤①➝❭➥→➻④➩✚➨➫➬❥➧⑥Ð✪Ø✥Ò➋➬✈➝✚➞s➞✈➝❭➡✈➩✚➟⑥➥→➨➫➚✂➼✝➬♥➨→➮☎➝
➺❫➧➌➬✈➜✂➝✭➚✲➟⑩➬♥✃▼➞♥➟⑥➥❏Ò➑➞➢➝✚å♦✃✂➝❭➚✂➩❭➧✜➻⑥Ò✡➬♥➜▼➝➒➻⑥➡✈➩✚➨➫➥→➥→➟⑩➬♥➻①➞❭➳❫➬♥➜✂➝✭➝✚å♦✃✲➟❢➬♥➨→➻⑥➚✰➻⑩Ò✣➮☎➻⑥➬♥➨➫➻①➚➄Ò➑➻①➞❜➬✈➜✂➝✭➪✂➨→➡➢➦✂➥❆➟⑩➩✚➝✚➮☎➝✚➚❫➬
x
➞✈➝✯➟⑩➪✂➡

ẍ + 2ζẋ + x = sgn(v0 − ẋ)Fs − κ(v0 − ẋ) + u0 cos ωt,
❩❸➽✄❬

❒➆➜✂➝❭➞✈➝
ζ
➨➫➡s➬♥➜✂➝✭➞✈➝❭➥❆➟⑩➬✈➨➫➤⑥➝❷➪✲➟⑥➮☎➦✂➨→➚✂➼▼➳

Fs

➨➫➡❜➬♥➜✂➝✭➮✫➟❢é✼➨→➮✫➟⑥➥❏➡❸➬♥➝✚➟⑥➪▼➧✕Ò➑➞✈➨➫➩❭➬✈➨→➻①➚➄Ò➑➻⑥➞✈➩✚➝⑩➳
κ
➨→➡s➬✈➜✂➝✭➡✈➥→➻⑥➦❚➝

➻⑥Ò➂➬♥➜✂➝✖Ò➑➞✈➨➫➩❭➬✈➨→➻①➚➍Ò➑➻①➞➢➩✚➝⑥➳
v0

➨→➡❷➬♥➜▼➝➄➡✈➦➱➝✚➝❭➪×➻⑥Ò➂➬♥➜✂➝☎➺❚➝❭➥➫➬✚➳
u0

➨➫➡❷➬♥➜✂➝✖Ò➑➻①➞✈➩❭➨→➚✂➼✘➟⑥➮☎➦✂➥→➨➔➬♥✃✂➪▼➝✖➟⑥➚✂➪
ω
➨→➡

➬✈➜✂➝❷Ò➑➻①➞✈➩❭➨→➚✂➼❺❩➇➟⑥➚▼➼①✃✂➥❆➟⑩➞✥❬➂Ò➑➞✈➝❭å♦✃✂➝✚➚✂➩❮➧①Ðs➛s➜✂➝✭➬♥➞➢➨➫➤④➨❆➟⑩➥➙➦❚➝❭➞✈➨➫➻✼➪✂➨➫➩❽➻①➞➢➺✂➨➫➬❿➻⑥Ò■➬♥➜✂➝✭➡➢➧④➡❸➬♥➝✚➮ ➨→➡❿➟✖➜✲➟⑥➞➢➮✫➻①➚▼➨→➩
➤④➨→➺▼➞♥➟⑩➬✈➨→➻①➚➙➳④❒➆➜✂➨→➩❤➜✘➩✯➟⑥➚✰➺➱➝➒➻⑥➺▼➬❤➟⑥➨➫➚✂➝✚➪✜➺❫➧✜➡✈✃▼➺✂➡➢➬✈➨➫➬♥✃✼➬♥➨→➚▼➼✖➬✈➜✂➝❲➟⑥➚✂➡♥➟❢➬✯❲

a + b sin ωt + c cos ωt
➨→➚❫➬♥➻

❩♠➽✄❬❉➟⑩➚✂➪✕➡✈➻①➥➔➤④➨→➚✂➼✭Ò➑➻①➞
a
➳
b
➟⑩➚✂➪

c
Ð➣➛s➜✂➨→➡➀➦❚➝❭➞✈➨→➻④➪✂➨➫➩❿➻⑥➞✈➺✂➨➔➬➀➨➫➡➀✃✂➚✂➡❸➬❤➟⑥➺▼➥→➝✮➨➔Ò➙➬♥➜▼➝✮➡✈➥➫➻①➦➱➝✮➻⑥Ò✺➬✈➜✂➝✥Ò➑➞➢➨→➩❭➬✈➨→➻①➚

Ò➑➻①➞➢➩✚➝✭➡♥➟❢➬♥➨→➡ Ô ➝✚➡
κ > 2ζ

Ð❭❉❽✃✂➞➆➡➢➧④➡➢➬✈➝✚➮✙➨→➡s➦✂➨➫➝✚➩❭➝❭❒➆➨→➡➢➝❮❰➉➥→➨→➚▼➝✯➟⑥➞❭➳✂➺✂✃▼➬❿➥→➨➫➚✂➝✯➟⑩➞✈➨➫➬❥➧✫➨→➡s➚▼➻⑥➬❿➚✂➝✚➩❭➝✚➡✈➡✈➟⑥➞➢➧✜Ò➑➻⑥➞
➬✈➜✂➝✟➼①➝❭➚✂➝✚➞✈➟⑥➥✛➞✈➝❭➡✈✃✂➥➔➬♥➡✮➻⑩Ò➣➬♥➜✂➨➫➡✥➦✂➟⑥➦❚➝❭➞✚Ð❹r✲➻①➞➆Ò➑✃✂➞➢➬✈➜✂➝✚➞✥➞✈➝❭Ò➑➝❭➞✈➝❭➚✂➩✚➝✟❒➂➝✟✃▼➡✈➝

y = (x, ẋ)T ➟⑥➚✂➪✴➞➢➝❭❒➆➞➢➨➫➬♥➝

➹



➬✈➜✂➝✭➡➢➧④➡➢➬✈➝✚➮ ➨→➚❫➬✈➻ Ô ➞✈➡➢➬❸❰❥➻①➞➢➪✂➝✚➞sÒ➑➻①➞➢➮

ẏ =

{

Ay + b1(t)
➨➫Ò

ẋ < v0,
Ay + b2(t)

➨➫Ò
ẋ > v0,

❩✿➴✌❬

❒➆➜✂➝❭➞✈➝
A =

(

0 1
−1 κ − 2ζ

)

,

➟⑥➚▼➪
b1(t) =

(

0
Fs − κv0 + u0 cos ωt

)

, b2(t) = b1(t) −
(

0
2F s

)

.

➛s➜✂➝➏➡❸❒➆➨➫➬✈➩❤➜✂➨→➚✂➼ ➥➫➨→➚✂➝✰➨→➚Ï➬♥➜✂➨➫➡➄➡❸➧✼➡❸➬♥➝❭➮ ➨→➡✫➪✂➝ Ô ➚▼➝✚➪P➺❫➧
ẋ = v0

Ð❻❉❽✃✂➞➄➼⑥➻❫➟⑥➥❿➨→➡✫➬✈➻×➩❤➜✲➟⑥➞✈➟⑥➩❮❰
➬✈➝✚➞✈➨✟❲✚➝➌➬✈➜✂➝✘➪✼➧✼➚✂➟⑥➮✫➨➫➩✚➡✝➩❭➥→➻①➡➢➝✜➬✈➻➍➬♥➜✂➝✜➦➱➝✚➞✈➨➫➻✼➪▼➨→➩➌➻①➞➢➺✂➨➫➬☎➟⑩➚✂➪Ï➬✈➜✂➝✜➡➢❒➆➨➔➬♥➩❤➜✂➨➫➚✂➼➠➮✫➟⑥➚✂➨➔Ò➑➻①➥→➪❏ÐÕ➛✡➻Ö➬✈➜✂➨→➡
➝❭➚✂➪Õ❒➂➝➄➩✚➻⑥➚✂➡➢➬✈➞✈✃✂➩❮➬✝➟✘➥➫➻✼➩✚➟⑥➥✸ê■➻⑥➨→➚✂➩✚➟⑥➞✈ë☎➮➄➟⑩➦➠➬♥➜✂➟⑩➬❲➬♥➟⑥æ⑥➝❭➡❲➬✈➜✂➝➄➪✂➨➫➡✈➩❭➻①➚❫➬♥➨→➚♦✃✂➨➔➬❥➧✏➪✂✃✂➝☎➬♥➻✴➡❸❒➆➨➫➬✈➩❤➜✂➨→➚✂➼
➨➫➚♦➬✈➻✴➟⑩➩✚➩✚➻⑥✃✂➚❫➬✯Ð✕Ñ❥➚Õ➻⑥➞✈➪✂➝❭➞➒➬✈➻✘➩❭➻①➚✂➡➢➬✈➞✈✃✂➩❮➬✟➬✈➜✂➝➄➥➫➻✼➩✚➟⑥➥➣➦✂➨➫➝✚➩✚➝❮❒➆➨→➡➢➝❮❰❥➥➫➨→➚✂➝✚➟⑥➞✭ê■➻⑥➨→➚✂➩✚➟⑥➞✈ë☎➮➄➟⑩➦Ö❒➂➝➄➮✫➟⑥æ⑥➝
➻①✃▼➞❽➡➢➧④➡➢➬✈➝✚➮ ➟⑥✃✼➬♥➻①➚✂➻⑥➮✫➻①✃▼➡❽➺❫➧➍➝❮é④➬♥➝❭➚✂➪✂➨➫➚✂➼✜➨➫➬❷➨➫➚♦➬✈➻➌➬♥➜✂➞➢➝✚➝✝➪✂➨➫➮✫➝❭➚✂➡✈➨➫➻①➚✂➡❸❩

R
2 × S

❬✥❒➆➨➔➬♥➜➏➬♥➜▼➝✝➚✂➝❭❒
➩❭➻✼➻①➞➢➪✂➨→➚✂➟⑩➬♥➝❭➡

x = (x1, x2, x3)
T = (x, ẋ, t)T .

➛s➜✂➝✭➡❸❒➆➨➫➬♥➩❤➜▼➨→➚✂➼✖➡✈✃▼➞➢Ò●➟⑥➩❭➝❲➨➫➡s➚✂➻❋❒ ➪✂➝ Ô ➚✂➝✚➪✴➟⑥➡

Σ = {x ∈ R
2 × S : h(x) = 0},

❒➆➨➔➬♥➜
h(x) = ẋ − v0

➟⑥➚✂➪✜➪✂➨➔➤④➨→➪✂➝❭➡❜➬♥➜✂➝✭➪▼➧④➚✲➟⑥➮☎➨→➩❭➡➆➨→➚❫➬♥➻❼➬❥❒➂➻➄➦✲➟⑩➞➢➬♥➡s➡➢✃✂➩❤➜✘➬✈➜✲➟⑩➬

ẋ =



































f1(x) :=





A

(

x1

x2

)

+ b1(t)

1



 if h(x) < 0,

f2(x) :=





A

(

x1

x2

)

+ b2(t)

1



 if h(x) > 0.

❩➇➹❼❬

❽✪å♦✃✲➟⑩➬✈➨→➻①➚❾❩➇➹❼❬❼➪✂➝ Ô ➚✂➝❭➡➌➟❿r✣➨→➥➫➨→➦✂➦➱➻❋➤Õ➡❸➧✼➡❸➬♥➝❭➮ ➭➘ä⑩➸s➬♥➜✂➟⑩➬☎➩✯➟⑥➚❐➝❮é✼➜✂➨→➺▼➨➫➬☎➡✈➥➫➨→➪✂➨➫➚✂➼➍➮✫➻⑩➬♥➨→➻⑥➚❐➟⑩➥→➻①➚✂➼
Σ
Ð

Øs➩❭➩✚➻①➞➢➪✂➨→➚✂➼✭➬♥➻⑦r✣➨➫➥→➨→➦▼➦❚➻❋➤➁➀➲➡✣➪✂➝ Ô ➚▼➨➫➬♥➨➫➻①➚➙➳①➬✈➜✂➝s➤①➝✚➩❮➬♥➻①➞ Ô ➝✚➥➫➪☎➬✈➜✲➟⑩➬✸➪✂➝❭➡✈➩❭➞✈➨→➺➱➝✚➡❉➬♥➜✂➝➆➡➢➥→➨→➪▼➨→➚✂➼❷➨➫➡❉➻⑥➺▼➬❤➟⑥➨➫➚✂➝✚➪
➟⑥➡

ẋ = fsl := (1 − λ)f1(x) + λf2(x),
❒➆➜✂➝❭➞✈➝

0 ≤ λ ≤ 1
➨→➡✡➡✈✃▼➩❤➜❼➬♥➜✲➟⑩➬✡➬♥➜▼➝➀➪✂➻⑥➬✣➦✂➞✈➻④➪✂✃✂➩❮➬ ∇h(x)·((1−λ)f1(x)+λf2(x)) = 0

Ð■Ñ➉Ò✲➬✈➜✂➝✚➞➢➝
➨➫➡❜➚✂➻✝➡✈✃▼➩❤➜

λ
➟❢➬➆➟❼➦❚➻⑥➨→➚❫➬s➨→➚

Σ
➳✼➬♥➜✂➝❭➚✜➬✈➜✂➝❷➩✚➻⑥➞✈➞✈➝❭➡✈➦➱➻①➚✂➪✂➨➫➚✂➼✝➬♥➞✈➟☛Ü➢➝✚➩❮➬♥➻①➞❸➧➌➩❭➞✈➻①➡➢➡✈➝✚➡

Σ
➬♥➞✈➟⑥➚✂➡➢➤⑥➝✚➞➢➡♥➟⑥➥➫➥➫➧①Ð

r✲➻①➞❜➻⑥✃✂➞➆➡➢➧④➡➢➬✈➝✚➮➂❩➇➹✌❬➂❒➀➝➒➩✯➟⑥➚✰➡✈➻⑥➥➫➤①➝❷➬✈➜✂➝➒➟⑥➺❚➻❋➤⑥➝➒➝❭å♦✃✲➟⑩➬♥➨➫➻①➚✜➝❮é✼➦✂➥➫➨→➩✚➨➔➬♥➥➔➧➌➟⑥➚▼➪✰➻⑥➺▼➬❤➟⑥➨➫➚

λ(x) =
Fs + u0 cos ωx3 − x1 − 2v0ζ

2Fs

.

❇❿➻⑥➬♥➝➌➬✈➜✲➟⑩➬❼➬✈➜✂➝✜➡✈➥→➨➫➪✂➨→➚▼➼✴➤①➝❭➩❭➬♥➻⑥➞ Ô ➝✚➥→➪
fsl = (v0, 0, 1)T ➨➫➡❼➩✚➻①➚▼➡➢➬❤➟⑩➚♦➬✚➳❉❒➆➜▼➨→➩❤➜❐➟⑥➼①➞✈➝❭➝✚➡❼❒➆➨➔➬♥➜ ➬♥➜✂➝

➦✂➜❫➧④➡✈➨➫➩✚➡⑥t✸❒➆➜▼➝✚➚✕➬♥➜✂➝✮➮➄➟⑥➡➢➡❜➡➢➬✈➨→➩❤æ♦➡❜➬♥➻❼➬✈➜✂➝❽➺➱➝✚➥➔➬✯➳▼➨➔➬❜➮☎➻❋➤①➝✚➡❜❒➆➨➔➬♥➜➄➬✈➜✂➝❷➡♥➟⑩➮✫➝❽➩❭➻①➚✂➡❸➬❤➟⑥➚❫➬s➡➢➦❚➝❭➝✚➪
v0

➟⑥➡
➷



r✣➨➫➼①✃✂➞➢➝☎➴❆t✝ç✼➩❤➜▼➝✚➮✫➟⑩➬♥➨➫➩☎➻⑩Ò➀➬♥➜▼➝➄➦✂➜✲➟⑩➡✈➝☎➡✈➦✲➟⑥➩❭➝➄➻⑥Ò❛❩➇➹❼❬✓Ð➌➛s➜✂➝☎➡✈➥➫➨→➪✂➨➫➚✂➼✜➞✈➝✚➼⑥➨→➻①➚Ö➨→➡✭➡✈➜▼➻☛❒➆➚Õ➨→➚Ö➼①➞✈➝❭➝✚➚➙Ð
Ø ➬❥➧④➦✂➨→➩✚➟⑥➥❜➬♥➞✈➟☛Ü➢➝✚➩❮➬♥➻①➞❸➧×❒➆➨➫➬✈➜Ú➟➍➡➢➥→➨→➪▼➨→➚✂➼➍➡➢➝✚➼①➮☎➝✚➚❫➬➃❩●➞✈➝❭➪❅❬❼➨→➡✝➡➢➜✂➻❋❒➆➚P➟⑥➡☎➟⑥➚Ï➝❮é▼➟⑥➮☎➦✂➥→➝⑩Ð è ➜▼➝✚➚ ➟
➬✈➞♥➟☛Ü➢➝❭➩❭➬♥➻⑥➞➢➧✕➜✂➨➔➬♥➡

Σ
➨→➚✜➺❚➝❮➬❥❒➀➝❭➝✚➚ L−

➟⑩➚✂➪ L−
➨➫➬➆➡➢➬♥➟⑥➞➢➬✈➡➆➡✈➥→➨➫➪✂➨→➚▼➼❼✃✂➚❫➬♥➨➫➥✺➨➫➬s➞➢➝✯➟⑥➩❤➜✂➝❭➡ L+ Ð

➬✈➜✂➝✝➺❚➝❭➥➫➬✚Ð➒➛s➜▼➝☎➺➱➻①✃✂➚▼➪✲➟⑥➞➢➧✴➻⑥Ò✸➬♥➜✂➝✝➡➢➥→➨➫➪✂➨→➚✂➼✫➞✈➝❭➼①➨→➻①➚➍➨➫➡✮Ò➑➻①➞➢➮✫➝❭➪➍➺♦➧✘➬♥➜✂➝❼➬❥❒➂➻✜➩✚✃✂➞❸➤①➝❭➡ L− = {x ∈
Σ : λ(x) = 1} ➟⑥➚▼➪ L+ = {x ∈ Σ : λ(x) = 0} ➳➣❒➆➜✂➝✚➞➢➝✰➝❭➨➫➬✈➜✂➝✚➞ f2

➻①➞
f1
➨➫➡✟➬❤➟⑥➚▼➼①➝✚➚❫➬✝➬♥➻

Σ
Ð➏Ø✧➡✈➩❤➜✂➝❭➮➄➟❢➬♥➨→➩➄➨→➥→➥➫✃✂➡➢➬✈➞♥➟⑩➬✈➨→➻①➚✏➻⑥Òs➬✈➜✂➝➄➦▼➜✲➟⑥➡✈➝✕➡➢➦✲➟⑥➩❭➝➄❒➆➨➫➬✈➜ ➟✘➬❥➧④➦✂➨→➩✚➟⑥➥➂➬✈➞♥➟☛Ü➢➝❭➩❭➬✈➻①➞➢➧➠➨→➡➒➡✈➜✂➻❋❒➆➚ ➨→➚

r✣➨➫➼✂Ð▼➴✼Ð✣è ➜✂➝❭➚✰➬✈➜✂➝✮➬♥➞✈➟☛Ü➢➝✚➩❮➬♥➻①➞❸➧➌➞➢➝✯➟⑥➩❤➜✂➝❭➡
Σ
➨➫➚➌➬♥➜✂➝❽➡➢➥→➨➫➪✂➨→➚✂➼❲➞✈➝❭➼①➨→➻①➚✜➟❼➚▼➻①➚✼❰❥➪▼➨➫Ó❚➝✚➞✈➝❭➚❫➬♥➨❆➟⑩➺✂➥→➝❿➩❤➜✲➟⑥➚✂➼⑥➝

➻⑥Ò❚➮☎➻⑥➬♥➨➫➻①➚❼➬❤➟⑥æ⑩➝✚➡➂➦✂➥❆➟⑥➩❭➝❿➟⑥➚✂➪✖➬♥➜✂➝s➬♥➞✈➟☛Ü➢➝✚➩❮➬♥➻①➞❸➧✖➡➢➬♥➟⑥➞➢➬✈➡✸➬✈➻❲➡➢➥→➨➫➪✂➝s✃✂➚❫➬♥➨➫➥✲➨➫➬✸➞✈➝✚➟⑥➩❤➜✂➝❭➡ L+ Ð✣Ø✮➥→➻⑥➚✂➼ L+ f1➨➫➡➣➬❤➟⑥➚✂➼⑥➝✚➚❫➬✪➬♥➻
Σ
➳♦➡✈➻➒✃✂➦➱➻①➚✖➞✈➝✯➟⑩➩❤➜✂➨→➚✂➼ L+ ➬✈➜✂➝s➬♥➞♥➟❋Ü➢➝✚➩❭➬✈➻①➞➢➧❼➩✚➻①➚❫➬♥➨➫➚♦✃✂➝✚➡✸Ò➑➻①➥→➥➫➻❋❒➆➨→➚✂➼❿➬♥➜✂➝➅➄✲➻❋❒ ➪▼➝ Ô ➚✂➝❭➪➺❫➧

f1
Ð

➆➆➝✚➩✯➟⑩➥→➥⑥➬✈➜✲➟⑩➬✛❒➀➝➂➟⑥➡➢➡✈✃✂➮☎➝
κ > 2ζ

➡✈➻➆➬♥➜✂➟⑩➬✺➬♥➜✂➝✸➬♥➞➢➨➫➤④➨❆➟⑩➥⑥➦➱➝✚➞✈➨➫➻✼➪▼➨→➩➣➻①➞➢➺✂➨➫➬
Γ
➨→➡✺✃▼➚✂➡➢➬♥➟⑥➺✂➥→➝⑩Ð❊➇➀➝❭➩✯➟⑥✃▼➡✈➝

➻⑥Ò■➬♥➜✂➨➫➡➆➨→➚✂➡❸➬❤➟⑥➺✂➨➫➥→➨➔➬❥➧①➳▼➡❸➧④➡➢➬♥➝❭➮➈❩❸➽✄❬❜➝❮é✼➜✂➨➫➺✂➨➫➬✈➡❿➟☎➡❸➬♥➨→➩❤æ①❰➉➡✈➥→➨➫➦✜➮✫➻⑥➬✈➨→➻①➚✕➬✈➜✲➟⑩➬❿➩✯➟⑥➚✰➥→➝✚➟⑥➪✜➬♥➻☎➩✚➻①➮☎➦✂➥→➨➫➩✯➟⑩➬✈➝✚➪
➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡✰➭ù➴④➳➀➴✪➉❢➸➇Ð➊❳✥➝❭➞✈➝✘❒➂➝✘➟⑥➞✈➝✰➨→➚❫➬♥➝❭➞✈➝❭➡➢➬♥➝❭➪ ➨→➚ ➬✈➜✂➝✴➩✚➟⑥➡✈➝✜❒➆➜✂➝✚➞➢➝

Γ
➨➫➡☎➚▼➝✯➟⑥➞☎➼①➞♥➟✪❲✚➨→➚▼➼✂Ð❐➛s➜▼➝

➼①➞✈➟❄❲✚➨➫➚✂➼✝➻④➩✚➩✚✃▼➞✈➡➆➝❮é▼➟⑥➩❮➬♥➥➫➧➄❒➆➜✂➝✚➚✰➬♥➜✂➝❷Ò➑➻①➞➢➩✚➨→➚▼➼✖➟⑥➮✫➦▼➥→➨➫➬✈✃✂➪✂➝❽➨➫➡

u∗
0 = v0(κ − 2ζ)

√

1 +
(ω2 − 1)2

(κ − 2ζ)2ω2
,

➟⑥➚▼➪✜➬✈➜✂➝✭➦❚➻⑥➨→➚❫➬➆➻①➚
Γ
➬♥➜✂➟⑩➬➆➼①➞♥➟✪❲✚➝✚➡➆➨➫➡

x∗ =

(

Fs − κv0, v0,
π + tan−1 ω2−1

2ζ−κ

ω

)T

.

Ñ➉Ò✺❒➂➝❽➟⑥➞➢➝✮➚✂➻⑩➬s➟⑩➬➀➼①➞♥➟❄❲❭➨→➚✂➼▼➳
x∗
➞✈➝❮Ò➑➝✚➞✈➡➂➬♥➻✟➬✈➜✂➝✮➦➱➻①➨→➚❫➬➂➻①➚

Γ
❒➆➨➫➬✈➜➄➮✫➟❢é✼➨→➮✫➟⑥➥✂➤①➝❭➥→➻④➩✚➨➔➬❥➧①Ð✣è➠➝❽➟⑥➚✂➟⑥➥➫➧❴❲✚➝

➬✈➜✂➝❜➪▼➧④➚✲➟⑥➮☎➨→➩❭➡✪➨→➚✝➟❽➚▼➝✚➨→➼⑥➜④➺➱➻①✃✂➞➢➜✂➻④➻✼➪❼➻⑩Ò
x∗
Ò➑➻⑥➞➣➡✈➻①➮☎➝

u0 < u∗
0

➡✈➻❽➬♥➜✂➟⑩➬➣➬♥➜▼➝s➪✂➨→➡❸➬❤➟⑥➚✂➩❭➝s➺❚➝❮➬❥❒➀➝❭➝✚➚
Σ➟⑥➚▼➪

x∗
➨→➡

δ
➟⑥➚▼➪

Γ
➞✈➝✚➡➢➨→➪✂➝❭➡❜➨→➚✫➬♥➜✂➝✥➪✂➻①➮✫➟⑥➨→➚✫➻⑥Ò

f1
Ð❈❳✥➝❭➚✂➩✚➝⑩➳✲➨➫Ò

Γ
➨➫➡➀➩✚➥➫➻①➡✈➝✥➬♥➻❼➼①➞✈➟❄❲✚➨➫➚✂➼✂➳✼➟⑥➥→➥✾➚✂➝✚➟⑥➞✈➺❫➧

➯



r✣➨➫➼①✃✂➞➢➝✮➹✴t✣➛s➜✂➝❽➪✂➨➫➡✈➩✚➻⑥➚♦➬✈➨→➚♦✃✂➨➔➬❥➧✖➮➄➟⑥➦
D(x)

➦✂➞➢➻☛➤④➨➫➪✂➝✚➡s➟❲➩✚➻①➞➢➞✈➝✚➩❮➬♥➨➫➻①➚➄Ò➑➻①➞❉➦❚➻⑥➨→➚❫➬♥➡➂➻①➚➄➬♥➜▼➝
f2
➡✈➨➫➪✂➝✮➻⑩Ò

Σ
➬✈➜✲➟⑩➬❷➟⑩➩✚➩✚➻⑥✃✂➚❫➬♥➡❽Ò➑➻①➞✥➟➄➡✈➥➫➨→➪✂➨➫➚✂➼☎➡✈➝✚➼⑥➮✫➝❭➚♦➬❽➻⑥Ò❉➟✫➬♥➞✈➟☛Ü➢➝✚➩❮➬♥➻①➞❸➧①Ð❽Ñ➉➬✥Ò➑➻①➥→➥➫➻❋❒➆➡❿➬✈➜✂➝⑦➄✲➻❋❒❇➺✲➟⑥➩❤æ✜Ò➑➞✈➻⑥➮

Π➬✈➻
Σ
➟⑥➚✂➪✰➟⑥➦✂➦▼➥→➨→➝❭➡

fsl
✃✂➚❫➬♥➨➫➥ L+ ➨→➡s➞✈➝✚➟⑥➩❤➜✂➝❭➪➙➳✲❒➆➜✂➨→➩❤➜✰➺❫➧✜➪✂➝ Ô ➚▼➨➫➬♥➨➫➻①➚✕➨→➡s➩❭➻①➚❫➬❤➟⑥➨➫➚✂➝✚➪✰➨→➚ Π

Ð

➻①➞➢➺✂➨➫➬✈➡➀Ò➑➻①➥➫➥→➻❋❒ ➝✚➨➔➬♥➜✂➝❭➞
f1
➻①➞❜➬♥➜✂➝❷➡➢➥→➨➫➪✂➨→➚✂➼❲➤①➝✚➩❮➬♥➻①➞ Ô ➝❭➥→➪

fsl
Ð➣è➠➝❷➪✂➝❭➚✂➻⑥➬♥➝❷➬✈➜✂➝➋➄✲➻❋❒➆➡✥➩❭➻①➞✈➞➢➝✚➡➢➦❚➻①➚▼➪✂➨→➚✂➼

➬✈➻
f1
➟⑥➚▼➪

fsl
➺❫➧

Φ1(x, t)
➟⑥➚✂➪

Φsl(x, t)
➳▼➞✈➝✚➡➢➦❚➝❭➩❭➬✈➨➫➤①➝❭➥➫➧⑥Ð

è➠➝✮❒❜➟⑩➚♦➬s➬✈➻❼➨→➚❫➤⑥➝✚➡➢➬✈➨→➼❫➟❢➬♥➝✮➬✈➜✂➝❽➪▼➧④➚✲➟⑥➮☎➨→➩❭➡➀➚✂➝✚➟⑥➞➀➬✈➜✂➝❽✃✂➚✂➡❸➬❤➟⑥➺▼➥→➝❽➦➱➝✚➞➢➨→➻④➪✂➨→➩❿➻①➞✈➺▼➨➫➬❜➨➫➚✕➟❼ê✡➻①➨→➚✂➩✚➟⑥➞✈ë
➡➢➝✚➩❭➬✈➨→➻①➚❏Ðs➛■➻➄➬✈➜✂➨→➡❿➝✚➚▼➪✴❒➀➝❲➚✂➝✚➝❭➪✴➬♥➻✫➡✈➝❭➥→➝✚➩❮➬❷➟✫ê■➻①➨➫➚✂➩✯➟⑥➞➢ë❲➡➢➝✚➩❮➬♥➨→➻⑥➚

Π
➳✾➬♥➜✲➟❢➬✮➩❭➻①➚❫➬❤➟⑥➨➫➚✂➡➆➬♥➜✂➝❲➥→➨→➚▼➝ L+➟⑥➚▼➪✰➨➫➡❜➬♥➞✈➟⑥➚✂➡➢➤⑥➝✚➞➢➡♥➟⑥➥✛➬♥➻✖➺➱➻⑥➬♥➜

Σ
➟⑩➚✂➪

Γ
Ð✪➛s➜▼➝➒➚✂➟⑩➬♥✃✂➞✈➟⑥➥✺➩❤➜✂➻①➨➫➩✚➝✭➨→➡

Π = {x ∈ R
2 × S : g(x) := ∇h(x) · f1(x) = 0},

❒➆➜✂➨➫➩❤➜➄➨➫➡❉➝✓é▼➟⑥➩❭➬✈➥➫➧✝➬♥➜▼➝✮➡✈✃▼➞➢Ò●➟⑥➩❭➝❿❒➆➜✂➝❭➞✈➝
h
➨→➡❉➮➄➟❢é✼➨➫➮➄➟⑥➥④❒➆➨➫➬✈➜✫➞➢➝✚➡✈➦➱➝✚➩❮➬❜➬♥➻✭➬♥➜▼➝❹➄✲➻❋❒

Φ1(x, t
❬➣➼①➝❭➚✂➝✚➞♠❰

➟⑩➬✈➝✚➪➌➺❫➧
f1
Ð✪➛s➜✂➝❽➩❭➻①➚✂➡❸➬♥➞✈✃▼➩❭➬♥➨➫➻①➚✕➻⑥Ò✺➬✈➜✂➝❽➟⑥➡➢➡✈➻④➩✚➨→➟⑩➬♥➝❭➪➌➥→➻④➩✯➟⑥➥❚ê■➻⑥➨→➚✂➩✚➟⑥➞✈ë✥➮➄➟⑥➦➄➨→➡❉➪✂➻①➚✂➝❽➨➫➚➄➬❥❒➂➻✝➡➢➬♥➝❭➦✂➡✚Ð

Ñ❥➚✖➬♥➜✂➝ Ô ➞✈➡➢➬❉➡❸➬♥➝✚➦☎❒➀➝➆➪✂➨➫➡✈➞➢➝✚➼❫➟⑥➞➢➪☎➬✈➜✂➝s➪✂➨➫➡✈➩✚➻⑥➚♦➬✈➨→➚♦✃✂➨➔➬❥➧✖➟⑥➚✂➪✖➩✯➟⑩➥→➩✚✃▼➥❆➟⑩➬✈➝❜➬♥➜✂➝➆➥→➨➫➚✂➝✯➟⑩➞➣➞✈➝❮➬♥✃✂➞➢➚
P
➮➄➟⑥➦☎➟⑥➡

➨➔Ò
Σ
➪✂➻④➝✚➡✸➚✂➻⑥➬✸➝✓é✼➨→➡➢➬✚Ð➣Ñ❥➚✝➬♥➜✂➝s➡➢➝✚➩❭➻①➚✂➪➄➡❸➬♥➝❭➦☎❒➂➝➆➩✚➻①➞➢➞✈➝✚➩❮➬✸➬♥➜✂➝s➝❭➞✈➞✈➻⑥➞✪➺♦➧❼➩✚➻①➚✂➡❸➬♥➞➢✃✂➩❭➬✈➨→➚✂➼❷➬♥➜▼➝❿➡➢➻⑩❰❥➩✚➟⑥➥→➥➫➝✚➪

á⑥à→Þ✒❧✥♠❢â✱❥●à➋â✱♥✼à♦❥✿♣❘❡❣❝✭❵
D
➭➔➽❋➯☛➸➇Ð☎➛s➜▼➝➄➟⑥➩❮➬♥✃✲➟⑩➥✸ê■➻①➨➫➚✂➩✯➟⑥➞➢ë✖➮➄➟⑥➦✏➨➫➡❽➬♥➜✂➝❭➚Ö➬✈➜✂➝✫➩❭➻①➮☎➦❚➻①➡➢➨➫➬✈➨→➻①➚➏➻⑩Ò➂➬✈➜✂➝✚➡➢➝

➬❥❒➂➻✫➮✫➟⑥➦✂➡❭➳✂❒➆➜✂➝✚➞➢➝➒❒➂➝ Ô ➞✈➡❸➬✮➟⑩➦✂➦✂➥➫➧
D
➟⑩➚✂➪✰➬✈➜✂➝✚➚

P
Ð❚❳❿➝✚➚✂➩❭➝⑥➳✾➥→➝❮➬➆✃✂➡ Ô ➞✈➡❸➬❿Ò➑➻④➩✚✃▼➡❿➻⑥➚✰➬✈➜✂➨→➡s➡➢➝✚➩✚➻⑥➚✂➪

➡❸➬♥➝✚➦✘➟⑥➚✂➪✰➨→➚❫➤⑥➝✚➡➢➬✈➨→➼❫➟❢➬♥➝❽➬♥➜▼➝➒➪▼➨→➡✈➩❭➻①➚❫➬♥➨➫➚④✃▼➨➫➬❥➧➌➮✫➟⑥➦➙Ð

➌➎➍➐➏ ➑➓➒❢➔➣→✔↔➙↕❴➛✜➜s➝❚➞❆↔➙➝➎➟✔↔✣➞✪➠➢➡➥➤❈➦
➛s➜✂➝✭➪✂➨➫➡✈➩❭➻①➚❫➬♥➨→➚♦✃✂➨➔➬❥➧➌➮✫➟⑥➦

D : Π 7→ Π
➨➫➡➆➟✖➥➫➻✼➩✚➟⑥➥❏➩❭➻①➞✈➞➢➝✚➩❮➬♥➨→➻⑥➚➌➬♥➻✝➬♥➜✂➝✭➡➢➮✫➻④➻⑥➬♥➜✜ê✡➻①➨→➚▼➩✯➟⑥➞➢ë❷➮➄➟⑥➦

P➬✈➜✲➟⑩➬❷➨➫➼①➚✂➻①➞➢➝✚➡✮➬✈➜✂➝✝➡➢❒➆➨➔➬♥➩❤➜✂➨➫➚✂➼✂Ð✟➛s➜▼➝☎➡❸❒➆➨➫➬✈➩❤➜✂➨→➚✂➼✕➡➢✃✂➞➢Ò●➟⑩➩✚➝
Σ
➡➢➝✚➦✲➟⑩➞♥➟⑩➬✈➝✚➡

Π
➨➫➚♦➬✈➻➌➬❥❒➀➻✰➞✈➝❭➼①➨→➻⑥➚✂➡✚Ð➒Ñ❥➚

➻①➚▼➝❼➞✈➝❭➼①➨→➻①➚✘➬♥➜✂➝➧➄✲➻❋❒
Φ1

➟⑥➦✂➦✂➥➫➨→➝✚➡✮➟⑥➚✂➪
D
➨➫➡✮➬♥➜✂➝✟➨→➪✂➝❭➚♦➬✈➨➫➬❥➧⑥Ð➒Ñ❥➚➍➬✈➜✂➝❼➻⑥➬✈➜✂➝✚➞❽➞➢➝✚➼①➨➫➻①➚✏➟⑥➦✂➦▼➥➫➧④➨→➚✂➼

Φ1➮✫➟⑥æ⑥➝❭➡✟➟⑩➚×➝✚➞➢➞✈➻①➞✭➬♥➜✲➟❢➬❲❒➂➝➄➩❭➻①➞✈➞➢➝✚➩❭➬✟➺❫➧ÖÒ➑➻⑥➥→➥→➻❋❒➆➨➫➚✂➼✰➟✘➺✲➟⑥➩❤æ❫❒➀➟⑥➞✈➪➠➬♥➞♥➟❋Ü➢➝✚➩❭➬✈➻①➞➢➧✏Ò➑➞➢➻①➮
Π
➬✈➻

Σ
➟⑩➚✂➪

➟⑥➦▼➦✂➥➫➧④➨→➚▼➼❲➬♥➜▼➝❽➡✈➥➫➨→➪✂➨➫➚✂➼❲➤⑥➝✚➩❭➬✈➻①➞ Ô ➝❭➥→➪
fsl
➺✂➟⑥➩❤æ✫➬✈➻

Π
➟⑥➡❜➡➢➜✂➻①✃✂➥➫➪✕➜✲➟✯➤①➝❷➜✲➟⑩➦✂➦❚➝❭➚✂➝✚➪❏Ð❉➛s➜▼➝❽➡✈➩❤➜✂➝❭➮➄➟❢➬♥➨→➩

➻⑥Ò❉➬♥➜▼➝☎➩❭➻①➞✈➞➢➝✚➩❮➬♥➨→➻⑥➚➠➩✚➟⑥➚➠➺➱➝✖➡✈➝❭➝✚➚Õ➨➫➚❿r✣➨→➼✂Ð❏➹▼Ð✝èÕ➝ Ô ➚✂➪
t1 < 0

➡➢✃✂➩❤➜Õ➬♥➜✂➟⑩➬
x̄ = Φ1(x, t1) ∈ Σ

Ð
➛s➜✂➝❭➚✰❒➂➝➒➪✂➝❭➬✈➝✚➞✈➮☎➨→➚▼➝

t2
➡➢✃✂➩❤➜✘➬✈➜✲➟⑩➬

Φsl(x̄, t2) ∈ Π
➳▼❒➆➜✂➨→➩❤➜✰➪✂➝ Ô ➚✂➝✚➡

D(x)
Ð

➛✡➻☎➩❭➻①➮☎➦✂✃▼➬♥➝❷➬✈➜✂➝❷➮➄➟⑩➦✜Ò➑➞➢➻①➮
Π
➬✈➻

Σ
❒➂➝ Ô ➞✈➡❸➬✮➟⑩➦✂➦✂➞✈➻✯é✼➨→➮✫➟⑩➬✈➝✮➬♥➜✂➝❷➬✈➞♥➟✯➤①➝❭➥➙➬♥➨→➮☎➝

t1
➟⑥➚✂➪✜➬♥➜✂➝❭➚

➡➢✃✂➺✂➡➢➬✈➨➫➬✈✃▼➬♥➝✥➨➫➬❉➨→➚☎➬♥➜✂➝✥➛✣➟✯➧④➥→➻①➞❉➝❮é✼➦✲➟⑩➚✂➡✈➨➫➻①➚➌➻⑥Ò➙➬✈➜✂➝❢➄✂➻☛❒
Φ1(x, t1)

Ð➣➛s➜✂➝✮➬✈➨→➮☎➝
t1
➩✯➟⑥➚➌➺➱➝✥Ò➑➻⑥✃✂➚✂➪➄➺❫➧

➡➢➻①➥➫➤④➨→➚▼➼❼➬♥➜✂➝✭➝✚å♦✃✲➟❢➬♥➨→➻⑥➚
0 = h(Φ1(x, t1)), x ∈ Π.

❩●➷➨❬
➾



➛s➜✂➝✭➛■➟✯➧✼➥➫➻①➞s➝❮é✼➦✲➟⑩➚✂➡✈➨➫➻①➚✘➻⑩Ò■➬✈➜✂➨→➡s➝❭å④✃✂➟⑩➬♥➨➫➻①➚✴➟❢➬
x∗
➧④➨➫➝✚➥→➪▼➡

0 = ∇h ·
(

∆x +
t2

2
Df1 · f1(x∗)

)

+ O(|t|3 + ‖∆x‖3),

Ò➑➞➢➻①➮✧❒➆➜✂➨➫➩❤➜✰❒➂➝➒➻①➺▼➬❤➟⑩➨→➚➌➬♥➨➫➮✫➝

t1(x) =
−
√

2∆x2

ω
√

v0
+ O(‖∆x‖3/2),

➟⑥➚▼➪✜➬✈➜✂➝✭➺✲➟⑥➩❤æ❫❒➀➟⑥➞✈➪✘➮➄➟⑥➦▼➦✂➨→➚✂➼

Φ1(x, t1(x)) = x∗ +









∆x1 −
√

2∆x2(v0+∆x2)
ω
√

v0√
2∆x2(∆x1+∆x2(2ζ−κ)+v0∆x3(ω2−1))

ω
√

v0

∆x3 −
√

2∆x2

ω
√

v0









+ O(‖∆x‖2),

❒➆➜✂➝❭➞✈➝
∆x = (∆x1, ∆x2, ∆x3)

T = x−x∗
Ð✣➛s➜✂➝s➡➢➥→➨→➪▼➨→➚✂➼✥➦✲➟⑥➞➢➬➣➻⑥Ò✲➬♥➜✂➝❜➬✈➞♥➟☛Ü➢➝❭➩❭➬✈➻①➞➢➧✟➨→➡✣➩✚➟⑥➥→➩❭✃✂➥❆➟❢➬♥➝✚➪

Ò➑➞➢➻①➮✧➬✈➜✂➝✭➩✚➻①➚✂➡❸➬❤➟⑥➚❫➬❿➡✈➥➫➨→➪✂➨➫➚✂➼❼➤①➝❭➩❭➬✈➻①➞ Ô ➝✚➥➫➪
fsl
➺❫➧✕➡➢➻①➥➫➤④➨→➚▼➼✖➬✈➜✂➝✭➝✚å♦✃✲➟⑩➬✈➨→➻①➚

0 = g(x + t2f 1(x
∗)) = ∇g(x∗) · (∆x + t2f1(x

∗)) + O(‖∆x‖2).
➛s➜✂➝✭➩✚➟⑥➥→➩❭✃✂➥❆➟⑩➬✈➨→➻①➚➄➻⑥Ò

t2
➧④➨→➝❭➥→➪✂➡

t2 =
v0x3 + x2(κ − 2ζ) − ∆x1

v0ω2
− ∆x3 + O(‖∆x‖2)

➟⑥➚▼➪✜➬✈➜✂➝✭➮➄➟⑩➦✂➦✂➨→➚▼➼❼Ò➑➞✈➻①➮
Σ
➬♥➻ L+ ⊂ Π

➺❫➧➌Ò➑➻①➥➫➥→➻❋❒➆➨→➚✂➼
fsl
➺➱➝✚➩❭➻①➮☎➝✚➡

Φsl(x, t2) = x∗ +





∆x1 − v0∆x3 + v0∆x3+∆x2(κ−2ζ)−∆x1

ω2

v0
v0∆x3+∆x2(κ−2ζ)−∆x1

v0ω2



 .

ê✪✃▼➬➢➬♥➨→➚▼➼✖➬✈➜✂➝✚➡➢➝❷➬❥❒➀➻❣➄✲➻❋❒➆➡➆➬✈➻①➼①➝❮➬♥➜✂➝❭➞➆❒➂➝ Ô ➚✂➪✜➬♥➜✂➝✭➪✂➨➫➡✈➩✚➻⑥➚♦➬✈➨→➚♦✃✂➨➔➬❥➧➌➮✫➟⑥➦

D(x) = x∗ +









(1−ω2)(
√

2∆x
3/2

2
+ω(v0∆x3−∆x1)

√
v0)

ω3
√

v0

0
√

2
ω3

(

∆x2

v0

)3/2

− ∆x1

ω2v0
+ ∆x3

ω2









.

➛s➜✂➝✮➪✂➨→➡➢➩✚➻①➚❫➬♥➨➫➚♦✃✂➨➫➬❥➧☎➮✫➟⑥➦
D
➩❭➻①➚❫➬❤➟⑥➨➫➚✂➡➀➬✈➝✚➞✈➮☎➡➀✃▼➦➄➬♥➻❼➻⑥➞✈➪✂➝❭➞

3/2
➬♥➜✂➟⑩➬➀➤⑩➟⑥➚✂➨➫➡✈➜➄Ò●➟⑩➡➢➬s➟❢➬

x = x∗
➳▼➡➢➻

➬✈➜✲➟⑩➬➆➨➫➬❜➨→➡➆➡✈✃✴➩☎➩❭➨→➝✚➚❫➬➆➬♥➻✝➬♥➟⑥æ⑥➝➒➨➫➬✈➡❹➫①➟⑥➩✚➻①➺▼➨❆➟⑥➚

J =





1 − 1
ω2 0 v0

(

1
ω2 − 1

)

0 0 0
− 1

v0ω2 0 1
ω2





➟⑩➬
x = x∗

➟⑥➚✂➪P➩✚➻⑥➚✂➡✈➨➫➪✂➝✚➞➌➬✈➜✂➝➏➥→➨➫➚✂➝✯➟⑩➞✫➮✫➟⑥➦✂➦✂➨➫➚✂➼
D(x) ≈ x∗ + J∆x

Ð➭❇✥➻⑥➬✈➝✴➬♥➜✲➟❢➬
J
➨→➡➌➟

➦✂➞➢➻❢Ü➢➝✚➩❮➬♥➨➫➻①➚✰❒➆➨➔➬♥➜✘➟✫➻①➚▼➝❮❰❥➪▼➨→➮☎➝✚➚✂➡➢➨→➻①➚✲➟⑩➥❏➞♥➟⑩➚✂➼①➝❲➟⑥➚✂➪➏➟✝➬❥❒➂➻⑩❰❥➪✂➨➫➮✫➝❭➚✂➡✈➨➫➻①➚✲➟⑥➥❏æ⑥➝✚➞➢➚✂➝✚➥➇Ðs➛s➜✂➝✚➞➢➝❭Ò➑➻①➞➢➝⑥➳✾➬♥➜✂➝
➩❭➻①➮✫➦➱➻①➡➢➨➫➬♥➨➫➻①➚➍❒➆➨➫➬✈➜➠➬♥➜▼➝➌➡✈➮☎➻✼➻⑩➬♥➜➠ê■➻①➨➫➚✂➩✯➟⑥➞➢ë➄➮✫➟⑥➦

P
❒➆➨➫➥→➥✸➺❚➝✫➦✂➨→➝❭➩✚➝❮❒➆➨→➡✈➝✓❰❥➥➫➨→➚✂➝✚➟⑥➞❷❒➆➨➫➬♥➜➠➻①➚✂➝➌➦✂➟⑥➞➢➬

➺➱➝✚➨➫➚✂➼✖➟☎➦▼➞✈➻❢Ü➢➝❭➩❭➬♥➨➫➻①➚➙Ð✪Ñ❥➚✜➬♥➜✂➝✭➚✂➝✓é④➬✥➡➢➝✚➩❮➬♥➨→➻⑥➚✰❒➂➝✭➩✯➟⑥➥➫➩✚✃✂➥→➟⑩➬♥➝
P
➟⑩➚✂➪ Ô ➚✂➪

P ◦ D
Ð

➵



➌➎➍➯➌ ➑➓➒❢➔❾➲➳➔✏→❢➟✔➛✜➔✏→➵➦➋↔➙➔✏➛✜➔✻➸➺↔➙↕❴➔■➻✳➼➙↔➙➝✔➔✏➤❈➲➾➽❘➜s↔➙➝✔➛✜➤❈➲✴➚➪➡➥➤❈➦
➛s➜✂➝ Ô ➚✲➟⑩➥❉➦▼➨→➝✚➩❭➝❭❒➆➨➫➡✈➝❮❰➉➥→➨➫➚✂➝✯➟⑥➞✭ê✡➻①➨→➚▼➩✯➟⑥➞➢ë☎➮✫➟⑥➦Ö➨→➡➒➟✜➩✚➻①➮☎➦❚➻⑥➡✈➨➫➬✈➨→➻①➚➍➻⑩Ò➀➬♥➜▼➝✫➪✂➨➫➡✈➩❭➻①➚❫➬♥➨→➚♦✃✂➨➔➬❥➧➍➮✫➟⑥➦

D➟⑥➚▼➪❐➟➍➡➢➮✫➻④➻⑥➬♥➜ ➞➢➝❭➬♥✃▼➞✈➚Ï➮➄➟⑥➦
P
➬♥➜✲➟⑩➬☎➨➫➼①➚✂➻①➞➢➝✚➡❼➬♥➜▼➝✕➦✂➞✈➝❭➡✈➝✚➚▼➩✚➝✴➻⑩Ò

Σ
Ð ➛s➜✂➨➫➡✝➞✈➝❮➬♥✃✂➞➢➚❐➮✫➟⑥➦

P
➨→➡

➪✂➝❮➬♥➝❭➞✈➮☎➨→➚✂➝❭➪➄❒➆➨➫➬✈➜✕➞✈➝✚➡➢➦❚➝❭➩❭➬s➬✈➻
f1
➟⑥➞✈➻⑥✃✂➚✂➪➌➬♥➜▼➝❽✃✂➚✂➡❸➬❤➟⑥➺✂➥➫➝❷➦❚➝❭➞✈➨➫➻✼➪✂➨➫➩✥➻⑥➞✈➺✂➨➔➬

Γ
Ð✣è➠➝❽❒➆➨→➡✈➜➌➬✈➻❼➻①➺▼➬♥➟⑥➨→➚

➬✈➜✂➨→➡➆➮✫➟⑥➦✘➨➫➚✰➬✈➜✂➝❲➬❥❒➂➻⑩❰➉➪✂➨→➮☎➝✚➚✂➡➢➨→➻①➚✂➟⑥➥➙➩✚➻④➻①➞➢➪✂➨→➚✲➟❢➬♥➝✚➡
y = (x, ẋ)T Ð❜Ø❜➬❽➟☎➩✚➻①➚▼➡➢➬❤➟⑩➚♦➬✥➬♥➨➫➮✫➝✓❰❥➡✈➥➫➨→➩❭➝✮➬♥➜✂➝➥➫➨→➚✂➝✚➟⑥➞✸ê■➻①➨➫➚✂➩✯➟⑩➞✈ë❿➮➄➟⑥➦☎➻⑥Ò❈❩✿➴✌❬✪➨→➡✸➞✈➝❭➦✂➞✈➝❭➡✈➝❭➚♦➬✈➝✚➪✕➺❫➧✖➬♥➜✂➝❿➮✫➟⑩➬♥➞➢➨➔é

eA 2π
ω
Ð➣➛■➻✟➟⑥➩✚➩❭➻①✃✂➚❫➬➀Ò➑➻⑥➞➂➟⑩➪✂➪✂➨➫➬✈➨→➻①➚✂➟⑥➥

➤⑩➟⑥➞➢➨❆➟⑩➬✈➨→➻①➚✰➻⑥Ò✪➬♥➨➫➮✫➝➒➻①➚➏➬✈➜✂➝❼➥→➨➫➚✂➝✯➟⑩➞✮➟⑥➦▼➦✂➞✈➻✯é✼➨→➮✫➟⑩➬♥➨➫➻①➚✰➻⑥Ò
Π
❒➂➝❼➮❼✃✂➡❸➬❷✃✂➡✈➝✖➟☎➬♥➞♥➟⑩➚✂➡➢Ò➑➻①➞➢➮➄➟❢➬♥➨→➻⑥➚✴➟⑩➚✂➪

➻①➺✼➬❤➟⑥➨➫➚➌➬♥➜✂➝✭➞✈➝❮➬♥✃✂➞➢➚✘➮✫➟⑥➦
y 7→ My

➳✲❒➆➨➫➬✈➜

M = (I − (A + b1(x
∗
3))∇x3(y

∗))−1 eAT (I − (A + b1(x
∗
3))∇x3(y

∗)) .
❩✿➯✌❬

❳❿➝✚➞✈➝⑩➳
x3(y)

➨➫➡❜➬♥➜✂➝✭➦✲➟⑩➞♥➟⑥➮☎➝❭➬✈➞✈➨✍❲✚➟⑩➬♥➨➫➻①➚➄➻⑩Ò■➬✈➜✂➝✭ê■➻①➨➫➚✂➩✯➟⑩➞✈ë❷➡✈➝❭➩❭➬✈➨→➻①➚
Π
➟⑥➡➆➟✝➼①➞♥➟⑩➦✂➜✜➻☛➤⑥➝✚➞s➬♥➜▼➝➒➦▼➥❆➟⑥➚✂➝

x3 = x∗
3 = x3(y

∗)
❒➆➨➔➬♥➜

y∗ = (x∗
1, x

∗
2)

T Ð✪Ñ❥➚✰➦✂➜❫➧✼➡➢➨→➩✚➟⑥➥✺➦✲➟⑥➞✈➟⑥➮✫➝❮➬♥➝❭➞✈➡➆➻⑥Ò➎❩❸➽✄❬➂➬✈➜✂➝✭➮➄➟⑩➬✈➞✈➨ré
M
➨→➡

M = e−ζrT





cos ωdT +
ζ(ω2+1)
ωd(ω2−1)

sin ωdT
ω4+(4ζ2

r−2)ω2+1

ωdω2(ω2−1)
sin ωdT

ω2

ωd−ω2ωd
sin ωdT cos ωdT − ζ(ω2+1)

ωd(ω2−1)
sin ωdT



 ,
❩➇➾❼❬

❒➆➜✂➝❭➞✈➝
ζr = 2ζ−κ

2

➳
ωd =

√

1 − ζ2
r

➟⑥➚✂➪
T = 2π

ω

Ð ➛s➜▼➝Ö➥➫➨→➚✂➝✚➟⑥➞➌➟⑩➦✂➦✂➞✈➻✯é✼➨→➮✫➟⑩➬✈➨→➻①➚❐➻⑥Ò
D(x)➬✈➞♥➟⑥➚✂➡❸Ò➑➻①➞✈➮☎➝✚➪✕➬✈➻✖➬✈➜✂➝✭➡✈➝❭➩❭➬♥➨➫➻①➚

Π
➨→➚✕➬♥➜✂➝❭➡✈➝➒➩✚➻④➻①➞✈➪▼➨→➚✲➟⑩➬✈➝✚➡s➨➫➡s➼①➨➫➤⑥➝✚➚✜➺❫➧

J2 =

(

1 2ζr(2ω2−1)
ω4

0 0

)

.

è➠➝✟➟⑩➞✈➝➒➚✂➻❋❒ ➞✈➝✯➟⑩➪▼➧✜➬♥➻☎➩✚➻①➚✂➡❸➬♥➞➢✃✂➩❭➬✮➻①✃✂➞❿➥→➻④➩✯➟⑥➥✺➦✂➨➫➝✚➩❭➝❭❒➆➨→➡➢➝❮❰➉➥→➨→➚▼➝✯➟⑥➞❿ê■➻⑥➨→➚✂➩✚➟⑥➞✈ë➒➮➄➟⑩➦✴➟⑥➡➆➬♥➜▼➝✟➩✚➻⑥➮✫➦➱➻⑩❰
➡➢➨➫➬♥➨➫➻①➚

F : y 7→
{

My
➨➔Ò

ẋ < δ,
MJ2(y − y∗) + My∗

➨➔Ò
ẋ ≥ δ,

❩✿➵✌❬
❒➆➜✂➝❭➞✈➝

y∗ = (0, δ)T Ðr✣➨➫➼①✃✂➞✈➝➄➷➍➩✚➻①➮☎➦✲➟⑥➞➢➝✚➡✝➪✂➨➫➞✈➝✚➩❮➬✖➡✈➨➫➮❼✃✂➥❆➟❢➬♥➨→➻⑥➚Õ➻⑥Ò➧❩➇➹❼❬✭❒➆➨➫➬♥➜ ➨➔➬♥➝✚➞✈➟⑩➬♥➨➫➻①➚✂➡❲➻⑥Ò➆➬♥➜✂➝✜➦✂➨➫➝✚➩✚➝❮❒➆➨→➡➢➝❮❰❥➥➫➨→➚✂➝✚➟⑥➞
➟⑥➦▼➦✂➞✈➻✯é✼➨→➮✫➟⑩➬♥➨➫➻①➚➊❩➇➵✌❬❮Ð×ç✼➨→➚▼➩✚➝➶❩➇➹❼❬➒➨→➡✝➟⑥➥➫➮✫➻⑥➡➢➬✝➥➫➨→➚✂➝✚➟⑥➞❲❒➂➝✜➝❮é✼➦❚➝❭➩❭➬✫➟➍➩✚➥➫➻①➡✈➝✕➮✫➟⑩➬♥➩❤➜❏ÐÕÑ❥➚✂➪✂➝❭➝✚➪➙➳❉➬♥➜✂➝
➮✫➟⑥➨→➚✴➪✂➨➫Ó❚➝✚➞➢➝✚➚✂➩❭➝✝➺❚➝❮➬❥❒➀➝❭➝✚➚➠➬✈➜✂➝✝➚✂➻①➚④❰❥➡✈➮☎➻④➻⑥➬♥➜➏➡➢➨→➮❼✃▼➥❆➟⑩➬✈➨→➻①➚➹❩●➺✂➥➫✃✂➝❼➪✂➻⑥➬✈➡✥❬❽➟⑥➚▼➪✏➬✈➜✂➝✝➨➫➬✈➝✚➞✈➟⑩➬♥➝❭➪➍➮➄➟⑥➦
❩➑➞✈➝✚➪✕➪▼➻⑥➬♥➡✯❬➂➨→➡❉➬♥➜✲➟⑩➬❜➨→➚➘❩➇➵✌❬❉❒➂➝✭➟⑥➥→➥➫➻☛❒ ➦❚➻①➨➫➚❫➬♥➡➀➻⑥➚✕➺❚➻⑥➬✈➜✕➡✈➨➫➪✂➝✚➡❜➻⑩Ò

Σ
➳④❒➆➜✂➨→➥➫➝✮➨➫➚➌➬♥➜✂➝❽➡➢➨→➮❼✃▼➥❆➟⑩➬✈➨→➻①➚✖➬♥➜✂➝

➟⑥➩❮➬♥✃✲➟⑩➥➙➡✈➥➫➨→➪✂➨➫➚✂➼❼➬❤➟⑥æ⑩➝✚➡➆➦✂➥→➟⑥➩✚➝⑩➳✲➨✿Ð➘➝⑥Ð➔➳✂➻①➞✈➺▼➨➫➬♥➡s➩✚➟⑥➚✂➚✂➻⑩➬➆➩✚➞✈➻⑥➡✈➡
Σ
Ð

➴ ➷➬②✡❍③②➎▲❦❶❷⑩✭❯✭➮➎②✡❖ ➱ ❶❷✃

Ñ❥➚ ➬♥➜▼➝✕➦✂➞✈➝❮➤✼➨➫➻①✃✂➡✝➡➢➝✚➩❭➬✈➨→➻①➚×❒➂➝✜➩✚➻①➚▼➡➢➬♥➞➢✃✂➩❭➬✈➝✚➪❐➟➏➥→➻④➩✯➟⑥➥➂➦✂➨→➝❭➩✚➝❮❒➆➨→➡✈➝✓❰❥➥➫➨→➚✂➝✚➟⑥➞❼ê✡➻①➨→➚✂➩✚➟⑥➞✈ë➄➮➄➟⑥➦×Ò➑➞➢➻①➮ ➟
➚✂➻⑥➚✂➡✈➮☎➻✼➻⑩➬♥➜Ö➡➢➧④➡➢➬✈➝✚➮ ❒➆➨➔➬♥➜➠➡✈➥→➨➫➪✂➨→➚▼➼✰➪▼➝ Ô ➚✂➝❭➪ ➺❫➧Õ➟⑩➚×➟⑥➦✂➦▼➥→➨→➩✚➟⑩➬♥➨➫➻①➚➙Ð➌Ø✥➡✟➩✚➟⑥➚Õ➺➱➝➄➡➢➝✚➝✚➚ ➨➫➚➠➡➢➝✚➩❮➬♥➨→➻⑥➚
➴✼Ðù➴✼➳✾➬♥➜✂➝✟➮➄➟⑥➦

F
➨➫➚❐❩✿➵❄❬❿➩✚➻⑥➚✂➡✈➨➫➡➢➬♥➡❷➻⑩Ò✸➟➌➥→➨➫➚✂➝✯➟⑥➞➆➮✫➟⑥➦✴❒➆➨➔➬♥➜➍➟✫Ò➑➻④➩✚✃▼➡❸❰➉➬❥➧④➦➱➝❼✃✂➚✂➡❸➬❤➟⑥➺▼➥→➝ Ô é✼➝❭➪➍➦❚➻①➨➫➚❫➬✯➳

➟⑥➚▼➪✴➟✖➦✂➞✈➻☛Ü➢➝✚➩❭➬✈➨→➻①➚❏Ð➀Ñ➉Ò➣❒➂➝❲➩❭➻①➚✂➡➢➨→➪✂➝❭➞❿➬✈➜✂➝❲➡❸➧④➡➢➬♥➝❭➮ ❒➆➨➫➬♥➜✰➞✈➝❭➡✈➦➱➝✚➩❮➬✮➬♥➻✖➬♥➜▼➝❲➝❭➨→➼①➝❭➚♦➤⑥➝✚➩❮➬♥➻①➞➢➡✮➻⑥Ò✣➮➄➟⑩➬✈➞✈➨ré
❩●➾❼❬➂➬♥➜✂➝❭➚✰➬✈➜✂➝❷Ò➑➻✼➩❭✃✂➡❸❰✿➬❥➧④➦❚➝✭➮✫➟⑥➦✜➮➄➟✯➧➌➺➱➝❷❒➆➞✈➨➔➬✈➬♥➝❭➚✰➟⑥➡

M = eβ

(

cos α sin α
− sin α cos α

)

,

❪



r✣➨➫➼①✃✂➞➢➝✕➷➳t➏ç④➨→➮❼✃✂➥→➟⑩➬♥➨➫➻①➚ ➞✈➝❭➡✈✃✂➥➔➬✖Ò➑➻①➞✝➬❥❒➀➻×➪▼➨➫Ó❚➝✚➞✈➝❭➚❫➬✫➞➢➻⑥➬❤➟❢➬♥➨→➻⑥➚Ï➚♦✃✂➮✟➺❚➝❭➞✈➡
α = 0.338 × 2π

➟⑥➚✂➪
α = 0.402×2π

Ð✛➛s➜✂➝✸➺✂➥➫✃✂➝✪➪✂➻⑥➬✈➡✛➟⑥➞✈➝✪➪✂➨➫➞✈➝❭➩❭➬✛➡✈➻⑥➥→✃▼➬✈➨→➻①➚❷➻⑥Ò④➬♥➜▼➝sr✣➨→➥➫➨→➦✂➦➱➻❋➤✥➡❸➧④➡➢➬♥➝❭➮ ✃✂➡✈➨➫➚✂➼❿ê✪➨→➨→➞➢➻①➨→➚▼➝✚➚✻➀➘➡
➡➢➻⑥Ò➋➬❥❒❜➟⑩➞✈➝❼➭r➽❋ä☛➸✿Ð✪➛s➜✂➝❿➞✈➝❭➪➌➪✂➻⑥➬✈➡➀➟⑩➞✈➝❿➨➫➬♥➝❭➞♥➟⑩➬✈➨→➻①➚▼➡✪➻⑥Ò➙➬♥➜▼➝✥➮✫➟⑥➦❺❩✿➵✌❬✓Ðs❉✮➬♥➜✂➝❭➞➀➦✲➟⑥➞✈➟⑥➮☎➝❭➬♥➝❭➞✈➡❉➟⑥➞➢➝

Fs = 1
➳

κ = 0.03
➳
ζ = 0.01

➳
u0 = u∗

0, v∗
0 = 0.1

➟⑥➚✂➪
v0 = v∗

0 + 0.003
Ð

❒➆➜✂➝❭➞✈➝
α
➨➫➡✫➬✈➜✂➝➍➞✈➻⑥➬♥➟⑩➬♥➨➫➻①➚Ú➚♦✃✂➮✟➺❚➝❭➞✚➳✥➟⑥➚✂➪

β
➨→➡✫➬✈➜✂➝➍➝❮é✼➦✲➟⑩➚✂➡✈➨➫➻①➚P➦✲➟⑥➞✈➟⑥➮✫➝❮➬♥➝❭➞✚ÐÙç✼➨→➮☎➨→➥→➟⑥➞✈➥➔➧①➳✸➬♥➜✂➝

➦✂➞➢➻❢Ü➢➝✚➩❮➬♥➨➫➻①➚✜➦✲➟⑥➞➢➬➆➨➫➡s➻⑥Ò✡➬♥➜✂➝❷Ò➑➻①➞➢➮

J2 =

(

1 − cot γ
0 0

)

,

❒➆➜✂➝❭➞✈➝
γ
➨➫➡✥➬♥➜▼➝✝➟⑥➚✂➼①➥➫➝❲➺➱➝❭➬❥❒➂➝✚➝❭➚Ö➬✈➜✂➝❼➦✂➞➢➻❢Ü➢➝✚➩❮➬♥➨➫➻①➚➏➪✂➨➫➞✈➝✚➩❮➬♥➨➫➻①➚➏➟⑥➚▼➪➏➬♥➜✂➝❼➥➫➨→➚✂➝

ẋ = 0
Ð✮è➠➝✝➟⑥➡➢➡✈✃✂➮☎➝

➬✈➜✲➟⑩➬
β ≥ 0

➳❽➡➢➻Ï➬✈➜✲➟⑩➬✜➬♥➜✂➝✏➦➱➝✚➞➢➨→➻④➪✂➨→➩➍➻①➞➢➺✂➨➫➬➌➚✂➝✯➟⑥➞✰➼①➞✈➟❄❲✚➨➫➚✂➼⑩❰❥➡➢➥→➨➫➪✂➨→➚✂➼➠➨→➡✜✃✂➚✂➡❸➬❤➟⑥➺▼➥→➝⑥Ð ➛s➜✂➝❭➚ ➬♥➜▼➝
➼①➝❭➚✂➝✚➞✈➟⑥➥→➨✟❲✚➝❭➪❼➮➄➟⑩➦❼➨→➡■➪✂➝ Ô ➚▼➝✚➪✖➨→➚❘❩➇➵✌❬✣➟⑥➚▼➪✝➩✯➟⑥➚✝➺➱➝❜➨→➚❫➬✈➝✚➞✈➦▼➞✈➝❭➬✈➝✚➪✖➟⑥➡➣➟✮➚✂➻①➞➢➮➄➟⑥➥♦Ò➑➻①➞➢➮❇➬✈➜✲➟⑩➬➣➪▼➝✚➡✈➩❭➞✈➨➫➺❚➝❭➡
➬✈➜✂➝✭➦✂➜✂➝✚➚▼➻①➮✫➝❭➚✲➟✝➻✼➩❭➩✚✃✂➞➢➞✈➨➫➚✂➼☎➟⑩➬➆➼①➞♥➟✪❲✚➨→➚▼➼⑩❰❥➡➢➥→➨→➪▼➨→➚✂➼➒❒➆➨➫➬♥➜✜➥➫➻☛❒ ➡✈➦➱➝✚➝❭➪✂➡✚Ð

Ø✮➡➆➩✚➟⑥➚✜➺❚➝❷➡➢➝✚➝✚➚✘➨→➚❘r✣➨➫➼✂Ð▼➷✝➡❸➧④➡➢➬♥➝❭➮➂❩✿➵✌❬➀➜✂➟⑥➡➆➟✝➦❚➻①➥➔➧④➼①➻①➚✲➟⑥➥r❰❥➡➢➜✲➟⑥➦➱➝✚➪➌➨➫➚♦➤⑩➟⑥➞➢➨❆➟⑥➚❫➬s➡➢➝❭➬✚Ð⑨❉❽✃✂➞s➼⑥➻❫➟⑥➥
➨➫➡✭➬✈➻✴➝✓é✂➟⑩➮✫➨➫➚✂➝☎➬✈➜✂➝➄➦▼➞✈➻①➦➱➝✚➞❸➬♥➨→➝❭➡❲➻⑩Ò❜➬♥➜✂➝➄➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞✭➻⑥Ò❒❩✿➵✌❬✓Ð✰ç✼➨→➚✂➩❭➝➓❩➇➵✌❬✭➨➫➡✟➟✰➚✂➻①➞➢➮➄➟⑥➥➣Ò➑➻⑥➞✈➮✰➳✡➬✈➜✂➨→➡
❒➆➨➫➥→➥✛➼①➨➫➤⑥➝✟✃✂➡✮➨→➚▼Ò➑➻①➞➢➮➄➟❢➬♥➨→➻⑥➚✘➟⑩➺❚➻①✃✼➬❽➡✈✃▼➩❤➜➠➟❢➬✈➬♥➞✈➟⑥➩❭➬✈➻①➞✈➡✥➨→➚➍➟⑩➥→➥✛➡➢➧④➡➢➬✈➝✚➮☎➡❽❒➆➨➫➬✈➜✴Ò➑➻✼➩❭✃✂➡❸❰✿➬❥➧④➦❚➝❼✃▼➚✂➡➢➬♥➟⑥➺✂➥→➝
➦➱➝✚➞➢➨→➻④➪✂➨→➩❿➻①➞✈➺▼➨➫➬♥➡➂➚✂➝✯➟⑩➞❜➼①➞♥➟✪❲✚➨→➚▼➼✟➡✈➥➫➨→➪✂➨➫➚✂➼✂Ð❦❮✛➝❮➬s✃✂➡ Ô ➞✈➡➢➬❜➪✂➝❭➬✈➝✚➞✈➮☎➨→➚▼➝✮➡✈➻⑥➮✫➝❽➺✂➟⑥➡✈➨➫➩✮➦✂➞➢➻①➦❚➝❭➞➢➬✈➨→➝✚➡➀➻⑥Ò✺➬♥➜✂➝
➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞✚Ð

Ø✥Ò➋➬✈➝✚➞➀➟✟➩✚➝❭➞➢➬❤➟⑩➨→➚ Ô ➚▼➨➫➬♥➝✥➚♦✃✂➮❼➺➱➝✚➞➀➻⑩Ò✛➨➫➬♥➝❭➞♥➟⑩➬✈➨→➻①➚▼➡➂➝❮➤①➝✚➞❸➧➌➨➫➚✂➨➫➬✈➨❆➟⑥➥✂➦➱➻①➨➫➚♦➬➂➨→➚✫➬♥➜✂➝✥➦✂➜✲➟⑥➡➢➝❽➡✈➦✲➟⑩➩✚➝❽❒➆➨→➥➫➥
✃✂➚▼➪✂➝✚➞➢➼①➻✖➟❼➦✂➞✈➻☛Ü➢➝✚➩❭➬✈➨→➻①➚➌❒➆➨➔➬♥➜

J2

Ð✪➛s➜✂➝✚➞➢➝❭Ò➑➻①➞➢➝⑥➳✂➬♥➜▼➝❽➻①➚✂➥➔➧➌➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞➀➻⑥Ò✛➬✈➜✂➝❷➡➢➧④➡➢➬✈➝✚➮Ý➮✟✃✂➡➢➬s➩❭➻①➚✂➡➢➨→➡➢➬
➻⑥Ò➀Ò➑➻①➞➢❒➀➟⑥➞✈➪Õ➨→➮✫➟⑥➼①➝✚➡ Kn = MnK0

➻⑥Ò K0 = {y ∈ R
2 : ẋ = δ} Ð➃❇❿➻⑥➬♥➝☎➬♥➜✲➟⑩➬❲➬♥➜✂➝➄➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞➪✂➻④➝✚➡➒➚✂➻⑥➬❲➨→➚▼➩✚➥→✃▼➪✂➝ K0

➳✡➺➱➝✚➩✯➟⑩✃✂➡✈➝✕➟❢Ò➋➬♥➝✚➞✭➬♥➜▼➝✫➩❭➻①➞✈➞➢➝✚➩❭➬✈➨→➻①➚
M

➨➫➡✟➟⑥➦▼➦✂➥→➨➫➝✚➪Ö➨→➮☎➮✫➝❭➪✂➨❆➟⑩➬✈➝✚➥➔➧①Ð✖Ø✥Ò➋➬✈➝✚➞❼➟
Ô ➚▼➨➫➬♥➝❷➚♦✃✂➮✟➺❚➝❭➞✥➻⑥Ò✣➨➫➬✈➝✚➞♥➟❢➬♥➨→➻⑥➚✂➡❜➻⑥Ò K0

➟✖➦❚➻①➥➔➧④➼①➻①➚✜➨→➡sÒ➑➻①➞➢➮✫➝❭➪✘➟⑩➞✈➻①✃✂➚▼➪✰➬✈➜✂➝❲➻⑥➞✈➨→➼⑥➨→➚➙Ð✪➛s➜✂➝➒➨→➚❫➤⑩➟⑥➞➢➨❆➟⑥➚❫➬
➡➢➝❭➬✥➞✈➝✚➡➢➨→➪✂➝❭➡✮➻①➚✰➬♥➜✂➝❲➥→➨➫➚✂➝✚➡➆➼①➻①➨➫➚✂➼✖➬♥➜✂➞➢➻①✃✂➼①➜✰➬♥➜✂➝➒➡✈➨➫➪✂➝✚➡✥➻⑥Ò✣➬✈➜✂➝✟➡➢➮➄➟⑥➥➫➥→➝❭➡➢➬➆➦➱➻①➥➫➧④➼①➻①➚ Pf

➟⑥➞➢➻①✃✂➚✂➪✰➬♥➜✂➝
➻①➞➢➨→➼①➨➫➚➙➳▼❒➆➜✂➨➫➩❤➜✴❒➂➝❼➩✯➟⑥➥➫➥✺➬♥➜✂➝❣❡✝à➋â✲à♦❡❣❝⑥ß➳❵✱♠❢ß✺♣✯ã❴♠❢â✲Ð✡➇➀➝❭➩✯➟⑥✃▼➡✈➝❼➻⑥Ò✣➬♥➜✂➝❲➞✈➻⑥➬♥➟⑩➬♥➨➫➻①➚✴➟⑩➚✂➪✴➝✓é▼➦✂➟⑥➚✂➡✈➨➫➻①➚➙➳ Pf➨➫➡❼➩✚➻①➚❫➤⑥➝❮é❚➳➂❒➆➜✂➨➫➩❤➜ ➮✫➝✚➟⑥➚✂➡❼➬♥➜✂➟⑩➬✖➟⑥➥➫➥➂➤①➝❭➞➢➬✈➨→➩✚➝❭➡✝Ò●➟⑥➥→➥❉➻①➚ ➬♥➜✂➝❿❩➑➚✂➻①➚✼❰➉➦✂➞✈➻☛Ü➢➝✚➩❭➬✈➨→➚✂➼❼❬❲➡✈➨➫➪✂➝➌➻⑥Ò K1

➬✈➜✲➟⑩➬
➩❭➻①➚❫➬❤➟⑥➨➫➚✂➡➌➬♥➜✂➝➍➻⑥➞✈➨→➼⑥➨→➚➙Ð❇➛s➜✂➨→➡✕➦▼➞✈➻❋➤①➝❭➡✰➬✈➜✲➟⑩➬✜➟⑥➥➫➥✮➡➢➨→➪✂➝❭➡✰➻⑩Ò Pf

➟⑥➞➢➝➍➦✲➟⑥➞➢➬✜➻⑩Ò❲➬✈➜✂➝➍➨→➚❫➤⑩➟⑥➞✈➨→➟⑥➚❫➬✕➡✈➝❮➬✯Ð
ç✼➨➫➮✫➨➫➥❆➟⑥➞➢➥➫➧⑥➳⑥✃✂➡➢➨→➚✂➼ K0

➟⑥➚✂➪➌➨➔➬♥➡➀➦▼➞✈➝✚➨➫➮➄➟⑩➼①➝✚➡❭➳✼➟⑩➚✂➻⑥➬♥➜▼➝✚➞❛❩➑➡✈➮✫➟⑥➥→➥➫➝✚➞✯❬✣➦❚➻①➥➔➧④➼①➻①➚ Pb
➨→➡✸Ò➑➻①➞✈➮☎➝✚➪➙➳♦❒➆➜✂➨➫➩❤➜➌➨→➡

➟➄➪▼➻☛❒➆➚▼➡✈➩✯➟⑩➥→➝✚➪✏➟⑩➚✂➪➏➞✈➻⑩➬❤➟⑩➬✈➝✚➪✴➤⑥➝✚➞✈➡➢➨→➻①➚✴➻⑥Ò✪➬♥➜✂➝✟➮✫➨➫➚✂➨→➮✫➟⑥➥❏➦➱➻①➥➔➧✼➼⑥➻①➚ Pf
Ð✥➛s➜✂➝✚➡➢➝❼➬❥❒➀➻✕➦➱➻①➥➫➧④➼①➻⑥➚✂➡✥➪▼➻

ä



➚✂➻⑩➬➆➨→➚❫➬♥➝❭➞✈➡✈➝❭➩❭➬✥➟⑥➚✂➪✕➬✈➜✂➝❷➥→➨➫➚✂➝✚➡❜➬✈➜✂➞✈➻①✃▼➼①➜✕➬♥➜✂➝❷➡➢➨→➪✂➝❭➡❿➻⑩Ò■➬✈➜✂➝❷➡✈➮✫➟⑥➥→➥❚➦❚➻⑥➥➫➧④➼①➻①➚➌❒➆➨➫➥→➥❏➡➢➝✚➦✲➟⑩➞♥➟⑩➬✈➝➒➞➢➝✚➼①➨➫➻①➚✂➡
Ò➑➞➢➻①➮ ❒➆➜✂➨→➩❤➜Õ➪✂➨➫Ó❚➝✚➞➢➝✚➚❫➬❼➚♦✃✂➮❼➺➱➝✚➞➢➡✟➻⑥Ò➆➨➔➬♥➝❭➞♥➟⑩➬✈➨→➻①➚✂➡➒➟⑥➞➢➝✫➚▼➝✚➩✚➝❭➡✈➡✈➟⑥➞➢➧➠➬♥➻✴➞➢➝✯➟⑥➩❤➜×➬✈➜✂➝➄➦▼➞✈➻❢Ü➢➝❭➩❭➬♥➨➫➚✂➼✴➡➢➨→➪✂➝
➻⑥Ò

Π
Ð✖➛s➜✂➝✖➮✫➟❢é✼➨→➮✫➟⑥➥✣➚♦✃✂➮✟➺❚➝❭➞➒➻⑩Ò➀➨➔➬♥➝✚➞✈➟⑩➬♥➨➫➻①➚✂➡❽➞➢➝✚å♦✃✂➨➫➞✈➝✚➪✏➬♥➻✜➞➢➝✯➟⑥➩❤➜Ö➬♥➜✂➝✖➦✂➞➢➻❢Ü➢➝✚➩❮➬♥➨→➻⑥➚Ö➦✂➟⑥➞➢➬➒➻⑥Ò❉➬♥➜▼➝

➦✂➥→➟⑥➚✂➝➆➻①✃▼➬✈➡✈➨➫➪✂➝ Pb

➨→➡✸➝❭å④✃✂➟⑥➥➱➬✈➻❲➬✈➜✂➝✥➚♦✃✂➮✟➺❚➝❭➞➂➻⑥Ò❏➡✈➨➫➪✂➝✚➡➂➻⑥Ò Pb

➳❫❒➆➜✂➨➫➩❤➜➌➨→➡✪➬✈➜✂➝✥➡✈➟⑥➮☎➝✮➟⑥➡✸➬♥➜▼➝✥➚♦✃✂➮❼➺➱➝✚➞
➻⑥Ò✸➡➢➨→➪✂➝❭➡❽➻⑥Ò Pf

Ð➋❳✥➝✚➚▼➩✚➝⑥➳➙➬✈➜✂➝❼➮☎➨→➚✂➨➫➮➄➟⑩➥➙➦❚➻⑥➥➫➧④➼①➻①➚ Pf

➨➫➡✥➨➫➚✂➪✂➝❭➝✚➪➏➬♥➜▼➝❼➡✈➮✫➟⑥➥→➥➫➝✚➡❸➬✮➦➱➻①➥➫➧④➼①➻⑥➚➏➟⑥➚✂➪➍➨➔➬♥➡
➪✂➝❮➬♥➝❭➞✈➮☎➨→➚✂➨➫➚✂➼❼➥→➨➫➚✂➝✚➡ Ki

➳
i ∈ 1, . . . , q

➩❭➻①➚❫➬❤➟⑥➨➫➚✕➬♥➜✂➝➒➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞✚Ð
Ñ❥➚✏➻①➞✈➪▼➝✚➞❽➬♥➻✕➩❤➜✂➟⑥➞♥➟⑥➩❮➬♥➝❭➞✈➨✍❲❭➝❼➬♥➜✂➝✖➟❢➬✈➬♥➞✈➟⑥➩❭➬✈➻①➞✮Ò➑✃✂➞❸➬♥➜✂➝❭➞✚➳➙❒➂➝✖➩✚➻①✃✂➚❫➬❷➬✈➜✂➝✝➚♦✃✂➮❼➺➱➝✚➞❷➡✈➨➫➪✂➝✚➡✭➻⑥Ò Pf

➨→➚
➬✈➜✂➝✭➚✂➝❮é④➬❿➡✈➝❭➩❭➬♥➨➫➻①➚➙Ð

❰✡➍➐➏ ÏÐ➟➋➡➣Ñ⑦➔✻➲Ò➜sÓ❨↕❴↔➙→✔➔✏↕➺➜sÓ
Pf➛s➜✂➝✫➚♦✃✂➮❼➺➱➝✚➞➒➻⑥Òs➡✈➨➫➪✂➝✚➡❲➻⑥Ò❜➬✈➜✂➝✫➮☎➨→➚▼➨→➮✫➟⑥➥✣➦➱➻①➥➫➧④➼①➻⑥➚ Pf

➤⑩➟⑥➞➢➨→➝❭➡➒❒➆➨➔➬♥➜Õ➦✂➟⑥➞♥➟⑥➮☎➝❭➬✈➝✚➞➢➡★❫✣➬✈➜✂➝➄➚♦✃✂➮❼➺➱➝✚➞
➩❤➜✲➟⑩➚✂➼①➝✚➡❜❒➆➜▼➝✚➚✜➬♥➜✂➞➢➝✚➝❷➪✂➨➔Ó❏➝❭➞✈➝✚➚❫➬➆➨➔➬♥➝✚➞✈➟⑩➬♥➝❭➡❜➻⑥Ò K0

➨→➚❫➬♥➝❭➞✈➡✈➝❭➩❭➬❿➟⑩➬➀➬♥➜✂➝❷➡✈➟⑥➮✫➝❷➦➱➻①➨➫➚♦➬✚Ð➣➛s➜✂➨➫➡❜➦❚➻⑥➨→➚❫➬s➩✯➟⑩➚
➺➱➝✥➪▼➝❭➬♥➝❭➞✈➮☎➨→➚✂➝❭➪➄➺❫➧☎➡➢➬✈➨→➦✂✃✂➥→➟⑩➬♥➨➫➚✂➼❷➬♥➜✲➟❢➬➂➬✈➜✂➝✮➨➫➚♦➬✈➝✚➞➢➡✈➝✚➩❮➬♥➨➫➻①➚➄➻⑥Ò Kn1

➟⑥➚▼➪ Kn2

➥→➨→➝❭➡✸➻①➚ Kn3

➳④Ò➑➻①➞✸➡➢➻①➮✫➝
n1 < n2 < n3

Ð✸➛s➜✂➝✭➨→➚❫➬✈➝✚➞✈➡➢➝✚➩❮➬♥➨→➻⑥➚✰➦➱➻①➨➫➚♦➬➆➻⑩Ò Kn1

➟⑥➚▼➪ Kn2

➨➫➡➆➟⑩➬

δ

sin(n1 − n2)α

(

en1β cos n2α − en2β cos n1α
en2β sin n1α − en1β sin n2α

)

.

ê✪✃▼➬➢➬♥➨→➚▼➼✖➬✈➜✂➨→➡s➦➱➻①➨➫➚♦➬❜➨→➚❫➬♥➻✝➬♥➜▼➝➒➪▼➝❭➬♥➝❭➞✈➮☎➨→➚✂➨➫➚✂➼✝➝✚å♦✃✲➟❢➬♥➨→➻⑥➚✰➻⑩Ò Kn3

❒➂➝❲➻⑥➺▼➬❤➟⑥➨➫➚➌➬♥➜✂➝✭➩❭➻①➚✂➪✂➨➔➬♥➨→➻⑥➚

en3β sin(n1 − n2)α + en2β sin(n3 − n1)α + en1β sin(n2 − n3)α = 0.
❩q❪❼❬

❇❿➻⑥➬♥➝➆➬♥➜✲➟❢➬➀➝❭å④✃✂➟⑩➬♥➨➫➻①➚➘❩q❪✌❬✸➪✂➻④➝✚➡❉➚✂➻⑥➬➀➪✂➝✚➦➱➝✚➚▼➪➌➻①➚➌➝❭➨➫➬♥➜▼➝✚➞
δ
➻⑥➞

γ
➳④➡✈➻✟➬✈➜✲➟⑩➬❉➬♥➜✂➝✥➚♦✃✂➮❼➺➱➝✚➞➀➻⑩Ò✺➡✈➨➫➪✂➝✚➡➂➻⑥Ò

Pf

➻①➚✂➥➔➧➄➩❤➜✲➟⑩➚✂➼①➝✚➡➆❒➆➜✂➝❭➚✰➤⑩➟⑥➞❸➧✼➨➫➚✂➼
α
➻①➞

β
Ðs❇✥➻⑥➬❿➟⑩➥→➥❚➬✈➞✈➨➫➦✂➥→➝❽➨➫➚❫➬♥➝✚➞➢➡✈➝❭➩❭➬♥➨➫➻①➚✂➡➆➩✚➞➢➝✯➟⑩➬✈➝➒➟✖➚▼➝❭❒ ➡➢➨→➪✂➝❷➻⑥➚

Pf

➳④➺➱➝✚➩✯➟⑩✃✂➡✈➝❿➬♥➜✂➝❮➧✫➩✚➟⑥➚➄➺➱➝➆Ò➑➻①➞✈➮☎➝✚➪☎➺❫➧✖➜✂➨→➼①➜▼➝✚➞✸➨➫➬✈➝✚➞♥➟❢➬♥➝✚➡❉➡✈➻➒➬♥➜✲➟❢➬❉➬✈➜✂➝❭➧✫➟⑥➞➢➝✥➻⑥✃▼➬♥➡➢➨→➪✂➝s➬♥➜▼➝✮➮☎➨→➚✂➨➫➮➄➟⑥➥
➦➱➻①➥➫➧④➼①➻⑥➚ Pf

Ð➍èÕ➝➄➩✯➟⑥➥➫➥❉➬✈➞✈➨→➦▼➥→➝❭➬✈➡
(n1, n2, n3)

❝❫á❄❡✝à→Þ❤Þ❮à✿Ô✚ß✍❞✫➨➫Òs➬♥➜▼➝❭➧×➩❭➞✈➝✚➟⑩➬♥➝✕➟➏➚▼➝❭❒✧➡✈➨→➪▼➝➌➻①➚ Pf

Ð
❇❿➻⑥➬♥➝s➬♥➜✂➟⑩➬❉➨➫Ò❏➟❷➬✈➞✈➨➫➦✂➥→➝❮➬

(n1, n2, n3)
➡♥➟⑩➬✈➨→➡ Ô ➝✚➡✔❩q❪❼❬✣➬✈➜✂➝✚➚☎➡✈➻➒➪✂➻④➝✚➡

(n1 +k, n2 +k, n3 +k)
➳
k ∈ Z

Ð
Õ✘➻⑥➞✈➝✚➻❋➤⑥➝✚➞✮➨➔Ò

(n1, n2, n3)
➨➫➡✥➟⑩➪✂➮✫➨➫➡✈➡➢➨→➺✂➥➫➝❽➬♥➜✂➝❭➚

(n1 + k, n2 + k, n3 + k)
➨➫➡❿➟⑥➥→➡➢➻➄➟⑥➪▼➮✫➨➫➡✈➡✈➨➫➺✂➥→➝✭➟⑩➡

➥➫➻①➚✂➼Ö➟⑥➡✝➬♥➜✂➝✕➬❥❒➂➻Õ➡➢➮➄➟⑥➥➫➥→➝❭➡➢➬✖➚♦✃✂➮❼➺➱➝✚➞➢➡✫➨➫➚ ➬✈➜✂➝✜➬♥➞✈➨➫➦✂➥→➝❮➬✝➞✈➝❮Ò➑➝✚➞✖➬♥➻Ö➡✈➨➫➪✂➝✚➡✖➻⑥Ò Pf

ÐÒ➇➀➝❭➩✯➟⑥✃▼➡✈➝ K1

➨→➡
➟⑥➥➔❒❜➟✯➧④➡➆➦✲➟⑥➞❸➬➆➻⑥Ò Pf

➟⑥➚✰➝✚å♦✃✂➨➔➤⑥➟⑩➥→➝✚➚▼➩✚➝❷➩✚➥→➟⑥➡✈➡➆➻⑥Ò✡➬♥➞➢➨→➦✂➥➫➝❭➬✈➡s➩✯➟⑥➚✜➺➱➝➒➞➢➝✚➦✂➞➢➝✚➡➢➝✚➚❫➬♥➝❭➪➏➺❫➧
(1, n2, n3)

Ð
Ø✮➥➔➬♥➜✂➻⑥✃✂➼①➜❼➬♥➜▼➝➆➟⑥➪✂➮☎➨→➡✈➡➢➨→➺✂➥➫➝➂➬✈➞✈➨→➦▼➥→➝✚➡✣➟⑥➞✈➝s➚▼➻⑥➬✸æ♦➚✂➻❋❒➆➚➃❩➋➧①➝❭➬✥❬❮➳①❒➂➝➆➩✯➟⑥➚✖➚♦✃✂➮☎➝✚➞✈➨➫➩✯➟⑥➥➫➥➫➧➒➩✚➻⑥➚✂➡➢➬✈➞✈✃✂➩❮➬➀➟

➩❤➜✲➟⑩➞➢➬➂➨→➚✝➬♥➜✂➝
(α, β)

❰➉➦✂➥❆➟⑩➚✂➝➀➬♥➜✂➟⑩➬➀➡➢➜✂➻❋❒➆➡❜➟⑥➥➫➥▼➬♥➜▼➝✮➟⑥➪▼➮✫➨➫➡✈➡✈➨➫➺✂➥→➝➀➨→➚❫➬♥➝❭➞✈➡✈➝❭➩❭➬✈➨→➻①➚✂➡❭Ð❭❉❽➺♦➤④➨➫➻①✃✂➡✈➥➔➧①➳❫➬♥➜▼➝✚➞✈➝❿➨→➡
➚✂➻✝➬❥❒➂➻⑩❰❥➡➢➨→➪✂➝❭➪✘➦➱➻①➥➔➧✼➼⑥➻①➚✜➡✈➻✝❒➀➝➒➮❼✃✂➡❸➬❿➨➫➬♥➝❭➞♥➟⑩➬✈➝ K0

➟❢➬✥➥➫➝✯➟⑥➡❸➬s➬♥➜✂➞➢➝✚➝❷➬♥➨➫➮✫➝❭➡✚Ð✪Ñ❥➚✜Ò●➟⑥➩❭➬✚➳▼Ò➑➻①➞
α < 2π/q➬✈➜✂➝✟➮☎➨→➚✂➨➫➮➄➟⑩➥❏➦➱➻①➥➫➧④➼①➻①➚✜❒➆➨→➥➫➥✺➩✚➻①➚▼➡✈➨→➡❸➬❽➻⑥Ò✪➟⑩➬✮➥➫➝✯➟⑥➡❸➬

max(3, q/2)
➡➢➨→➪✂➝❭➡✚Ð❢❳✥➝❭➚✂➩✚➝⑩➳❏➨→➚✰➬♥➜✂➝ Ô ➞➢➡➢➬❽➡❸➬♥➝❭➦

❒➂➝✕➩✚➻①➚▼➡➢➬♥➞➢✃✂➩❭➬✫➟⑥➚ ➨➫➚✂➨➫➬✈➨❆➟⑥➥✪➦➱➻①➥➫➧④➼①➻⑥➚ ➺♦➧Õ➨➫➬✈➝✚➞♥➟❢➬♥➨→➚▼➼ K0 max(3, q/2)
➬♥➨➫➮✫➝❭➡✚ÐÖØ❜➬✖➝❭➤①➝❭➞➢➧×Ò➑✃▼➞➢➬♥➜▼➝✚➞

➨➔➬♥➝✚➞✈➟⑩➬♥➨➫➻①➚✕❒➀➝✟➩❤➜✂➝✚➩❤æ✰❒➆➜✂➝❭➬✈➜✂➝✚➞✮➬✈➜✂➝✚➞➢➝✟➨➫➡✮➟⑥➚➏➟⑥➪✂➪✂➨➔➬♥➨→➻⑥➚✲➟⑥➥✺➨→➚❫➬✈➝✚➞✈➡➢➝✚➩❮➬♥➨→➻⑥➚✘❒➆➨➫➬✈➜✴➬♥➜▼➝✟➦➱➻①➥➫➧④➼①➻①➚❏ÐsÑ➉Ò✸➡✈➻✂➳
❒➂➝❼✃✂➦➱➪✲➟⑩➬✈➝❲➬♥➜▼➝✟➦➱➻①➥➫➧④➼①➻①➚❏➳➱➝❭➥→➡➢➝❲❒➂➝❼➞✈➝❭➩✚➻①➞➢➪➏➬♥➜✂➝❲➚④✃▼➮❼➺❚➝❭➞✮➻⑥Ò➣➡✈➨→➪▼➝✚➡✚Ð✔r✣➨→➼⑥✃✂➞✈➝✟➯✫➡✈➜▼➻☛❒➆➡✥➬♥➜✂➝❲➞✈➝✚➡➢✃✂➥➫➬
➻⑥Ò✡➬♥➜▼➝➒➩❭➻①➮☎➦✂✃▼➬❤➟❢➬♥➨→➻⑥➚➙Ð

Ø✮➡❷❒➂➝✫➩✚➟⑥➚Õ➡➢➝✚➝☎➨→➚❿r✣➨➫➼✂Ð✺➯➌➬♥➜✂➝✖➚♦✃✂➮❼➺➱➝✚➞✭➻⑥Ò➀➡✈➨➫➪✂➝✚➡✭➩❤➜✲➟⑥➚▼➼①➝✚➡✟➟⑥➥→➻①➚▼➼✕➥→➨→➚▼➝✚➡❽➬♥➜✂➟⑩➬❲➟⑥➥→➥■➻①➞✈➨➫➼①➨→➚✲➟❢➬♥➝
➟⑩➬

β = 0
➟⑥➚✂➪ ➩✚➻⑥➚✂➚✂➝✚➩❮➬✖➬❥❒➀➻✏➚✂➝❭➨→➼①➜♦➺➱➻①✃✂➞✈➨➫➚✂➼✴➞➢➻⑥➬❤➟❢➬♥➨→➻⑥➚×➚♦✃✂➮❼➺➱➝✚➞✈➡✝➻⑥➚×➬♥➜✂➝❘r✾➟⑥➞➢➝❭➧Ö➬♥➞✈➝❭➝⑥ÐÖ➛s➜✂➝✚➞➢➝

➟⑥➞➢➝✝➬♥➜✂➞➢➝✚➝✖➡✈➝❮➬♥➡➒➻⑥Ò❜➥➫➨→➚✂➝❭➡✚Ð❸❮✺➨→➚✂➝❭➡✭➨→➚➍➬♥➜✂➝ Ô ➞➢➡➢➬➒➡✈➝❮➬Ö❩➑➞✈➝❭➪❅❬✭➡❸➬❤➟⑥➞❸➬➒➟⑩➬
β = 0, α = 2π/q

➟⑥➚▼➪Ö➬✈➝✚➚✂➪
➬✈➻

β = ∞ ❫✺➬✈➜✂➝✚➡➢➝☎➥➫➨→➚✂➝❭➡❽➩✚➻⑥➚✂➚✂➝✚➩❮➬
0/1

➟⑥➚▼➪
1/q

➻⑥➚✏➬✈➜✂➝❸r✾➟⑥➞✈➝❮➧✴➬✈➞✈➝✚➝⑩Ð✝Ø✮➥➫➻①➚✂➼➄➬✈➜✂➝✚➡➢➝✫➥➫➨→➚✂➝❭➡❽➻①➚✂➥➔➧
➻①➚▼➝☎➡➢➨→➪✂➝✝➨➫➡✭➟⑥➪✂➪✂➝❭➪Õ➻①➞❷➞➢➝✚➮☎➻❋➤①➝✚➪✏Ò➑➞✈➻⑥➮ Pf

Ð❣❮✺➨→➚✂➝❭➡❷➻⑥Ò➀➬✈➜✂➝✖➡✈➝✚➩❭➻①➚✂➪✏➬❥➧④➦❚➝❺❩●➼①➞➢➝✚➝❭➚❅❬❽➩✚➻①➚✂➚▼➝✚➩❭➬➒➬❥❒➂➻

➽✒➉



r✣➨➫➼①✃✂➞➢➝➆➯❆t✡➛s➜✂➝✥➚♦✃✂➮✟➺❚➝❭➞✪➻⑥Ò❏➡➢➨→➪✂➝❭➡✸➻⑥Ò✾➬♥➜✂➝➆➦➱➻①➥➫➧④➼①➻①➚❏Ð✣➛s➜✂➝➆➞✈➝❭➪✖➥→➨→➚▼➝✚➡✸➟⑥➞➢➝s➩✚➻①➞➢➞✈➝✚➡➢➦❚➻⑥➚✂➪☎➬✈➻✭➦❚➻①➥➔➧④➼①➻①➚✂➡
❒➆➨➔➬♥➜×➞➢➻⑥➬❤➟⑩➬✈➨→➻①➚Õ➚④✃▼➮❼➺❚➝❭➞

1/q
➳➣➬✈➜✂➝✕➼①➞✈➝❭➝✚➚ ➥➫➨→➚✂➝❭➡✝➟⑥➞✈➝➄➩✚➻①➚✂➚▼➝✚➩❭➬✈➨→➚✂➼➏➬❥❒➂➻✏➚✂➝✚➨➫➼①➜♦➺❚➻⑥✃✂➞✈➨➫➚✂➼✴➞➢➝✚➡✈➻⑥➚✲➟⑥➚❫➬

➤⑩➟⑥➥➫✃✂➝✚➡❷➟❢➬
β = 0

➳✺➟⑥➚✂➪➏➬✈➜✂➝✝➺✂➥→✃▼➝❼➥→➨➫➚✂➝✚➡✥➩✚➻①➚✂➚▼➝✚➩❭➬✈➨→➚✂➼➌➬✈➜✂➝✝➡✈➨➫➚✂➼①✃✂➥→➟⑥➞❿➞✈➻⑥➬♥➟⑩➬♥➨➫➻①➚➏➚♦✃✂➮❼➺➱➝✚➞
1/2

❒➆➨➔➬♥➜
➨➔➬♥➡✡r✾➟⑥➞✈➝❮➧➌➚✂➝❭➨→➼①➜♦➺➱➻①✃✂➞➢➡✥➟❢➬➆➪✂➨➫Ó❚➝✚➞➢➝✚➚❫➬❿➥→➝❭➤⑥➝✚➥➫➡✚Ð

➞✈➟⑩➬♥➨➫➻①➚✲➟⑥➥✡➞✈➻⑥➬♥➟⑩➬♥➨➫➻①➚✴➚♦✃✂➮✟➺❚➝❭➞✈➡❷➻⑥Ò
α
➟⑩➬

β = 0
Ð➒➛s➜✂➝✝➬♥➜✂➨➫➞✈➪➏➡➢➝❭➬✭➻⑥Ò❉➥→➨➫➚✂➝✚➡❑❩●➺✂➥➫✃✂➝✒❬✥➩❭➻①➚✂➚✂➝❭➩❭➬

α = π➟⑥➚▼➪✘➨➔➬♥➡s➚✂➝❭➨→➼①➜♦➺➱➻①✃✂➞✈➡➆➻①➚✕➬✈➜✂➝❱r✾➟⑥➞➢➝❭➧✫➬♥➞✈➝❭➝✟➟❢➬➆➪✂➨➫Ó❚➝✚➞➢➝✚➚❫➬❿➥→➝❭➤⑥➝✚➥➫➡✚Ð❚❇✥➻⑥➬✈➝❽➬♥➜✲➟⑩➬ Pf
➨→➡➆➚✂➻⑥➬➆➪▼➝ Ô ➚✂➝❭➪➍➟⑩➬

α = π
Ðs❮✺➝❭➬❿✃✂➡➆➚✂➻❋❒ ➪✂➝❭➞✈➨➔➤①➝❷❒➆➜✂➝✚➚✴➟❼➬♥➞✈➨➫➦✂➥→➝❮➬s➻⑥Ò✡➬♥➜✂➝❷Ò➑➻①➞➢➮

(1, n2, n3)
➨→➡➆➟⑩➪✂➮✫➨➫➡✈➡➢➨→➺✂➥➫➝⑥Ð

×③ØÒÙ❴Ú✘Û◆Ü✞Ý✪Ü✿Þ✌ß✱à❈ß➳Û❤Û◆Ý✄á❅ß✱Þ✳â➊á➁ã❢Þ✌á➁Ø◆ä✭å✒Ý✳æ◆Þ❄å✄Ü✿Ø✾ç➶ß✱è❤Ú➹Ü✿ä❃ä❃Ü✞é❦à✞Ù③å✒Ý✳Ü✿Û◆à✞Ù➨å✒ä
Ø✥➡➒❒➂➝➌➚✂➻⑥➬✈➝✚➪➙➳✣➟⑥➥→➥✪➥➫➨→➚✂➝❭➡✭➨→➚➹r■➨→➼✂Ð✛➯✜➻①➞✈➨➫➼①➨→➚✂➟⑩➬♥➝✖➟⑩➬

β = 0
Ð✕Ñ❥➚Õ➬♥➜✂➝☎➥→➨➫➮✫➨➔➬

β → 0
➝✚å♦✃✲➟❢➬♥➨→➻⑥➚➊❩q❪✌❬

➺➱➝✚➩❭➻①➮✫➝❭➡
4 sin(n1 − n2)α sin(n3 − n1)α sin(n2 − n3)α = 0.

❩➇ä❼❬
Ø✥➡✈➡✈✃▼➮✫➨➫➚✂➼➄➬♥➜✂➟⑩➬

α = 2πp/q
➨➔➬✮Ò➑➻①➥➫➥→➻❋❒➆➡❿➬✈➜✲➟⑩➬

ni = nj + kq
➳
i 6= j

Ò➑➻⑥➞❽➡✈➻①➮☎➝
i, j ∈ {1, 2, 3} ÐÑ❥➚✰➻①➞✈➪▼➝✚➞❜➬♥➻✖➻①➺✼➬❤➟⑥➨➫➚✜➬✈➜✂➝✭➮✫➨➫➚✂➨→➮✫➟⑥➥✾➦➱➻①➥➫➧④➼①➻①➚➌❒➂➝➒➩❤➜✂➻✼➻⑥➡✈➝

k = 1
Ð

è➠➝✝➜✲➟✯➤①➝☎➟⑥➥→➡➢➻✕➚✂➻⑥➬✈➝✚➪➍➬♥➜✲➟❢➬❷➥→➨➫➚✂➝✚➡❽➨➫➚➘r✣➨→➼▼Ð➙➯➄➩❭➻①➚✂➚✂➝❭➩❭➬✭➬❥❒➀➻✰➚✂➝❭➨→➼①➜♦➺➱➻①✃✂➞✈➨➫➚✂➼➌➚♦✃✂➮❼➺➱➝✚➞➢➡❷➻①➚➍➬♥➜✂➝
r✾➟⑥➞➢➝❭➧➒➬♥➞✈➝❭➝❿➟⑥➚✂➪❼➬♥➜✂➟⑩➬❉➟⑥➚✝➝✚å♦✃✂➨➔➤⑩➟⑥➥→➝❭➚✂➩✚➝s➩❭➥❆➟⑥➡➢➡✪➻⑥Ò✾➬♥➜✂➝➆➟⑥➪▼➮✫➨➫➡✈➡✈➨➫➺✂➥→➝❉➬♥➞➢➨→➦✂➥➫➝❭➬♥➡■➩✯➟⑥➚✖➺➱➝s➞✈➝❭➦✂➞✈➝❭➡✈➝✚➚❫➬✈➝✚➪➄➺❫➧
(1, n2, n3)

Ð➣➛s➜✂➨➫➡✪➞✈➝✚➡➢✃✂➥➫➬✈➡✸➨→➚✝➬❥❒➀➻➒➝✚å♦✃✲➟❢➬♥➨→➻⑥➚✂➡✪Ò➑➻①➞
n2

➟⑥➚✂➪
n3

➳❫❒➆➜✂➨➫➩❤➜☎➧④➨➫➝✚➥→➪❼➬✈➜✂➝sÒ➑➻①✃✂➞✪➦➱➻①➡✈➡➢➨→➺✂➨➫➥→➨➔➬♥➨→➝❭➡
Ò➑➻①➞❜➬✈➜✂➝➒➟⑥➪✂➮☎➨→➡➢➡✈➨→➺▼➥→➝✥➬✈➞✈➨➫➦✂➥→➝❮➬♥➡★t

(a) (1, q1 + 1, q1 + q2 + 1),

(b) (1, q2 + 1, q1 + q2 + 1),

(c) (1, q1 + 1, q2 + 1),

(d) (1, q2 − q1 + 1, q2 + 1).

➽①➽



è➠➝✘➩❤➜▼➝✚➩❤æ ➬♥➜✂➝❭➡✈➝✘➦❚➻①➡➢➡✈➨➫➺✂➨→➥➫➨➫➬♥➨➫➝✚➡✝➟⑩➚✂➪ Ô ➚✂➪❐➬✈➜✲➟⑩➬✖➬♥➜✂➝✰➥❆➟⑩➡➢➬☎➻①➚✂➝✘❩●➪❅❬❼➪✂➝❭➡✈➩❭➞✈➨→➺➱➝✚➡➄➟⑥➥→➥➂➬♥➜✂➝✰➥→➨➫➚✂➝✚➡✖➨→➚
➬✈➜✂➝➌➪✂➨→➟⑥➼①➞♥➟⑩➮ ➨➔Òs❒➀➝✰➟⑥➥➫➥→➻❋❒

0/1
➟⑥➚✂➪

1/1
➟⑥➡✟➤⑩➟⑥➥➫➨→➪➠➞♥➟⑩➬✈➨→➻①➚✲➟⑩➥→➡❲Ò➑➞➢➻①➮ ❒➆➜✂➨→➩❤➜ ➬✈➜✂➝❘r✾➟⑥➞✈➝❮➧➠➬✈➞✈➝✚➝✕➨➫➡

➩❭➻①➚✂➡➢➬✈➞✈✃✂➩❮➬♥➝❭➪➙Ð

ê â❤ÙëÝ✪Ü✞ç❅á❅Ý✳á➁æ❤ä❑ß➳Û◆Û❤Ý✄á❅ß✱Þ✪â➾á❅ã❢Þ✌á➁Ø◆ä⑥å❃Ý✪æ❤Þ❄å✄Ü✿Ø❤ç❿ß✱è❤Ú➹Ü✿ä❃ä❃Ü✞é❦à✞Ùìå❃Ý✪Ü✞Û◆à✿Ù❼å✄ä
Ñ❥➚Õ➬✈➜✂➝☎➦✂➞✈➝❮➤✼➨➫➻①✃✂➡❲➡✈➝✚➩❮➬♥➨➫➻①➚Õ❒➂➝➌➺✲➟⑥➡➢➝✚➪×➻①✃▼➞ Ô ➚▼➪✂➨→➚✂➼⑥➡✟➻①➚➠➚④✃▼➮✫➝❭➞✈➨→➩✚➟⑥➥✸➻①➺✂➡➢➝✚➞➢➤⑩➟⑩➬✈➨→➻①➚▼➡✚➳➣➺✂✃✼➬❲❒➂➝➌➩✯➟⑩➚
➦✂➞➢➻❋➤①➝❼➻①✃▼➞✮➞✈➝❭➡✈✃✂➥➔➬✮➞➢➨→➼①➻⑥➞✈➻①✃✂➡➢➥➫➧⑥Ð❢r■➨→➞✈➡❸➬✥❒➂➝❼➚✂➝❭➝✚➪➏➬✈➻➌➦✂➞✈➻❋➤⑥➝✟➬♥➜✲➟❢➬❽➝❭➤⑥➝✚➞❸➧✴➦➱➻①➥➫➧④➼①➻⑥➚✴➨→➡✥➩✚➻①➚☛Ü➢✃✂➼❫➟⑩➬✈➝❲➬♥➻
➟✝➞✈➝❭➼①✃✂➥→➟⑥➞❜➻①➚✂➝⑩➳▼➬♥➜✂➟⑩➬➆➨→➡❭➳▼➬♥➜✂➝❷➡➢➨→➪✂➝❭➡sÒ➑➻①➥→➥➫➻☛❒ ➝✚➟⑥➩❤➜✰➻⑥➬♥➜✂➝❭➞❿➟⑥➩✚➩❭➻①➞✈➪✂➨➫➚✂➼❼➬♥➻☎➟✝➞✈➻⑩➬❤➟⑩➬✈➨→➻①➚➄❒➆➨➔➬♥➜✜➞✈➻⑩➬❤➟⑩➬✈➨→➻①➚
➚♦✃✂➮❼➺➱➝✚➞

p/q
Ð✣➛s➜✂➨➫➡➣➻④➩✚➩✚✃▼➞✈➡✪➝❮é▼➟⑥➩❮➬♥➥➔➧❲❒➆➜✂➝❭➚✖➡✈➨→➪▼➝✚➡✪➻⑥Ò✾➬♥➜▼➝❜➦❚➻⑥➥➫➧④➼①➻①➚✝➟⑩➞✈➝❜➩❭➻①➚✂➡➢➬✈➞✈✃✂➩❮➬♥➝❭➪✫➡➢➝✚å♦✃✂➝✚➚❫➬✈➨❆➟⑥➥➫➥➫➧

❒➆➨➔➬♥➜➏➝✚➟⑥➩❤➜✏➨➫➬♥➝❭➞♥➟⑩➬✈➨→➻①➚❏Ð➋❳✥➝❭➚✂➩✚➝⑩➳➙❒➀➝✝➚▼➝✚➝✚➪➍➬✈➻➌➦✂➞✈➻❋➤⑥➝✖➬✈➜✂➝✟Ò➑➻①➥➫➥→➻❋❒➆➨→➚▼➼☎➬❥❒➂➻✕➡➢➬✈➝✚➦✂➡⑥t❷➟❼❬❿➚▼➻✕➩✚➻①➮☎➦✂➥→➝❮➬♥➝
➡➢➨→➪✂➝❭➡✮➟⑥➞➢➝❲➞➢➝✚➮☎➻❋➤①➝✚➪✘➺❫➧✴➟⑩➚♦➧✜➨➔➬♥➝❭➞♥➟⑩➬✈➝✚➡❿➻⑥Ò K0

❫✾➺❅❬➆➟⑥➪✂➪✂➨➫➚✂➼✖➤①➝✚➞❸➬♥➨➫➩✚➝✚➡✥➡➢➬✈➻①➦✂➡✥➟⑩➬✮➡➢➻①➮☎➝➒➨➔➬♥➝❭➞♥➟⑩➬✈➝⑥Ð➀➛s➜▼➝
➦✂➞➢➻✼➻⑩Ò✣➻⑥Ò➣➟❼❬➀➨→➡s➬✈➞✈➨➫➤④➨→➟⑥➥✿➳✼➡✈➨→➚▼➩✚➝✭➝✯➟⑥➩❤➜✘➨➫➬✈➝✚➞♥➟❢➬♥➨→➻⑥➚✕➦✂➥❆➟⑥➩❭➝✚➡➆➥→➨➫➚✂➝✚➡sÒ●➟⑥➞❸➬♥➜✂➝❭➞sÒ➑➞✈➻①➮ ➬♥➜✂➝➒➻①➞✈➨➫➼①➨→➚❏Ð✪➛■➻☎➦✂➞✈➻❋➤⑥➝
➺❅❬❜❒➂➝✝➟⑥➡✈➡➢✃✂➮☎➝✟➟☎➩✚➻①➚❫➬♥➨➫➚♦✃✂➻①✃✂➡➢➥➫➧✰➩✚➻①➚▼➡➢➬♥➞➢✃✂➩❭➬✈➝✚➪➍➦➱➻①➥➫➧④➼①➻⑥➚✘➡➢✃✂➩❤➜➏➬♥➜✲➟❢➬ Kk

➪✂➻✼➝❭➡✮➚✂➻⑩➬❽➟⑥➪▼➪➏➟✫➤⑥➝✚➞➢➬✈➝❮é
➟⑥➚▼➪✏➬✈➜✂➝✝➩✚➥➫➻①➡✈➝❭➡➢➬❷➤⑥➝✚➞➢➬✈➝❮é✏➬✈➻➌➬♥➜✂➨➫➡❽➥→➨➫➚✂➝❼➨→➡❽➟⑩➬❷➬♥➜✂➝✝➨➫➚❫➬♥➝✚➞➢➡✈➝❭➩❭➬♥➨➫➻①➚✏➻⑥Ò Kn1

➟⑥➚✂➪ Kn2

Ð✟Ñ➉➬♥➝❭➞♥➟⑩➬✈➨→➚✂➼ KkÒ➑➻①➞❸❒❜➟⑩➞✈➪➙➳①➬✈➜✂➝➆➩✚➥→➻⑥➡✈➝✚➡❸➬✸➤①➝✚➞❸➬♥➝✓é✫❒➆➨➫➥→➥✼➺❚➝❿➟⑩➬
(n1 +j, n2 +j)

➟⑥➡✸➥→➻①➚▼➼✭➟⑥➡
n1 +j ≤ q

➟⑥➚✂➪
n2 +j ≤ q➟⑥➚▼➪✴➬♥➜✂➝✟➪✂➨→➡❸➬❤➟⑥➚✂➩❭➝✟✃✂➚▼➨➫Ò➑➻①➞➢➮✫➥➔➧✕➨→➚✂➩❭➞✈➝✚➟⑥➡✈➝❭➡✚➳➙➡➢➻➄➬♥➜✂➝❭➞✈➝❼➨➫➡✮➚✂➻➄➨→➚❫➬♥➝❭➞✈➡✈➝❭➩❭➬✈➨→➻①➚➙Ð✔❳✥➻❋❒➂➝❭➤①➝❭➞✚➳➙Ò➑➻①➞❿Ò➑✃✂➞➢➬✈➜✂➝✚➞

➨➔➬♥➝✚➞✈➟⑩➬♥➝❭➡❽➬♥➜✂➝☎➪✂➨➫➡➢➬❤➟⑩➚✂➩✚➝✝Ò➑➞✈➻⑥➮★➬♥➜✂➝✝➤⑥➝✚➞➢➬✈➨→➩❭➝✚➡➒➨→➚✂➩❭➞✈➝✯➟⑩➡✈➝✚➡➒➝❭➤⑥➝✚➚×➮☎➻①➞➢➝✝➡✈➨→➚▼➩✚➝✖➻⑥➬♥➜▼➝✚➞❷➤①➝❭➞➢➬♥➨➫➩✚➝❭➡❲➻⑥Ò➂➬♥➜✂➝
➮☎➨→➚✂➨➫➮➄➟⑩➥①➦❚➻⑥➥➫➧④➼①➻①➚➒❒➆➨➫➬♥➜✟➡✈➮✫➟⑥➥→➥➫➝✚➞✡➨➫➬♥➝❭➞♥➟⑩➬✈➝➀➚♦✃✂➮❼➺➱➝✚➞➢➡✣❒➆➨→➥➫➥❫Ò➑➻①➥→➥➫➻☛❒✭➳☛❒➆➜✂➨➫➩❤➜✖➟⑥➞✈➝❜➩❭➥→➻①➡➢➝✚➞✡➬♥➻✮➬✈➜✂➝❜➻①➞➢➨→➼①➨➫➚➙Ð
❳❿➝✚➚✂➩❭➝⑥➳➱➟⑥➚❫➧➌Ò➑✃✂➞❸➬♥➜✂➝❭➞❿➨➔➬♥➝❭➞♥➟⑩➬✈➝❽➪✂➻④➝✚➡➆➚✂➻⑥➬❿➨→➚❫➬✈➝✚➞✈➡➢➝✚➩❮➬ Pf

➟⑥➚❫➧④➮✫➻⑥➞✈➝⑥Ð
❮✺➝❭➬✝✃▼➡✝➚✂➻❋❒Ý➟⑥➡➢➡✈✃✂➮☎➝➄➬✈➜✲➟⑩➬❼➬✈➜✂➝➌➻①➞➢➪✂➝✚➞✝➻⑥Òs➬✈➜✂➝✕➡✈➨➫➪✂➝✚➡✟➻⑥Ò Pf

➩❭➻①➞✈➞➢➝✚➡➢➦❚➻①➚▼➪✂➡❼➬♥➻➏➬✈➜✂➝➌➞✈➻⑩➬❤➟⑩➬✈➨→➻①➚
➚♦✃✂➮❼➺➱➝✚➞

p/q
Ð➣è➠➝❽❒➆➞✈➨➔➬♥➝❷➬♥➜▼➨→➡s➞✈➻⑩➬❤➟⑩➬✈➨→➻①➚✕➚♦✃✂➮❼➺➱➝✚➞❿➟⑥➡❜➬✈➜✂➝❷r✾➟⑥➞✈➝❮➧✜➟⑥➪✂➪✂➨➔➬♥➨➫➻①➚

p

q
=

p1 + p2

q1 + q2

➻⑥Ò✪➬❥❒➂➻✕➚✂➝❭➨→➼①➜♦➺➱➻①✃✂➞✈➨➫➚✂➼➄➞✈➟⑩➬♥➨➫➻①➚✲➟⑥➥✛➚♦✃✂➮❼➺➱➝✚➞➢➡
p1/q1

➟⑥➚✂➪
p2/q2

Ð❽è➠➝✝➟⑥➞➢➝✟➥➫➻✼➻①æ♦➨➫➚✂➼✫Ò➑➻①➞❿➬♥➞✈➟⑥➚✂➡✈➨➔➬♥➨➫➻①➚✂➡
❒➆➜✂➝❭➚✰➬✈➜✂➞✈➝❭➝❲➚▼➝✚➨→➼⑥➜④➺➱➻①✃✂➞➢➨→➚✂➼✝➡➢➨→➪✂➝❭➡➆➻⑥Ò Pf

➡➢➬♥➟⑥➞➢➬➆➬✈➻☎➨➫➚❫➬♥➝✚➞➢➡✈➝❭➩❭➬✥➟⑩➬➆➻①➚✂➝✭➦➱➻①➨→➚❫➬❿➟⑥➚▼➪✰➬✈➜✂➝❷➡✈➨➫➪✂➝✭➨→➚✕➬♥➜✂➝
➮☎➨→➪✂➪▼➥→➝❽➨➫➡s➞✈➝✚➮☎➻❋➤①➝❭➪➙Ð❉è ➨➔➬♥➜✂➻⑥✃▼➬➆➥→➻①➡➢➡s➻⑥Ò■➼①➝✚➚✂➝❭➞♥➟⑥➥➫➨➫➬❥➧✫❒➀➝➒➩✯➟⑥➚✘➟⑥➡➢➡✈✃✂➮☎➝❷➬♥➜✲➟⑩➬s➬✈➜✂➨→➡➆➜✲➟⑩➦✂➦❚➝❭➚✂➡✥➟⑩➬s➬♥➜✂➝
Ô ➞➢➡➢➬✮➨➫➬♥➝❭➞♥➟⑩➬✈➝ K1

Ð✔❉❽➺❫➤✼➨➫➻①✃✂➡➢➥➫➧①➳ K1
➩✯➟⑩➚✂➚✂➻⑥➬✮➺❚➝❲➝❮é✼➩✚➥➫✃✂➪✂➝✚➪➏Ò➑➞➢➻①➮Ý➬♥➜▼➝✟➦➱➻①➥➫➧④➼①➻①➚❏➳➱➬✈➜✂➝✚➞➢➝❭Ò➑➻①➞➢➝⑥➳❏➝❭➨➫➬✈➜✂➝✚➞

➨➔➬♥➡❼➥➫➝❭Ò➋➬❼➻⑥➞✝➨➫➬♥➡✟➞✈➨→➼⑥➜♦➬✟➚✂➝✚➨➫➼①➜♦➺❚➻⑥✃✂➞❼❒➆➨→➥➫➥❉➤⑩➟⑥➚✂➨➫➡✈➜➙ÐÖÑ➉Ò❿➬♥➜✂➝✕➞➢➻⑥➬❤➟⑩➬✈➨→➻①➚Õ➚④✃▼➮❼➺❚➝❭➞✝➨→➡❼➪▼➝✚➩✚➞➢➝✯➟⑥➡➢➨→➚✂➼➍Ò➑➞➢➻①➮
p/q

➬♥➜✂➝❭➚➏➬♥➜✂➝❲➥→➝❭Ò➋➬✥➚✂➝❭➨→➼①➜♦➺➱➻①✃✂➞✥❒➆➨➫➥→➥➙➤⑩➟⑥➚✂➨➫➡✈➜➙➳❚➟⑥➚✂➪✴➨➫Ò✪➨➔➬✮➨➫➡✮➨→➚▼➩✚➞✈➝✚➟⑥➡✈➨➫➚✂➼✫➬✈➜✂➝✟➞➢➨→➼①➜❫➬✥➚✂➝✚➨➫➼①➜♦➺❚➻⑥✃✂➞✥❒➆➨➫➥→➥
➤⑩➟⑥➚✂➨➫➡✈➜➙Ð✡èÕ➝❿➟⑥➡➢➡✈✃✂➮☎➝s➬♥➜✲➟❢➬❉➬✈➜✂➝➆➞✈➨➫➼①➜❫➬❉➟⑥➚✂➪✖➥→➝❮Ò➋➬✸➚✂➝✚➨➫➼①➜♦➺❚➻①✃▼➞✈➡❉➟⑥➞✈➝❜➬✈➜✂➝

nR

➬♥➜✫➟⑥➚✂➪✖➬♥➜✂➝
nL

➬♥➜☎➨➫➬✈➝✚➞✈➟⑩➬♥➝
➻⑥Ò K1

➳❏➞✈➝❭➡✈➦➱➝✚➩❮➬♥➨➫➤⑥➝✚➥➔➧■❫❏➡✈➝✚➝❼➟⑥➥→➡➢➻Ör✣➨➫➼✂Ð✾➾▼Ð➋➇➂➝✚➩✯➟⑩✃✂➡✈➝❼➻⑩Ò➣➬♥➜✂➝
p/q

➞✈➻⑩➬❤➟⑩➬✈➨→➻①➚✜➬♥➜✂➝❭➡✈➝❼➚♦✃✂➮✟➺❚➝❭➞✈➡❽➩✚➟⑥➚➏➺➱➝
➩✚➟⑥➥→➩❭✃✂➥❆➟⑩➬✈➝✚➪✜➟⑥➡

nR
p

q
= kR +

1

q

➟⑩➚✂➪
nL

p

q
= kL − 1

q
,

❒➆➜✂➝❭➞✈➝
nR, nL, kR

➟⑥➚▼➪
kL

➟⑩➞✈➝✝➨→➚❫➬✈➝✚➼①➝❭➞✈➡✚Ð✝Ø❿Ò➋➬♥➝❭➞✭➟➌➡✈➨→➮☎➦✂➥➫➝❼➞✈➝✚➟⑥➞✈➞✈➟⑥➚✂➼①➝❭➮✫➝❭➚♦➬✭➨➔➬❽➬♥✃▼➞✈➚✂➡✭➻①✃▼➬❷➬✈➜✲➟⑩➬
➬✈➜✂➝✚➡➢➝➒➝❭å♦✃✲➟⑩➬♥➨➫➻①➚✂➡❿➟⑥➞➢➝✭➬✈➜✂➝❷r✾➟⑥➞✈➝❮➧➌➩✚➻⑥➚✂➪✂➨➫➬✈➨→➻①➚▼➡❜Ò➑➻①➞s➚✂➝✚➨➫➼①➜♦➺❚➻⑥✃✂➞✈➨➫➚✂➼❸r✾➟⑥➞✈➝❮➧➌➚♦✃✂➮❼➺➱➝✚➞➢➡✚➳✾➨✿Ð➘➝⑥Ð➔➳

p

q
− kR

nR
=

1

qnR

➟⑩➚✂➪ kL

nL
− p

q
=

1

qnL
.

➇➀➝❭➩✯➟⑥✃▼➡✈➝✮❒➂➝✮➩❭➻①➚✂➡➢➬✈➞✈✃✂➩❮➬♥➝❭➪
p/q

Ò➑➞✈➻⑥➮ ➬❥❒➀➻❼➩❭➻①➚✂➡➢➝✚➩✚✃✼➬♥➨➫➤⑥➝❽➚♦✃✂➮❼➺➱➝✚➞➢➡➀➻①➚➄➬✈➜✂➝❢r➱➟⑩➞✈➝❭➧✖➬✈➞✈➝✚➝⑩➳✼➨➔➬➂Ò➑➻⑥➥→➥→➻❋❒➆➡
➬✈➜✲➟⑩➬

nR = q1

➳
nL = q2

➳
kR = p1

➟⑩➚✂➪
kL = p2

Ð➘❇✥➻⑥➬✈➝➌➬♥➜✲➟⑩➬✟➜✂➝✚➞➢➝➌➬♥➜✂➝
L
➟⑥➚✂➪

R
➨➫➚✂➪✂➨➫➩✚➝✚➡

➽☛➴



r✣➨➫➼①✃✂➞➢➝✫➾❆t✝Ø ➬✈➞✈➨→➦▼➥→➝✖➨→➚❫➬♥➝❭➞✈➡➢➝✚➩❭➬✈➨→➻①➚×➟⑩➬ K1

➮✟✃✂➡➢➬✟➩✯➟⑥✃✂➡➢➝➄➞➢➝✚➮☎➻☛➤⑩➟⑥➥✸➻⑥Ò➆➝❭➨➫➬✈➜✂➝✚➞➒➚✂➝✚➨➫➼①➜♦➺❚➻⑥✃✂➞✈➨➫➚✂➼✘➡➢➨→➪✂➝
KnL+1

➻①➞ KnR+1

➳✼➪✂➝❭➦❚➝❭➚✂➪✂➨➫➚✂➼✟➻①➚☎❒➆➜✂➝❭➬✈➜✂➝✚➞➂➬♥➜✂➝❿➞✈➻⑥➬♥➟⑩➬♥➨➫➻①➚☎➚④✃▼➮❼➺❚➝❭➞➀➨➫➡➂➪✂➝❭➩✚➞➢➝✯➟⑥➡➢➨→➚✂➼❲➻①➞➂➨➫➚✂➩✚➞➢➝✯➟⑥➡➢➨→➚✂➼
Ò➑➞➢➻①➮

p/q
➳▼➞✈➝✚➡➢➦❚➝❭➩❭➬✈➨➫➤①➝❭➥➫➧⑥Ð

➮☎➨→➼①➜❫➬s➚▼➝✚➝✚➪✜➬♥➻☎➺➱➝❷➨→➚❫➬♥➝❭➞✈➩❤➜✲➟⑥➚▼➼①➝✚➪➙Ð❚➆➆➝✚➼①✃✂➥→➟⑥➞✈➨➔➬❥➧➄➨➫➮✫➦▼➥→➨→➝❭➡➂➬✈➜✲➟⑩➬s➬♥➜▼➝➒➡➢✃✂➺✂➡➢➝✚å♦✃✂➝✚➚❫➬❷➚▼➝✚➨→➼⑥➜④➺➱➻①✃✂➞➢➡➆➟⑥➞✈➝
➨➔➬♥➝✚➞✈➟⑩➬♥➝❭➡

2nR mod q
➟⑥➚✂➪

2nL mod q
➻⑩Ò K1

➬♥➻☎➬♥➜✂➝❲➞✈➨→➼⑥➜♦➬✥➟⑥➚▼➪✴➥→➝❮Ò➋➬✯➳✾➞✈➝❭➡✈➦➱➝✚➩❮➬♥➨➫➤⑥➝✚➥➔➧①Ð➆Ø✮➡➢➡✈✃✂➮☎➨→➚✂➼
➬✈➜✲➟⑩➬

q1 < q2
❒➂➝❲➼⑥➝❭➬s➬♥➜▼➝➒➦➱➻①➡➢➡✈➨→➺▼➥→➝❽➬♥➞➢➨→➦✂➥➫➝❭➬✈➡

(1, 2nR mod q, nR + 1) = (1, 2q1 + 1, q1 + 1)
❩❸➽✒➉❼❬

➟⑥➚▼➪
(1, 2nL mod q, nL + 1) = (1, q2 − q1 + 1, q2 + 1).

❩❸➽①➽✄❬
ç✼✃▼➺✂➡➢➬✈➨➫➬♥✃✼➬♥➨→➚▼➼➓❩❸➽❃➉❼❬❿➨➫➚♦➬✈➻➘❩q❪✌❬✥➼①➨➫➤⑥➝✚➡

sin q1α = 0
➳❏❒➆➜▼➨→➩❤➜➍➨→➡✮➟➄➡✈➦▼✃✂➞✈➨➫➻①✃✂➡❽➞➢➝✚➡✈✃▼➥➫➬✯Ð❒❳❿➻❋❒➀➝❮➤①➝✚➞❭➳❚❩❸➽①➽✄❬

➧④➨→➝❭➥→➪✂➡➀➟✟➤⑩➟⑥➥→➨➫➪➄➬♥➞➢➨→➦✂➥➫➝❭➬✯➳♦➬♥➜✂➟⑩➬❜➞➢➝✚➦✂➞➢➝✚➡✈➝❭➚❫➬♥➡➆➬♥➜✂➝❷➡➢➝❭➬s➻⑥Ò✡➥➫➨→➚✂➝❭➡➂➬♥➜✂➟⑩➬s➡➢➬♥➟⑥➞➢➬➀Ò➑➞✈➻①➮
β = 0

➟⑥➚✂➪✕➩✚➻⑥➚✂➚✂➝✚➩❮➬
➬✈➜✂➝✮➞➢➻⑥➬❤➟⑩➬✈➨→➻①➚▼➡➂➚♦✃✂➮❼➺➱➝✚➞➢➡

p1/q1

➟⑥➚▼➪
p2/q2

Ð➣è ➨➫➬✈➜✫➬♥➜▼➨→➡❜➟⑩➚✲➟⑥➥➫➧④➡➢➨→➡✸❒➀➝❽➩✚➟⑥➚➌➚✂➻❋❒➶➩✚➻⑥➚✂➡➢➬✈➞✈✃✂➩❮➬✡r✣➨→➼▼Ð▼➯
➺❫➧✕➨➫➮✫➦✂➥➫➨→➩❭➨➫➬♥➥➔➧✝➦✂➥➫➻⑥➬✈➬✈➨→➚✂➼❼➬✈➜✂➝✭➡✈➻①➥➫✃▼➬♥➨➫➻①➚✂➡❜➻⑥Ò➎❩q❪✌❬➂Ò➑➻①➞s➪✂➨➫Ó❚➝✚➞➢➝✚➚❫➬✥➟⑥➪✂➮☎➨→➡➢➡✈➨→➺▼➥→➝✥➬✈➞✈➨➫➦✂➥→➝❮➬♥➡✚Ð

❰✡➍➯➌ í❐➝✔➔■➻✳→❢↔✁➡➥➔✏➝❢↕❆↔➙➜s➝✔➤s➼❑→❹➠➅➝✔➤❭➡➥↔➙➛✜↕➺➜s➝î➞❆➒❢➔❾➤❊➞➨➞❆➲✴➤s➛➁➞❆➜❈➲
➛s➜✂➝❲➪▼➧④➚✲➟⑥➮☎➨→➩❭➡❿➻⑥➚✘➬♥➜▼➝✟➦➱➻①➥➫➧④➼①➻①➚✂➟⑥➥➔❰➉➡✈➜✲➟⑥➦➱➝✚➪✰➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞➆➩✯➟⑥➚➏➺➱➝➒➞✈➝✚➪▼✃✂➩✚➝❭➪➏➬♥➻✖➬♥➜✂➝❲➡➢❒➆➨➫➬✈➩❤➜✂➨→➚▼➼➄➥→➨➫➚✂➝
K0

➺♦➧✴➬❤➟⑥æ♦➨→➚▼➼✰➨➫➚❫➬♥➻✰➟⑥➩✚➩❭➻①✃✂➚❫➬❲➜✂➻❋❒ ➮✫➟⑥➚❫➧➍➨➫➬✈➝✚➞♥➟❢➬♥➨→➻⑥➚✂➡❷➟⑥➞➢➝☎➚▼➝✚➩✚➝❭➡✈➡✈➟⑥➞➢➧✏➬♥➻✰➞✈➝✚➟⑥➩❤➜✏➬♥➜✂➝☎➦✂➞✈➻☛Ü➢➝✚➩❭➬✈➨→➻①➚
➞➢➝✚➼①➨➫➻①➚ ➟⑥➼①➟⑥➨→➚➙Ð ➛s➜✂➝❭➞✈➝❮Ò➑➻①➞✈➝⑩➳➆❒➂➝➏➡➢✃✂➺❚➪▼➨➫➤④➨→➪✂➝✰➬♥➜✂➝✘➦✂➜✲➟⑥➡➢➝➏➦✂➥→➟⑥➚✂➝✰➨→➚❫➬♥➻➠➞✈➝✚➼⑥➨→➻①➚✂➡

Sm

Ò➑➞✈➻①➮ ❒➆➜✂➨➫➩❤➜
m
➨➔➬♥➝❭➞♥➟⑩➬✈➨→➻①➚✂➡✝➺▼➞✈➨→➚▼➼➠➟Ö➦❚➻⑥➨→➚❫➬✝➬♥➻Ö➬♥➜✂➝✰➻⑥➬♥➜▼➝✚➞✖➡✈➨➫➪✂➝✘➻⑩Ò K0

Ð ➛s➜✂➝❭➡✈➝✘➞✈➝✚➼⑥➨→➻①➚✂➡☎➟⑥➞➢➝✘➡➢➝✚➦✲➟⑩➞♥➟⑩➬✈➝✚➪Ú➺❫➧
➦✂➞➢➝✚➨➫➮➄➟⑥➼⑥➝✚➡❉➻⑥Ò K0

➨→➚➌➡➢✃✂➩❤➜✜➟❲❒➀➟✯➧✫➬✈➜✲➟⑩➬➀➬✈➜✂➝ Ô ➞➢➡➢➬s➦▼➞✈➝✚➨➫➮➄➟⑩➼①➝ K−1

➪▼➨➫➤④➨→➪✂➝❭➡➂➬✈➜✂➝✮➦✂➜✂➟⑥➡✈➝❽➦▼➥❆➟⑥➚✂➝✥➨→➚❫➬♥➻
➬❥❒➂➻✫➜✂➟⑥➥➫Ò■➦✂➥❆➟⑩➚✂➝✚➡➆➻①➚✂➝✭➻⑥Ò■❒➆➜✂➨→➩❤➜✰➮✫➟⑥➦✂➡s➬♥➻✖➬♥➜✂➝✭➻⑥➬✈➜✂➝✚➞➆➡➢➨→➪✂➝✭➻⑥Ò K0

➟⑩Ò➋➬✈➝✚➞➆➻①➚✂➝✭➨➫➬✈➝✚➞✈➟⑩➬♥➝⑩Ð❉➛s➜▼➝❲➻⑥➬✈➜✂➝✚➞
➜✲➟⑩➥➫Ò➱➦✂➥❆➟⑩➚✂➝➆➨→➡✪➪✂➨➔➤✼➨➫➪✂➝✚➪☎➺❫➧✝➬♥➜✂➝➆➡➢➝✚➩✚➻⑥➚✂➪➄➦✂➞➢➝✚➨➫➮➄➟⑥➼⑥➝ K−2

➨→➚❫➬✈➻✭➬❥❒➂➻✟➞➢➝✚➼①➨➫➻①➚✂➡✪➻⑥Ò➱❒➆➜✂➨➫➩❤➜➄➻①➚✂➝➆➮✫➟⑥➦✂➡✪➬♥➻
➬✈➜✂➝❲➻⑩➬♥➜✂➝❭➞❿➡➢➨→➪✂➝➒➻⑥Ò K0

➟⑩Ò➋➬♥➝❭➞❿➬❥❒➂➻➄➨➔➬♥➝❭➞♥➟⑩➬✈➝✚➡✚➳➱➟⑥➚▼➪✴➡✈➻☎➻①➚➙Ð➀Ø✮➡✈➡➢✃✂➮☎➨→➚✂➼✫➟
p/q

➞✈➻⑥➬♥➟⑩➬♥➨➫➻①➚✜➚♦✃✂➮❼➺➱➝✚➞❿➻⑥Ò
➬✈➜✂➝s➮✫➨➫➚✂➨→➮✫➟⑥➥❫➦➱➻①➥➫➧④➼①➻⑥➚➙➳⑥❒➂➝❿➚▼➝✚➝✚➪✖➬♥➻❷➩❭➻①➚✂➡➢➨→➪✂➝❭➞✪✃✂➦✝➬♥➻

q
➦✂➞➢➝✚➨➫➮➄➟⑥➼⑥➝✚➡✣➬✈➻➒➩❭➻❋➤①➝✚➞✪Ò➑✃✂➥➫➥➫➧✭➬♥➜▼➝❿➡❸❒➆➨➫➬✈➩❤➜✂➨→➚✂➼

➥➫➨→➚✂➝❿❒➆➨➫➬♥➜✕➞➢➝✚➼①➨➫➻①➚✂➡
Si

➳
1 ≤ i ≤ q

Ðs➆➆➝✚➩✚➟⑥➥→➥➱➬♥➜✲➟❢➬❜➬♥➜✂➝❷➚♦✃✂➮✟➺❚➝❭➞s➻⑥Ò✡➞✈➝✚➼⑥➨→➻①➚✂➡➀➩✚➻❋➤①➝❭➞✈➨→➚▼➼ K0

➪✂➝✚➦➱➝✚➚✂➪▼➡
➻①➚

α
➟⑥➚▼➪

β
➳✂➺✂✃✼➬✥➚▼➻⑥➬➆➻①➚

γ
Ð✪➛s➜✂➝❲➞➢➝✚➡➢✃✂➥➫➬✈➨→➚✂➼✝➝❭å④✃✂➟⑩➬♥➨➫➻①➚✜➨→➡s➻⑥Ò■➬♥➜✂➝❷Ò➑➻①➞➢➮

y 7→ y∗ + J2(M
my − y∗), y ∈ Sm ∩ K0,

❩♠➽☛➴✌❬
❒➆➨➔➬♥➜

y = (x, δ)
Ð➣èÕ➝❷➚✂➻⑩➬♥➝❽➬♥➜✂➟⑩➬❜➬♥➜▼➨→➡s➝✚å♦✃✲➟❢➬♥➨→➻⑥➚✕➪✂➻✼➝❭➡s➚✂➻⑥➬➆➼①✃✂➟⑥➞♥➟⑥➚❫➬✈➝✚➝❽➬♥➜✂➟⑩➬❜➬♥➜▼➝❷➪▼➧④➚✲➟⑥➮☎➨→➩✚➡❜❒➆➨➫➥→➥

➡❸➬❤➟✯➧✏➨→➚✏➺➱➝❭➬❥❒➂➝✚➝✚➚➠➬♥➜✂➝✖➤①➝❭➞➢➬♥➨➫➩✚➝❭➡❲➻⑥Ò➂➬♥➜✂➝☎➦➱➻①➥➫➧④➼①➻①➚❏➳✺➡✈➻✘➬✈➜✲➟⑩➬➒➨➫➬✭➨➫➡✭➚✂➻⑥➬➒➦❚➻⑥➡✈➡✈➨➫➺✂➥→➝❼➬✈➻✘➪▼➝✚➡✈➩❭➞✈➨➫➺❚➝✖➬♥➜✂➝
➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡➆➟⑥➥➫➻①➚✂➼❼➬♥➜▼➝❲➟⑩➞✈➩✚➥➫➝✚➚✂➼⑩➬♥➜✜➻⑥Ò✡➬♥➜✂➝✭➦➱➻①➥➫➧④➼①➻①➚❏Ð

➽❋➹



r✣➨➫➼①✃✂➞➢➝✟➵❴t❿ç✼✃✂➺➱➪✂➨➫➤④➨→➡➢➨→➻①➚✘➻⑥Ò➣➬✈➜✂➝❼➦✂➜✲➟⑩➡✈➝✟➡➢➦✲➟⑥➩❭➝❼➨→➚❫➬♥➻✫➞✈➝❭➼①➨→➻①➚▼➡
Sk

Ò➑➞✈➻①➮ ❒➆➜✂➨➫➩❤➜
k
➨➔➬♥➝✚➞✈➟⑩➬♥➨➫➻①➚✂➡➆❒➆➨➫➬✈➜

M
➟⑥➞➢➝✮➚✂➝❭➩✚➝❭➡✈➡♥➟⑩➞➢➧➌➬✈➻❼➮➄➟⑩➦➌➦❚➻⑥➨→➚❫➬♥➡➂➻☛➤⑥➝✚➞❜➬✈➜✂➝❽➡➢❒➆➨➔➬♥➩❤➜✂➨➫➚✂➼❼➥➫➨→➚✂➝⑩Ð✣➛s➜✂➝❷➦✂➨➫➩❭➬✈✃✂➞✈➝✥➜✂➻①➥→➪▼➡➀å♦✃✲➟⑥➥➫➨➫➬❤➟❢➬♥➨➫➤⑥➝✚➥➔➧

Ò➑➻①➞➆➟⑩➥→➥
α = 2π/3

➳
β > 0

Ð

Ñ❥➚➍❒➆➜✲➟⑩➬✭Ò➑➻①➥➫➥→➻❋❒➆➡✮❒➂➝☎➦▼➞✈➝✚➡➢➝✚➚❫➬➒➬♥➜✂➝✝➡➢➦❚➝❭➩✚➨❆➟⑩➥➣➩✯➟⑥➡➢➝⑥➳✺❒➆➜✂➝❭➞✈➝✖➬♥➜✂➝✝➮☎➨→➚✂➨➫➮➄➟⑩➥✡➦➱➻①➥➔➧✼➼⑥➻①➚➍➜✲➟⑥➡❷➬♥➜▼➞✈➝✚➝
➡➢➨→➪✂➝❭➡❼➟⑩➬

α = 2π/3
➟⑥➚✂➪

β = log 1.2
Ð✴➛s➜▼➝➌➡✈✃✂➺➱➪✂➨➔➤✼➨➫➡✈➨➫➻①➚Õ➻⑥Ò➀➬♥➜✂➝➌➦▼➜✲➟⑥➡✈➝➄➡✈➦✲➟⑥➩❭➝➌➩✯➟⑩➚ ➺❚➝✫➡✈➝✚➝❭➚

➨➫➚Òr✣➨➫➼✂Ð❉➵✼Ð ➛s➜✂➝❭➞✈➝➍➟⑥➞➢➝✰➬✈➜✂➞✈➝❭➝✴➞➢➝✚➼①➨➫➻①➚✂➡
S1

➳
S2

➟⑥➚✂➪
S3

➬♥➜✂➟⑩➬➄➩❭➻❋➤①➝✚➞ K0

➳❜➬♥➜✂➝❭➞✈➝❭Ò➑➻⑥➞✈➝✘➬✈➜✂➝✴➻⑥➚✂➝❮❰
➪✂➨➫➮✫➝❭➚✂➡✈➨➫➻①➚✲➟⑥➥✼➮➄➟⑩➦☎❒➆➨➫➥→➥✂➩❭➻①➚✂➡✈➨➫➡➢➬❉➻⑥Ò❚➬♥➜✂➞➢➝✚➝❿➦✂➨→➝❭➩✚➝✚➡❭Ð✪Ñ❥➚✂➨➫➬✈➨❆➟⑥➥✼➦❚➻⑥➨→➚❫➬♥➡✪Ò➑➞✈➻⑥➮ ➻⑥➬♥➜▼➝✚➞❉➞✈➝✚➼⑥➨→➻①➚✂➡

Sk

➳
k > 3❒➆➨➫➥→➥❜➞➢➝✯➟⑥➩❤➜Ï➬♥➜✂➝✘➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞✝➨➫➚ Ô ➚✂➨➫➬✈➝✚➥➫➧Õ➮➄➟⑩➚♦➧ ➡❸➬♥➝❭➦✂➡✚Ð➊r■➨→➼①✃✂➞➢➝❘❪Ö➡➢➜✂➻❋❒➆➡✫➬✈➜✂➝✘➻⑥➚✂➝❮❰➉➪✂➨→➮☎➝✚➚✂➡➢➨→➻①➚✂➟⑥➥

➮✫➟⑥➦✜Ò➑➻①➞
α = 2π/3

➳
β = log 1.2

➟⑥➚▼➪✰Ò➑➻①✃▼➞✥➪✂➨➔Ó❏➝❭➞✈➝❭➚♦➬✥➦✂➞➢➻❢Ü➢➝✚➩❮➬♥➨→➻⑥➚✴➟⑥➚▼➼①➥→➝❭➡
γ
Ð➅r✲➻①➞

γ = 0.75π
➟

➦➱➝✚➞➢➨→➻④➪✼❰➉➬❥❒➂➻✝➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞➀➝❮é✼➨➫➡➢➬♥➡⑥❫✂➡✈➝❭➝❒r✣➨→➼▼Ð✴❪▼Ð✍❩➇➟✌❬❮Ð➣➛s➜✂➨➫➡s➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞➀➨→➡➀➡➢➬❤➟⑩➺✂➥→➝❽➺➱➝✚➩✚➟⑥✃✂➡➢➝❽➬♥➜✂➝❽➦▼➞✈➻④➪✂✃✂➩❭➬
➻⑥Ò✸➬✈➜✂➝✖➟⑥➺✂➡➢➻①➥→✃▼➬✈➝❼➡✈➥➫➻①➦➱➝✚➡❷➻⑥Ò✸➬♥➜▼➝☎➮✫➟⑥➦➏➻⑥➚✏➬✈➜✂➝✝➥→➝❮Ò➋➬✭➟⑥➚✂➪➍➬✈➜✂➝✝➞✈➨➫➼①➜❫➬❷➡✈➨➫➪✂➝✝➨→➡❽➡➢➮➄➟⑩➥→➥→➝❭➞❿➬✈➜✲➟⑥➚✏✃✂➚✂➨➔➬❥➧①Ð
❇❿➻⑥➬♥➝☎➬♥➜✲➟⑩➬❼➟➏➦❚➻⑥➨→➚❫➬✟➨➫➚Õ➬♥➜▼➝➌➮✫➨➫➪✂➪✂➥➫➝☎➨➫➚❫➬♥➝✚➞❸➤⑩➟⑥➥➂➮✟✃✂➡➢➬✝➺➱➝➄➨➫➚❫➬♥➝✚➞➢➦✂➞✈➝❮➬♥➝❭➪❐➟⑩➡❲➬♥➜▼➞✈➝✚➝➄➨➫➬♥➝❭➞♥➟⑩➬✈➨→➻①➚▼➡✟➟⑥➚▼➪
➟➄➦➱➻①➨➫➚♦➬✮➻①➚✴➬✈➜✂➝❼➞✈➨➫➼①➜❫➬❽➜✲➟⑩➥➫Ò✪➥➫➨→➚✂➝➒➨→➚✂➪▼➨→➩✯➟❢➬♥➝✚➡❿➬❥❒➀➻✕➨➔➬♥➝❭➞♥➟⑩➬✈➨→➻①➚✂➡❿➻①➚➏➬✈➜✂➝✝➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞✚Ð✮➛s➜▼➝✚➞✈➝❮Ò➑➻①➞✈➝⑩➳➙➬♥➜✂➝
➦➱➝✚➞➢➨→➻④➪✼❰➉➬❥❒➂➻✭➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞✣➜✲➟⑥➡✸➦❚➝❭➞✈➨➫➻✼➪❼➬✈➜✂➞✈➝❭➝❿➻⑥➚✖➬✈➜✂➝➆➦❚➻⑥➥➫➧④➼①➻①➚✲➟⑩➥➔❰❥➡➢➜✲➟⑥➦➱➝✚➪❼➨➫➚❫➤⑥➟⑩➞✈➨❆➟⑩➚♦➬➣➡✈➝❭➬✚Ð➣Ñ❥➚✂➩❭➞✈➝✯➟⑩➡✈➨→➚▼➼
γ
➥➫➝✯➟⑥➪▼➡✸➬✈➻✟➦➱➝✚➞➢➨→➻④➪✫➪✂➻⑥✃✂➺✂➥→➨➫➚✂➼➒➟⑩Ò➋➬♥➝❭➞❉❒➆➜▼➨→➩❤➜➄➨➫➮✫➮☎➝✚➪▼➨❆➟⑩➬✈➝❜➩❤➜✲➟⑥➻①➡➀➟⑥➞✈➨➫➡✈➝❭➡★❫④➡✈➝✚➝✔r✣➨→➼▼Ð➨❪▼Ð✶❩➑➺❅❬❥❰ï❩●➩❃❬❮Ð❈ð❿➡✈➨→➚▼➼

➡➢➨→➮❼✃✂➥→➟⑩➬♥➨➫➻①➚☎➨➫➬s➩✚➟⑥➚✜➺❚➝❷➪✂➝❭➮✫➻⑥➚✂➡➢➬✈➞♥➟⑩➬✈➝✚➪➌➬♥➜✂➟⑩➬s➬♥➜✂➝✭➟❢➬✈➬♥➞✈➟⑥➩❭➬✈➻①➞❜➨➫➚③r✣➨→➼▼Ð➳❪▼Ð✍❩●➩❃❬➂➨→➡❜➨➫➚✂➪✂➝❭➝✚➪✜➩❤➜✲➟⑥➻⑥➬✈➨→➩⑩Ð✪Ñ❥➚
➬✈➜✂➝s➨→➚✂➡➢➝❭➬❉➻⑥Ò✜r✣➨→➼▼Ð✌❪▼Ð✍❩●➩❃❬■➬♥➜✂➝❭➞✈➝❿➟⑥➞✈➝s➬❥❒➂➻❲➨➫➚❫➬♥➝✚➞❸➤⑩➟⑥➥→➡❭➳①➪✂➝✚➚▼➻⑥➬♥➝❭➪➄➺❫➧

0
➟⑥➚✂➪

1
➳①➬✈➜✲➟⑩➬❉➟⑥➞➢➝s➮➄➟⑥➦▼➦❚➝❭➪☎➻⑥➚♦➬✈➻

➝✚➟⑥➩❤➜Õ➻⑥➬✈➜✂➝✚➞❭ÐÖð❿➡✈➨→➚▼➼✰➬✈➜✂➝✫➻❋➤⑥➝✚➞✈➥→➟⑥➦Ö➻⑥Ò➀➬✈➜✂➝✫➨➫➚❫➬♥➝✚➞❸➤⑩➟⑥➥→➡➒➟⑥➚✂➪✏➬♥➜▼➝✚➨→➞✭➨➫➮➄➟⑥➼⑥➝✚➡✭➟✜➡✈➻⑩❰➉➩✯➟⑥➥➫➥→➝✚➪➍➬✈➞♥➟⑥➚✂➡➢➨➫➬✈➨→➻①➚
➮✫➟⑩➬♥➞➢➨➔é✏➩✚➟⑥➚×➺➱➝➄➩❭➻①➚✂➡➢➬✈➞✈✃✂➩❮➬♥➝❭➪Ï➡➢✃✂➩❤➜×➬♥➜✂➟⑩➬❼➨➔➬♥➡

(i, j)
➬♥➜Õ➝✚➥→➝❭➮✫➝❭➚❫➬❼➨→➡➒➻①➚✂➝✫➻①➞❱❲❭➝✚➞➢➻➏➪✂➝✚➦➱➝✚➚▼➪✂➨→➚✂➼✴➻①➚

❒➆➜✂➝❮➬♥➜✂➝❭➞➄➬♥➜▼➝✴➨→➮✫➟⑥➼①➝✜➻⑥Ò✭➨➫➚❫➬♥➝✚➞❸➤⑩➟⑥➥
j
➩❭➻①➚❫➬❤➟⑥➨➫➚✂➡✫➬✈➜✂➝➏➨➫➚♦➬✈➝✚➞❸➤⑥➟⑩➥

i
➻①➞✫➚▼➻⑥➬✯Ð ➛s➜✂➝➏➮✫➟⑩➬♥➞➢➨➔é Ò➑➻①➞☎➻①✃▼➞

➝✓é✂➟⑩➮✫➦✂➥➫➝❷➨→➡
(

1 1
1 0

)

.

➛s➜✂➨➫➡❷➮➄➟❢➬♥➞✈➨ré➍➨➫➡❷➨→➞✈➞➢➝✚➪✂✃▼➩✚➨→➺▼➥→➝⑥➳❏➺❚➝❭➩✯➟⑥✃✂➡➢➝✫➨➔➬♥➡✭➡✈➝❭➩✚➻①➚▼➪Õ➦➱➻☛❒➂➝✚➞✭➜✲➟⑩➡➒➻⑥➚✂➥➫➧✴➚✂➻①➚✼❰✣❲✚➝✚➞➢➻✘➝❭➥→➝❭➮✫➝❭➚♦➬✈➡✚Ð✖Øs➩❮❰
➩❭➻①➞✈➪✂➨➫➚✂➼ ➬♥➻ ➬♥➜▼➝✏➬✈➜✂➝✚➻⑥➞➢➧ ➻⑥Ò❲➡➢➧④➮❼➺➱➻①➥→➨➫➩➍➪▼➧④➚✲➟⑥➮☎➨→➩❭➡➌➬♥➜✂➨➫➡✰➮☎➝✯➟⑩➚✂➡✕➬♥➜✲➟⑩➬✕➬✈➜✂➝✏➮✫➻⑩➬♥➨→➻⑥➚P➨→➡✜➩❤➜✲➟⑥➻⑥➬✈➨→➩
➭r➽❋➹✼➳➱➴⑥➯☛➸➇Ð
Ñ❥➚✂➩❭➞✈➝✯➟⑩➡✈➨→➚▼➼

γ
➝❮➤①➝❭➚ Ò➑✃▼➞➢➬♥➜▼➝✚➞✟➬✈➜✂➝✕➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞✟➡✈➜▼➞✈➨→➚▼æ④➡❲➬♥➻✏➟✴➦➱➻①➨→➚❫➬❼➟⑩➬✝➟➏➩❭➝✚➞➢➬♥➟⑥➨→➚Õ➦✲➟⑥➞♥➟⑩➮✫➝❮➬♥➝✚➞

➤⑩➟⑥➥➫✃✂➝➄➟⑩➚✂➪ ➟⑩Ò➋➬✈➝✚➞❼➟✘➩✚➞✈➨➫➡✈➨➫➡➒➬✈➜✂➝➌➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞✟➝✓é✼➬✈➝✚➚✂➪▼➡❼➬♥➻➏➟✘➞♥➟⑩➬✈➜✂➝✚➞❲➥❆➟⑥➞➢➼①➝✫➨➫➚❫➬♥➝✚➞❸➤⑩➟⑥➥✿Ðì➇➀➝❭➩✯➟⑥✃✂➡➢➝➌➬♥➜✂➝
➟⑥➺▼➡✈➻①➥➫✃▼➬♥➝❲➡✈➥→➻⑥➦❚➝❼➻⑩Ò❉➬✈➜✂➝❼➮✫➟⑥➦➏➨➫➡❽➼①➞✈➝✚➟⑩➬♥➝❭➞✮➬♥➜✂➟⑥➚➍➻①➚✂➝❼➝❮➤①➝❭➞➢➧♦❒➆➜✂➝✚➞➢➝⑥➳✡➬♥➜✂➝❭➞✈➝❼➩✚➟⑥➚✂➚✂➻⑥➬✭➺➱➝✝➟⑥➚❫➧✴➡➢➬❤➟⑩➺✂➥→➝
➦➱➝✚➞➢➨→➻④➪✂➨→➩➒➻①➞✈➺▼➨➫➬✯➳✾❒➆➜✂➨➫➩❤➜➠➟⑩➼❫➟⑥➨→➚✘➮✫➝✚➟⑥➚✂➡✮➬✈➜✲➟⑩➬❽➬✈➜✂➝✝➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞✮➮❼✃▼➡➢➬❷➺➱➝❼➩❤➜✲➟⑥➻⑩➬♥➨→➩⑩Ð❷Ñ❥➚➍➡➢➧④➡➢➬✈➝✚➮ ❩♠➽☛➴✌❬
å♦✃✲➟⑥➡➢➨➔❰➉➦❚➝❭➞✈➨→➻④➪✂➨➫➩✚➨➫➬❥➧☎➨➫➡s✃✂➚✂➥→➨➫æ⑥➝❭➥➫➧①Ð

➽✯➷



r✣➨➫➼①✃✂➞➢➝✡❪✴t❊➆➆➝❭➬✈✃✂➞✈➚✫➮➄➟⑥➦▼➡➂➻①➚✖➬♥➜▼➝✥➡❸❒➆➨➫➬♥➩❤➜▼➨→➚✂➼❲➥→➨→➚▼➝ K0

➟⑥➡➂➟✭Ò➑✃✂➚▼➩❭➬♥➨➫➻①➚☎➻⑥Ò❏➬✈➜✂➝✥➦▼➞✈➻❢Ü➢➝❭➩❭➬♥➨➫➻①➚➌➟⑩➚✂➼①➥→➝
γ
Ð

Ø ➦➱➝✚➞➢➨→➻④➪✟➬❥❒➂➻✭➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞➎❩➇➟❼❬■✃▼➚✂➪✂➝✚➞➢➼①➻④➝✚➡✸➟❽➦➱➝✚➞✈➨➫➻✼➪❲➪✂➻①✃✂➺▼➥→➨→➚▼➼❽➺✂➨➫Ò➑✃▼➞✈➩✯➟❢➬♥➨→➻⑥➚③❩●➺✱❬❮➳⑥❒➆➜✂➨➫➩❤➜✖➨→➚✂➪✂✃▼➩✚➝✚➡✸➟
➩❤➜✲➟⑩➻⑥➬♥➨➫➩✮➮☎➻⑥➬♥➨➫➻①➚➓❩➑➩✒❬❮Ð✪➛s➜▼➝❷➩❤➜✲➟⑥➻⑥➬✈➨→➩❷➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞➀➡➢➜✂➞✈➨➫➚✂æ♦➡➀➬♥➻✖➟✟➦➱➻①➨➫➚♦➬❜➟⑥➚✂➪✜➟❼➚✂➝❮❒✭➳✂➥❆➟⑩➼①➝✚➞➀➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞
➟⑥➞➢➨→➡➢➝✚➡❷❩●➪✱❬❮Ð

r✣➨➫➼①✃✂➞✈➝✥ä❲➡➢➜✂➻❋❒➆➡➀➬♥➜▼➝✮➡✈➜✂➟⑥➦❚➝✥➻⑥Ò➙➬✈➜✂➝❽➟⑩➬➢➬♥➞✈➟⑥➩❭➬✈➻①➞➋❩➑➞✈➝❭➪❅❬✸Ò➑➻①➞➂➟⑥➥➫➥✾➬✈➜✂➝✥Ò➑➻⑥✃✂➞➂➩✚➟⑥➡✈➝❭➡➀➬♥➜✂➟⑩➬❜➟⑩➞✈➝✮➡➢➜✂➻❋❒➆➚
➨➫➚❨r✣➨➫➼✂Ð❴❪▼Ð➣Ñ➉➬➂➨→➡➀➟⑥➦✂➦✲➟⑥➞➢➝✚➚❫➬➀➬✈➜✲➟⑩➬➂➚✂➻⑥➬❉➬♥➜✂➝✥➮✫➨➫➚✂➨→➮✫➟⑥➥✂➦➱➻①➥➔➧✼➼⑥➻①➚ Pf

➺✂✃▼➬➀➬✈➜✂➝❑❩➑➺✂➥❆➟⑩➩❤æ✴❬✸➥→➨➫➚✂➝✚➡✸➪✂➝ Ô ➚✂➨→➚▼➼
Pf

➩❭➻①➚❫➬❤➟⑥➨➫➚✴➬♥➜▼➝❼➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞✚Ð❿➛s➜✂➝❼➩❤➜✲➟⑥➻⑩➬♥➨→➩❲➮✫➻⑩➬♥➨→➻⑥➚✘➨➫➡✮➟➄➩❭➻①➚✂➡➢➝✚å♦✃✂➝✚➚▼➩✚➝✖➻⑥Ò✪➡❸➬♥➞✈➝❮➬♥➩❤➜✂➨➫➚✂➼✜➟⑥➚✂➪✴➚✂➻①➚✼❰
➨➫➚♦➤⑥➝✚➞❸➬♥➨→➺▼➨→➥→➨➔➬❥➧☎➻⑥Ò■➬✈➜✂➝✭➪▼➧④➚✲➟⑥➮☎➨→➩❭➡s➻①➚✰➬✈➜✂➝➒➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞❭Ð

r✲➻①➞❽➦➱➻①➥➫➧④➼①➻⑥➚✂➡❽❒➆➨➫➬✈➜Ö➜▼➨→➼①➜✂➝❭➞❽➚♦✃✂➮❼➺➱➝✚➞✭➻⑥Ò❉➡✈➨➫➪✂➝✚➡✭➨➔➬❷➨→➡❷➚✂➻⑩➬✭➡➢➬♥➞✈➟⑥➨→➼⑥➜♦➬➢Ò➑➻①➞➢❒➀➟⑥➞➢➪✏➬✈➻✕➼①➨➫➤⑥➝✖➟✕➩❤➜✲➟⑥➞❸❰
➟⑥➩❮➬♥➝❭➞✈➨→➡✈➟⑩➬♥➨➫➻①➚✰➻⑥Ò✣➬✈➜✂➝✟➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡✚Ð➆Ñ❥➚✂➪▼➝✚➝✚➪❏➳❚Ò●➟⑥➨➫➞✈➥➫➧➌➩✚➻①➮☎➦✂➥→➝❮➬♥➝❷➬♥➜▼➝✚➻①➞❸➧✘➨➫➡✥➻⑥➚✂➥➫➧✜➪✂➝❮➤①➝❭➥→➻①➦➱➝✚➪✴Ò➑➻⑥➞✥➪✂➨➫➡❸❰
➩❭➻①➚❫➬♥➨→➚♦✃✂➻⑥✃✂➡➆➮➄➟⑥➦▼➡❿➻⑥➚✰➬❥❒➂➻➄➨➫➚♦➬✈➝✚➞❸➤⑥➟⑩➥→➡❷❩●➡➢➝✚➝➒➝⑥Ð➘➼✂Ð✛➭r➽✒➉⑩➸✶❬❮➳✾➟⑥➚✂➪✰➻①➚✂➥➔➧✜➟⑥➚✘➟⑥➺✂➡❸➬♥➞♥➟⑩➩❭➬❿➩❤➜✲➟⑥➞✈➟⑥➩❭➬✈➝✚➞✈➨✟❲✯➟⑩➬✈➨→➻①➚
➨➫➡➆➟❋➤⑩➟⑥➨➫➥❆➟⑥➺▼➥→➝✥Ò➑➻⑥➞s➮✫➻①➞➢➝❽➼①➝❭➚✂➝✚➞✈➟⑥➥✺➡➢➧④➡➢➬✈➝✚➮☎➡✟➭r➽①➽✚➸➇Ð

ñ ò➭▼⑦❍❘❙⑨⑩⑥◗ì⑧✏❯✭▼❱❍❘⑧

Ñ❥➚☎➬♥➜✂➝❿➦✂➞✈➝❮➤④➨→➻①✃✂➡➂➡✈➝❭➩❭➬♥➨➫➻①➚✂➡❉❒➀➝✥➜✲➟✯➤①➝✮➡➢➝✚➝❭➚➄➬♥➜✲➟❢➬❜➟➒➦❚➻①➥➔➧④➼①➻①➚✲➟⑥➥r❰❥➡➢➜✲➟⑥➦➱➝✚➪☎➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞✸➩✚➟⑥➚✕➟⑥➞➢➨→➡✈➝s❒➆➜✂➝❭➚
➟✭Ò➑➻✼➩❭✃✂➡❸❰✿➬❥➧✼➦➱➝✮✃▼➚✂➡➢➬♥➟⑥➺✂➥→➝❿➦➱➝✚➞✈➨➫➻✼➪▼➨→➩➆➻①➞✈➺▼➨➫➬❉➨→➡❉➚✂➝✯➟⑩➞❉➬✈➻❼➟❲➼⑥➝✚➚✂➝❭➞✈➨→➩✥➼①➞♥➟✪❲✚➨→➚▼➼⑩❰❥➡➢➥→➨→➪▼➨→➚✂➼❽➺▼➨➫Ò➑✃✂➞➢➩✯➟⑩➬✈➨→➻①➚➙Ð✡èÕ➝
➪✂➝❭➪✂✃✂➩❭➝✚➪ ➟➍➬♥➜✂➞➢➝✚➝❮❰➉➦✲➟⑥➞✈➟⑥➮✫➝❮➬♥➝❭➞✫➦✂➨➫➝✚➩❭➝❭❒➆➨→➡➢➝❮❰➉➥→➨→➚▼➝✯➟⑥➞✖➮✫➟⑥➦Ï➬✈➜✲➟⑩➬✫➩✚➻①➮☎➦✂➥➫➝❭➬♥➝❭➥➫➧ ➪▼➝✚➡✈➩❭➞✈➨➫➺❚➝❭➡✫➬♥➜▼➨→➡☎➦✂➜✂➝❮❰
➚✂➻⑥➮✫➝❭➚✂➻①➚Õ➨➫➚➠➬✈➜✂➝➌➦✂➥→➟⑥➚✂➝⑥Ð✜è➠➝➄➩✚➻⑥✃✂➚❫➬♥➝✚➪ ➬✈➜✂➝➄➚♦✃✂➮❼➺➱➝✚➞❲➻⑥Ò➆➡✈➨➫➪✂➝✚➡❲➻⑥Òs➬♥➜▼➨→➡➒➦❚➻①➥➔➧④➼①➻①➚×➟⑩➚✂➪×➩❤➜✲➟⑥➞✈➟⑥➩❮❰
➬✈➝✚➞✈➨✟❲✚➝❭➪➍➜✂➻❋❒Ù➨➔➬❽➪✂➝❭➦❚➝❭➚✂➪✂➡✭➻①➚➏➬✈➜✂➝❼➦✲➟⑥➞✈➟⑥➮☎➝❭➬♥➝❭➞✈➡❭Ð❒r✣➨→➚✲➟⑩➥→➥➫➧⑥➳✲❒➀➝✝➡➢➜✂➻❋❒➀➝❭➪Ö➬✈➜✲➟⑩➬❽➬✈➜✂➝❼➪▼➧④➚✲➟⑥➮☎➨→➩❭➡❽➩✯➟⑩➚
➺➱➝✫➪▼➝✚➡✈➩❭➞✈➨➫➺❚➝❭➪Õ➺❫➧➠➟✘➪✂➨➫➡✈➩✚➻⑥➚♦➬✈➨→➚♦✃✂➻①✃▼➡❲➨➫➚♦➬✈➝✚➞❸➤⑥➟⑩➥✪➮➄➟⑥➦✏❒➆➜✂➨➫➩❤➜Õ➩✯➟⑩➚×➝❮é✼➜✂➨➫➺✂➨➫➬➒➦➱➝✚➞✈➨➫➻✼➪▼➨→➩✖➟⑥➚✂➪➠➩❤➜✲➟⑥➻⑥➬✈➨→➩
➮☎➻⑥➬♥➨➫➻①➚✂➡❭Ð

è➠➝❽➬♥➜✂➨➫➚✂æ✫➻⑩Ò✡➬✈➜✂➝❷➦➱➻①➥➫➧④➼①➻①➚✂➟⑥➥➔❰➉➡✈➜✲➟⑥➦➱➝✚➪➄➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞❜➟⑥➡➀➬♥➜▼➝✭➟⑥➚✲➟⑥➥➫➻①➼✟➻⑥Ò■➟⑥➚✜➨➫➚♦➤⑩➟⑥➞➢➨❆➟⑥➚❫➬❉➬♥➻①➞➢✃✂➡s➨→➚✜➟
➡➢➮✫➻④➻⑥➬♥➜✘➤①➝✚➩❮➬♥➻①➞ Ô ➝✚➥→➪❏Ð❷Ø❜➬❽➬♥➜✂➝✟➮✫➻①➮☎➝✚➚❫➬✥❒➆➜✂➝✚➚➍➬♥➜▼➝✝✃✂➚✂➡➢➬♥➟⑥➺✂➥➫➝❼➦❚➝❭➞✈➨➫➻✼➪✂➨➫➩❲➻⑥➞✈➺✂➨➔➬❽➨→➚▼➡✈➨→➪▼➝✟➨➫➬✮➼①➞♥➟✪❲✚➝✚➡

➽☛➯



r✣➨➫➼①✃✂➞➢➝✟ä✴ts➛s➜▼➝❼➡✈➜✲➟⑩➦❚➝❼➻⑩Ò➣➬♥➜✂➝❼➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞✥➟⑩➬✮➬✈➜✂➝✟➡✈➟⑥➮☎➝✟➦✲➟⑥➞✈➟⑥➮☎➝❭➬♥➝❭➞❿➤⑩➟⑥➥➫✃✂➝✚➡✮➟⑥➡❽➨➫➚➃r✣➨➫➼✂Ð❅❪▼Ð➋❇❿➻⑥➬♥➝
➬✈➜✲➟⑩➬s➬♥➜▼➝➒➮☎➨→➚▼➨→➮✫➟⑥➥✾➦❚➻①➥➔➧④➼①➻①➚ Pf

➪▼➻✼➝❭➡❿➚▼➻⑥➬➆➩✚➻①➚❫➬♥➟⑥➨→➚✕➬♥➜▼➝❲➟❢➬✈➬♥➞✈➟⑥➩❭➬✈➻①➞s➨→➚▼➪✂➨→➩✚➟⑩➬♥➝❭➪✰➺❫➧✕➞➢➝✚➪✰➪✂➻⑥➬✈➡✚Ð

➬✈➜✂➝✘➡➢➥→➨➫➪✂➨→➚✂➼✏➞➢➝✚➼①➨➫➻①➚➙➳✸➬♥➜✂➝✰➦❚➻⑥➥➫➧④➼①➻①➚✲➟⑩➥➔❰❥➡➢➜✲➟⑥➦➱➝✚➪Ï➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞☎➪▼➨→➡♥➟⑩➦✂➦❚➝✚➟⑥➞✈➡✫➟⑥➚✂➪Ï➬♥➜✂➝✰➦➱➝✚➞✈➨➫➻✼➪▼➨→➩✕➻①➞➢➺✂➨➫➬
➺➱➝✚➩❭➻①➮✫➝❭➡✫➡❸➬❤➟⑥➺▼➥→➝⑥ÐÒ❳✥➝❭➚✂➩✚➝⑩➳➀❒➀➝✘➩✚➻①✃▼➥→➪Ï➞✈➝✚➥→➟⑩➬♥➝✕➬✈➜✂➨→➡✖➺✂➨➔Ò➑✃✂➞✈➩✚➟⑩➬♥➨➫➻①➚ ➬♥➻➠➟Ö➡➢✃✂➦❚➝❭➞✈➩❭➞✈➨➫➬✈➨→➩✚➟⑥➥✡❇✥➝❭➨→➮✫➟⑥➞✈æ①❰
ç▼➟⑩➩❤æ⑥➝✚➞❷➺▼➨➫Ò➑✃✂➞➢➩✯➟⑩➬✈➨→➻①➚➙Ð❷Ø✥➚➍➨→➚❫➤⑩➟⑥➞✈➨→➟⑥➚❫➬✮➬✈➻①➞✈✃✂➡✮➨→➚➍➟➌➡➢➮✫➻④➻⑥➬♥➜✘➤①➝✚➩❮➬♥➻①➞ Ô ➝❭➥→➪✴➬❥➧④➦✂➨➫➩✯➟⑥➥➫➥➫➧✰➦➱➝✚➞✈➡➢➨→➡❸➬♥➡❷➻①➚✂➥➔➧
Ò➑➻①➞➆➞➢➝✚➥❆➟❢➬♥➨➫➤⑥➝✚➥➔➧✕➡✈➮✫➟⑥➥→➥❏➡✈➮☎➻✼➻⑥➬✈➜✘➦➱➝✚➞❸➬♥✃✂➞➢➺✲➟⑩➬✈➨→➻①➚✂➡❭➳✾➺✂✃▼➬❿➬♥➜✂➝➒➦❚➻⑥➥➫➧④➼①➻①➚✲➟⑩➥➔❰❥➡➢➜✲➟⑥➦➱➝✚➪✰➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞✥➟⑩➦✂➦❚➝✚➟⑥➞✈➡
➬✈➻✝➺❚➝❽Ò●➟⑥➞s➮☎➻①➞➢➝❽➞✈➻①➺▼✃✂➡➢➬s➬✈➜✲➟⑥➚✰➟❼➡✈➮☎➻✼➻⑩➬♥➜✕➨→➚❫➤⑩➟⑥➞➢➨❆➟⑥➚❫➬❜➬✈➻①➞✈✃✂➡❭Ð❉ç✼➨→➮☎➨→➥→➟⑥➞❉➟⑥➚✲➟⑥➥➫➻①➼①➡➀Ò➑➻⑥➞❜➨→➚❫➤⑩➟⑥➞✈➨→➟⑥➚❫➬❜➬♥➻⑥➞✈➨
➜✲➟✯➤⑥➝✥➺➱➝✚➝❭➚✫➡❸➬♥✃✂➪✂➨➫➝✚➪☎➨→➚✖➪✂➨➔Ó❏➝❭➞✈➝✚➚❫➬✸➩❭➻①➚❫➬♥➝❮é④➬✈➡★❫✼Ò➑➻⑥➞✪➝❮é▼➟⑥➮☎➦✂➥→➝➆➨→➚❸r■➨→➥→➨➫➦✂➦➱➻☛➤➒➡❸➧✼➡❸➬♥➝❭➮✫➡✸❒➆➨➫➬✈➜✂➻①✃▼➬✸➡➢➥→➨→➪▼➨→➚✂➼
➭➲➴⑥➾❢➸✡➟⑩➚✂➪✘➡❸➧④➡➢➬♥➝❭➮✫➡s❒➆➨➔➬♥➜✰➨→➮☎➦✲➟⑥➩❭➬❷➭➘➷✂➳✲➴⑥➹⑩➸➇Ð
è➠➝✮➺➱➝✚➥→➨➫➝❭➤⑥➝✥➬♥➜✂➟⑩➬➀➻⑥✃✂➞❜➟⑥➚✂➟⑥➥➫➧④➡✈➨➫➡➂➩✚➟⑥➚✕➟⑥➥➫➡✈➻❲➺❚➝✮➟⑥➦✂➦✂➥➫➨→➝✚➪☎➨→➚☎➬♥➜✂➝✥➩✚➻①➚❫➬✈➝❮é④➬✯➳▼❒➆➜▼➝✚➞✈➝❽➟⑥➚✕➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➨➔➤①➝

➡➢➮✫➻④➻⑥➬♥➜✕➨➫➚❫➤⑥➟⑩➞✈➨❆➟⑩➚♦➬➂➬♥➻①➞➢✃✂➡➆✃✂➚✂➪✂➝❭➞✈➼①➻④➝✚➡❿➟❼➼①➞✈➟❄❲✚➨➫➚✂➼⑩❰➉➡✈➥→➨➫➪✂➨→➚▼➼✟➺✂➨➔Ò➑✃✂➞✈➩✚➟⑩➬♥➨➫➻①➚➙Ð❈ó➀➥➫➝✯➟⑥➞➢➥➫➧⑥➳▼➺➱➝❭Ò➑➻①➞➢➝➒➼⑥➞♥➟❄❲❭➨→➚✂➼
❒➂➝✕➜✲➟✯➤①➝✘➟⑥➚ ➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➨➫➚✂➼➏➬♥➻⑥➞✈✃✂➡✝➨➫➚ ➟➏➡✈➮☎➻✼➻⑥➬✈➜×➬♥➜✂➞➢➝✚➝✓❰❥➪✂➨➫➮✫➝❭➚✂➡✈➨➫➻①➚✲➟⑥➥✸➤①➝❭➩❭➬♥➻⑥➞ Ô ➝✚➥→➪❏Ð➹❳✥➝❭➚✂➩✚➝⑩➳➂➬✈➜✂➨→➡
➡❸➬❤➟⑥➺✂➥➫➝❿➬✈➻①➞✈✃▼➡❜➜✲➟⑥➡➀➟⑥➚➌✃✂➚✂➡❸➬❤➟⑥➺▼➥→➝✮➻⑥➺④Ü➢➝✚➩❮➬s➨→➚✂➡➢➨→➪✂➝❿➨➫➬✚➳④❒➆➜▼➨→➩❤➜➌➨➫➡➀➝✚➨➔➬♥➜✂➝❭➞❜➟➒➦❚➝❭➞✈➨→➻④➪✂➨➫➩✥➻①➞➢➺✂➨➫➬➂➻①➞➂➟⑥➚✂➻⑥➬✈➜✂➝✚➞
➬✈➻①➞✈✃✂➡❭Ð❐Ñ❥➚❐➼①➝✚➚▼➝✚➞♥➟⑩➥❜❒➀➝✰❒➀➻①✃▼➥→➪Ï➝❮é✼➦❚➝❭➩❭➬☎➬♥➜✲➟❢➬☎➬✈➜✂➝✜➬♥➻①➞➢✃✂➡✖➺✂➞✈➝✚➟⑥æ♦➡✫✃✂➦❐➝✚➨➔➬♥➜✂➝❭➞☎➺➱➝❭Ò➑➻⑥➞✈➝✜➻①➞☎➟⑩➬✖➬♥➜✂➝
➮☎➻①➮☎➝✚➚❫➬➒➻⑥Òs➼①➞✈➟❄❲✚➨➫➚✂➼✂Ð③❳❿➻☛❒➂➝❭➤⑥➝✚➞❭➳✪➨➫Ò➀❒➂➝✕➟⑥➡➢➡✈✃✂➮☎➝✖➬♥➜✲➟⑩➬➒➬♥➜▼➝✫➬♥➻⑥➞✈✃✂➡❲➦❚➝❭➞✈➡✈➨➫➡➢➬✈➡❲✃✂➦➠➬♥➻✘➬✈➜✂➝➄➼⑥➞♥➟❄❲❭➨→➚✂➼
➦➱➻①➨→➚❫➬✚➳❏➬♥➜✂➝✝➨➫➚✂➡✈➨➫➪✂➝❼✃✂➚▼➡➢➬❤➟⑩➺✂➥→➝✝➻①➺♦Ü➢➝✚➩❭➬✭❒➆➨➫➥→➥✡➪✂➝❭➬✈➝✚➞✈➮☎➨→➚▼➝✟➬♥➜✂➝✖➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡✚Ð❱➆❿➝❭➼❫➟⑥➞➢➪✂➥→➝❭➡✈➡❷➻⑥Ò✸❒➆➜✂➝❮➬♥➜✂➝❭➞
➬✈➜✂➝✜➻①➺④Ü➢➝✚➩❮➬☎➨→➚✂➡➢➨→➪✂➝➌➨➫➡✖➟⑥➚Ï✃✂➚✂➡➢➬♥➟⑥➺✂➥➫➝✕➦❚➝❭➞✈➨→➻④➪✂➨➫➩➌➻①➞✈➺▼➨➫➬✝➻①➞✖➟✏➞✈➝❭➦❚➝❭➥→➥➫➨→➚✂➼✴➬✈➻①➞✈✃▼➡✚➳❉➻①✃✂➞✝➩✚➻⑥➚✂➡➢➬✈➞✈✃✂➩❮➬♥➨→➻⑥➚
➻⑥Ò➣➦❚➻①➥➔➧④➼①➻①➚✂➡➆❒➆➨→➥➫➥✺➞✈➝✚➮✫➟⑥➨➫➚✰➤⑩➟⑥➥➫➨→➪✜❒➆➨➫➬♥➜✰➬♥➜✂➝❲➝❮é✼➩✚➝❭➦▼➬♥➨➫➻①➚➏➬♥➜✂➟⑩➬✥➬✈➜✂➝✟➞➢➻⑥➬❤➟❢➬♥➨→➻⑥➚✴➟⑥➚▼➪➏➝❮é✼➦✲➟⑥➚▼➡✈➨→➻⑥➚➏➚✂➻❋❒
❒➆➨➫➥→➥❏➺➱➝✭➩✚➻①➮☎➦✂➥➫➝❭➬♥➝❭➥➫➧➄➚✂➻①➚✂➥➫➨→➚✂➝✚➟⑥➞✚Ðs❳❿➝✚➚✂➩❭➝⑥➳❚➟✖➦➱➻①➥➔➧✼➼⑥➻①➚✲➟⑥➥r❰❥➡✈➜✂➟⑥➦❚➝❭➪✜➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➻①➞➆➟⑩➦✂➦❚➝✚➟⑥➞✈➡✥➟⑥➚✂➪✰➨→➚✕➬✈➜✂➨→➡
➡➢➝✚➚✂➡➢➝❼➬♥➜✂➝➒➬♥➻①➞➢✃✂➡✮➦➱➝✚➞➢➡✈➨→➡❸➬♥➡❽➦✂➟⑥➡➢➬❽➬✈➜✂➝✟➼⑥➞♥➟❄❲❭➨→➚✂➼⑩❰➉➡✈➥➫➨→➪✂➨➫➚✂➼✝➺✂➨➫Ò➑✃▼➞✈➩✯➟❢➬♥➨→➻⑥➚➙Ð➋❉❽➚✴➬✈➜✂➝❼➻⑥➬✈➜✂➝✚➞✥➜✲➟⑥➚✂➪❏➳❏➮☎➻①➡➢➬
➦✂➞➢➻①➺✲➟⑥➺▼➥➫➧✟➬✈➜✂➝s➪▼➧④➚✲➟⑥➮☎➨→➩❭➡✪➻①➚✖➬♥➜✂➝❿➟⑩➬➢➬♥➞♥➟⑩➩❭➬♥➻⑥➞➣➨→➡✪➩❤➜✲➟⑩➻⑥➬♥➨➫➩⑥➳❫➡✈➻✭➬♥➜✂➟⑩➬✸➨→➚✝➬♥➜▼➨→➡✪➡✈➝❭➚✂➡✈➝➆➬♥➜▼➝➆➬✈➻①➞✈✃▼➡✪➺✂➞✈➝✚➟⑥æ♦➡
✃✂➦✘➟⑩➬➆➼①➞✈➟❄❲✚➨➫➚✂➼⑩❰➉➡✈➥→➨➫➪✂➨→➚▼➼✂Ð

❇✥➻⑥➚✼❰❥➡➢➮✫➻④➻⑥➬♥➜ ➺▼➨➫Ò➑✃✂➞➢➩✯➟⑩➬✈➨→➻①➚✂➡❲➮✫➻⑥➡➢➬✖➻⑥Ò➆➬♥➜▼➝➌➬♥➨→➮☎➝➌➪✂➻✏➚✂➻⑩➬✖➦❚➝❭➞✈➡✈➨➫➡➢➬✖➨➔Ò❿➬✈➜✂➝✕➪✂➨➫➮✫➝❭➚✂➡✈➨➫➻①➚×➻⑥Ò❿➬♥➜✂➝
➡❸➧✼➡❸➬♥➝❭➮ ➩❤➜✲➟⑥➚✂➼①➝❭➡✚Ð✖Ñ➉➬✭➞✈➝❭➮➄➟⑩➨→➚✂➡❽➬✈➻✕➺❚➝☎➟⑥➚✲➟⑩➥➫➧❴❲✚➝❭➪✏❒➆➜▼➝❭➬♥➜▼➝✚➞✭➬♥➜✂➨➫➡❷➨→➡❽➬♥➜▼➝✝➩✯➟⑥➡➢➝✫➻⑥Ò✸➬✈➜✂➝✖➦❚➻①➥➔➧④➼①➻①➚✲➟⑥➥r❰

➽❋➾



➡➢➜✲➟⑥➦➱➝✚➪➏➟❢➬✈➬♥➞✈➟⑥➩❭➬✈➻①➞✈➡❭Ð❜➛s➜✂➝❭➞✈➝❭Ò➑➻⑥➞✈➝⑥➳➱➻①✃✂➞➆Ò➑✃▼➬✈✃✂➞✈➝✭❒➀➻⑥➞✈æ➌❒➆➨→➥➫➥✺➨→➚✂➩❭➥→✃✂➪▼➝✭➬✈➜✂➝➒➡➢➬♥✃▼➪▼➧✰➻⑥Ò➣➡❸➧✼➡❸➬♥➝❭➮✫➡❿❒➆➜✂➝✚➞➢➝
➟❼➬♥➜▼➞✈➝✚➝✭➪✂➨➫➮✫➝❭➚✂➡✈➨➫➻①➚✲➟⑥➥❏➟⑩➬✈➬✈➞♥➟⑥➩❮➬♥➨➫➚✂➼✝➡✈➥➫➻☛❒❄➮➄➟⑩➚✂➨➫Ò➑➻①➥➫➪➄➩❭➻①➚❫➬❤➟⑥➨➫➚✂➡s➬♥➜✂➝✭➼①➞✈➟❄❲✚➨➫➚✂➼⑩❰❥➡➢➥→➨➫➪✂➨→➚✂➼❲➪▼➧④➚✲➟⑥➮☎➨→➩❭➡✚Ð

×❣Þ✳ô✻Ø❤á❴õ❨à✞Ù❴è❤ç❅Ù❴Ú✘Ù❴Ø■å❼ö è➠➝❿❒➂➻①✃✂➥➫➪➄➥→➨➫æ⑥➝➆➬♥➻➒➬♥➜✲➟⑥➚▼æ❼➬♥➻❑➫①➟⑩➚✕ç✼➨➫➝✚➺➱➝✚➞➂➟⑥➚✂➪➄➛■➟⑥➮P÷⑥➡❚ø➒➟⑩➥→➮P÷⑥➞❸❰ù❇✮➟⑥➼⑥➧
Ò➑➻①➞✫➝✚➚✂➥➫➨→➼①➜❫➬✈➝✚➚✂➨➫➚✂➼Õ➪✂➨➫➡✈➩❭✃✂➡✈➡➢➨→➻①➚✂➡➌➟⑥➺❚➻⑥✃▼➬➌➬♥➜▼➝➏➦❚➻⑥➥➫➧④➼①➻①➚✂➡❭Ð➪➆✭Ð➓ç❚Ð➂➨→➡➌➨➫➚✂➪✂➝❭➺▼➬♥➝❭➪ ➬♥➻➺ú❒÷⑥➺➱➻①➞✕ç④➬✈ë✚➦✱÷⑩➚
Ò➑➻①➞s➡➢➜✂➻❋❒➆➨→➚✂➼☎➜✂➻❋❒ Ò➑➞➢➨→➩❭➬✈➨→➻①➚➌Ò➑➻⑥➞✈➩✚➝❭➡✥➩✚➟⑥➚✰➩✯➟⑥✃✂➡➢➝❲➨➫➚✂➡➢➬♥➟⑥➺✂➨➫➥→➨➫➬❥➧➄➟⑥➚✂➪✰➨→➚▼➪✂✃✂➩✚➝❷❳❿➻①➦▼Ò➣➺▼➨➫Ò➑✃✂➞➢➩✯➟⑩➬✈➨→➻①➚➙Ð✪➛s➜▼➝
➞➢➝✚➡✈➝✚➟⑥➞✈➩❤➜✝➻⑩Ò➁➆➒Ðùç❚Ð☛❒❜➟⑥➡■➡✈✃✂➦▼➦❚➻①➞❸➬♥➝❭➪✝➺♦➧❲➼①➞✈➟⑥➚❫➬❈❽✸ê❭û✌ós➯⑩➷①➷❼➉⑩➷❼❪❼û✼➽❉➻⑥Ò✲➬♥➜▼➝➎❽✪➚✂➼①➨➫➚✂➝✚➝❭➞✈➨→➚▼➼❽➟⑥➚✂➪❼ê✸➜❫➧④➡✈➨➫➩✯➟⑥➥
ç✼➩❭➨→➝❭➚✂➩✚➝❭➡❘➆❿➝❭➡✈➝✯➟⑩➞✈➩❤➜Ðó➀➻①✃✂➚✂➩❭➨→➥➧❩q❽✸ê❉ç✴➆➅ó➅❬❮Ð➀➛s➜✂➝➍➞✈➝❭➡✈➝✯➟⑩➞✈➩❤➜➶➻⑥Ò❷❳❲Ð☞Õ➠Ð☞❉✝Ð➂❒❜➟⑥➡✕➡➢✃✂➦✂➦➱➻①➞➢➬✈➝✚➪ ➺❫➧ ➟⑩➚
❽✸ê❉ç✴➆➅ó Øs➪✼➤⑥➟⑩➚✂➩✚➝❭➪➃➆➆➝✚➡✈➝✚➟⑥➞✈➩❤➜ër✲➝✚➥➫➥→➻❋❒➆➡✈➜✂➨➫➦➙Ð

ü ②➅④✳②➎▲❦②✡❍❘❙⑨②✡⑧

➭➔➽✚➸❲ê✡Ð❤ó❜➟⑥➡✈➨➫➚✂➨✿➳❤❉❼Ð❤ú❷➨❆➟⑥➚✂➚▼➨→➚✂➨➇➳➙➟⑥➚✂➪➶r➀Ð✻ý✸➝❭➡➢➬♥➞➢➻①➚✂➨➇Ð❸❽➣é✼➦➱➝✚➞➢➨→➮☎➝✚➚❫➬❤➟⑥➥✪➝❮➤④➨→➪✂➝❭➚✂➩✚➝☎➻⑥Ò➂➚✂➻①➚✼❰➉➡➢➬❤➟⑩➚✂➪✲➟⑥➞➢➪
➺✂➨➔Ò➑✃✂➞✈➩✚➟⑩➬♥➨➫➻①➚✂➡■➨→➚❼➚✂➻⑥➚✼❰❥➡➢➮✫➻④➻⑥➬♥➜✟➻①➡✈➩❭➨→➥→➥→➟⑩➬♥➻⑥➞■➪▼➧④➚✲➟⑩➮✫➨➫➩✚➡✚Ð➁þ⑦♠❢â✲ß❞à➋â✜❞❁❝❄ÿ✁�❒♣❢â✄✂→➳①➷❫➾❆t➓➴①➯⑩ä✆☎▼➴①➵①➴④➳①➴❄➉❄➉①➾▼Ð

➭ù➴❢➸❱ú✝Ð➨ó➀➡✈➝❭➞✈➚✱÷⑩æ✖➟⑥➚✂➪❨ú✖Ð♦ç♦➬♥ë✚➦➳÷⑥➚➙Ð✜❉❷➚✖➬♥➜▼➝❿➦➱➝✚➞➢➨→➻④➪✂➨→➩➂➞✈➝❭➡✈➦➱➻①➚✂➡✈➝❿➻⑥Ò❏➟❷➜✲➟⑥➞✈➮☎➻①➚✂➨➫➩✯➟⑥➥➫➥➫➧➒➝❮é✼➩❭➨➫➬♥➝❭➪✫➪▼➞➢➧
Ò➑➞➢➨→➩❭➬✈➨→➻①➚✕➻⑥➡✈➩✚➨➫➥→➥→➟⑩➬♥➻①➞❭Ð✞✝✟✂✡✠✻♠✳♥④â➱á☞☛✛à✿Ô★ÿ✁❝❄❥✌✂→➳✾➴⑥ä❫➯❴tù➾⑥➷①ä✆☎✼➾❫➯❄❪✼➳✲➴❄➉✌➉⑥➾▼Ð

➭➲➹⑩➸⑦r➀Ð✴➇✮Ð✱ó➀✃▼➚✂➜✲➟▼➳✲Û❲Ð❅➫▼Ð✂ê■➟⑥➼❫➟⑥➚✂➻▼➳✂➟⑥➚✂➪ëÕ✘➻⑥➞✈➝✚➚▼➻❸ð❲Ð➳r➂Ð✪ç✼➥➫➨→➪✂➨➫➚✂➼❲➺▼➨➫Ò➑✃✂➞➢➩✯➟⑩➬✈➨→➻①➚✂➡➂➻⑥Ò✡➝✚å♦✃✂➨➫➥→➨→➺▼➞✈➨❆➟✭➨→➚
➦✂➥→➟⑥➚✲➟⑥➞s➤⑩➟⑥➞➢➨❆➟⑥➺✂➥➫➝❽➡➢➬✈➞✈✃✂➩❮➬♥✃✂➞➢➝✟➡❸➧✼➡❸➬♥➝❭➮✫➡❭Ð✎✍✑✏✒✏✒✏✔✓✴ÿ✁❝⑥â▼Þ✕✂✁✖➣à♦ÿ✯❧✕✂✘✗✙✠❅♣❋Þ✭❥✌✂✚✍✓➳➱➯❄➉✱❩✿❪❼❬✭t➔➽①➽☛➴⑥ä✛☎➱➽①➽❋➹⑥➷▼➳
➴❄➉❄➉①➹▼Ð

➭➘➷⑥➸⑦❳➒Ð✝Û❽➟⑥➚✂æ⑩➻❋❒➆➨→➩★❲⑩➳✴ê✡Ð✝ê✪➨→➨➫➞✈➻①➨➫➚✂➝✚➚➙➳➄➟⑥➚✂➪ Ø❲Ð❑➇✮Ð❑❇❿➻①➞✈➪✂➮✫➟⑥➞➢æ➱Ð ❮✺➻❋❒❜❰➉➤①➝❭➥→➻④➩✚➨➔➬❥➧ ➨→➮☎➦✲➟⑥➩❮➬♥➡×➻⑩Ò
å♦✃✲➟⑥➡➢➨→➦➱➝✚➞➢➨→➻④➪✂➨→➩❽➻⑥➡✈➩✚➨➫➥→➥→➟⑩➬♥➨➫➻①➚✂➡✚Ð✜✖◆❜✴❝❴♠❋Þ✢✠✻♠❢ß❞à♦❥ù♠❢â▼Þ✣✗✥✤✜ÿ❁❝❴❧✭❥➯❝⑥ßùÞ❮➳❏➽✚➷❅❩✿➴✌❬ït➓➴❢➷✂➽✦☎▼➴①➯⑥➯✼➳✂➴✪➉✌➉❫➴✼Ð

➭ù➯❢➸❱Õ➠Ð⑥➪✂➨✱➇➀➝❭➞✈➚✲➟⑥➞➢➪✂➻✂➳❴ó✮Ð➨➫▼Ð✌➇➀✃✂➪✂➪➙➳❫Ø❲Ð❼➆✭Ð❼ó➀➜✲➟⑥➮☎➦✂➚✂➝❮➧④➡✚➳④➟⑥➚✂➪☎ê■Ð✌ø✥➻❋❒❜➟⑩➥→➩★❲❮➧④æ➱Ð★✧➆à ✩ï♥❴ÿ✯❧❁❝❄❥➇à➯♠❢â③❝⑥â➱á
❧✥❜✴❝❴♠❋Þ➒à➋â❨❵➱à➯❞✥❧✥❞✦✪✪à→Þ✒❞✦✫✿Þ✭❡❨♠✒♠✳❥♦❜✰á❄♣❢â➁❝❄❡✝à➯❧❁❝⑥ß❏Þ✭♣☛Þ✭❥ù❞✭❡✟Þ✕✬✭✓✻❜✱❞✥♠✳ÿï♣③❝⑥â➱á③❝✭❵❼❵➱ß❞à➯❧❁❝❄❥●à➯♠❢â▼Þ❮Ð➂ç✼➦✂➞✈➨➫➚✂➼①➝❭➞✚➳
➬✈➻☎➺➱➝✭➦✂✃✂➺✂➥➫➨→➡➢➜✂➝✚➪➙Ð

➭➲➾⑩➸❱Õ➠Ð■➪✂➨❚➇➀➝✚➞➢➚✲➟⑥➞✈➪▼➻✂➳✸ê■Ð◆ø✥➻❋❒➀➟⑥➥→➩⑥❲❭➧④æ✾➳➂➟⑩➚✂➪×Ø✟Ð❦❇✥➻①➞➢➪✂➮✫➟⑥➞✈æ✾Ð✴ç✼➥→➨➫➪✂➨→➚✂➼✰➺✂➨➔Ò➑✃✂➞✈➩✚➟⑩➬♥➨➫➻①➚✂➡★t✖➟✘➚✂➻❋➤①➝✚➥
➮☎➝✚➩❤➜✲➟⑩➚✂➨→➡➢➮ Ò➑➻⑥➞➀➡✈✃▼➪✂➪✂➝✚➚✕➻⑥➚✂➡✈➝❮➬s➻⑥Ò✛➩❤➜✲➟⑥➻⑥➡➀➨→➚➄➪✂➞➢➧✖Ò➑➞✈➨➫➩❭➬✈➨→➻①➚☎➻①➡✈➩❭➨→➥➫➥❆➟⑩➬✈➻①➞✈➡❭Ð✮✍❮â✱❥ù❞✭ÿ✓â➁❝❄❥✯✂★✝✟✂✰✧➆à ✩ï♥❴ÿ✱✂
✖◆❜✴❝❴♠❋Þ✜✲⑨❵❼❵➱ß✳✂✡✠✻❧❮à✴✂✮✏➂â④ã❄ÿ➇ã✵✂→➳➙➽❋➹✱❩♠➽✒➉❼❬ït➓➴⑥ä⑥➹❫➯✛☎▼➴⑥ä⑩➷❼❪▼➳✼➴❄➉✌➉①➹✼Ð

➭ù➵❢➸⑦➆✭Ð✪Û✟Ð❈❽➣➧④➞✈➝❭➡✚➳➀ê■Ð➣➛❷Ð✸ê✪➨→➨➫➞✈➻①➨➫➚✂➝✚➚❏➳➣Ø✟Ð❈➆✭Ðsó➀➜✲➟⑩➮✫➦✂➚▼➝❭➧④➡✚➳➀➟⑥➚✂➪ ❇❲Ð➣Ø❲Ðs➫▼Ð❈❮✺➨→➝❮➤①➝❭➚➙Ð➺ú❷➞♥➟❄❲❭➨→➚✂➼
➺✂➨➔Ò➑✃✂➞✈➩✚➟⑩➬♥➨➫➻①➚✂➡✭➟⑥➚▼➪➠➩❤➜✲➟⑩➻①➡✭➨→➚➍➬♥➜✂➝☎➪▼➧④➚✲➟⑥➮☎➨→➩❭➡❷➻⑥Òs➟✕➜❫➧④➪✂➞♥➟⑩✃✂➥→➨➫➩☎➪✂➟⑥➮✫➦➱➝✚➞❽❒➆➨➔➬♥➜✏➞✈➝❭➥→➨➫➝❭Ò❉➤⑥➟⑩➥➫➤①➝❭➡✚Ð
✠✶✍✷✲✹✸✺✝✟✂✰✲➎❵❼❵➱ß❞à➯❞✈á✻�❛♣⑩â➁❝❄❡✝à➯❧❁❝⑥ß✼✠❅♣❋Þ✭❥ù❞✭❡✟Þ❮➳✂➷❅❩●➷❼❬✭t➔➽✒➉❫➵⑥➾✆☎✾➽①➽✒➉①➾▼➳▼➴❄➉✌➉①➯✼Ð

➭✆❪⑩➸⑦➇✮Ð✜r✲➝✚➝✚➚❫➧✏➟⑩➚✂➪➘r➀Ð✏ó✮Ð✻Õ✘➻④➻①➚➙Ð⑦ó➀➜✲➟⑥➻①➡❷➨➫➚✏➟✫Ò➑➻①➞➢➩✚➝✚➪✏➪✂➞❸➧✴Ò➑➞➢➨→➩❭➬✈➨→➻①➚✘➻①➡✈➩❭➨→➥➫➥❆➟⑩➬✈➻①➞★ts➝✓é▼➦➱➝✚➞➢➨→➮☎➝✚➚❫➬♥➡
➟⑥➚▼➪✘➚♦✃✂➮☎➝✚➞➢➨→➩✯➟⑩➥➙➮✫➻④➪✂➝❭➥→➥→➨➫➚✂➼✂Ð✒✝✟✂✚✠✻♠✳♥✼â➱á☞☛✺à✿Ô★ÿ✁❝❄❥✯✂→➳✺➽❋➵❄➉✱❩➇➹✌❬✭t➲➹✌➉①➹✆☎✼➹①➴⑥➹▼➳➱➽❋ä①ä⑥➷✂Ð

➭➲ä⑩➸➒Ø❲Ð➧r➀Ð⑦r✣➨→➥➫➨→➦✂➦➱➻❋➤➱Ð �❷à ✽➋❞✭ÿ✥❞❮â✱❥●à✿❝⑥ß✾✏✘✿★♥✴❝❄❥➇à➯♠❢â▼Þ❀✪✪à♦❥♦❜✙�✭à→Þ✒❧✥♠❢â✱❥➇à➋â✱♥✱♠✳♥❫Þ☞❁➆à➔ã✳❜❴❥❂✫✌❃❛❝⑥â➱á❄✠✾à●á❴❞❤Þ❮Ð
ø❷➥→✃❫❒➂➝✚➞➆Øs➩✯➟⑩➪✂➝✚➮☎➨→➩⑩➳✲Û✮➻①➞➢➪✂➞✈➝❭➩❤➜♦➬✚➳■➽✯ä✌❪✌❪▼Ð

➭r➽✒➉⑩➸❲ç❚Ð➳➫▼Ð➳❳❿➻①➼❫➟⑥➚➙➳✴❮✪Ð✴❳❿➨→➼①➜✲➟⑩➮✘➳✼➟⑥➚✂➪✕➛❷Ð➳ó✮Ð➳❮✪Ð✱ú❷➞✈➨✽➩✫➚❏Ð■Û❿➧✼➚✂➟⑥➮✫➨➫➩✚➡❜➻⑩Ò✡➟❼➦✂➨→➝❭➩✚➝❭❒➆➨➫➡✈➝❽➥➫➨→➚✂➝✚➟⑥➞❉➮➄➟⑥➦
❒➆➨➔➬♥➜✰➟☎➼①➟⑥➦➙Ð✁❅❚ÿ✯♠✒❧✕✂✮❁✹✂✡✠✻♠✒❧✕✂★✲✭➳✲➷①➾①➹✴t➘➷❫ä✆☎✼➾❫➯④➳✲➴❄➉✌➉①➵✼Ð

➽☛➵



➭r➽①➽✚➸✭Ø❲Ðs➫▼Ð❈❳✥➻⑥➮❼➺✂✃✂➞➢➼✂Ð×ê✪➨→➝❭➩✚➝❮❒➆➨→➡✈➝✕➡➢➮✫➻④➻⑥➬✈➜ ➨→➚❫➬♥➝❭➞➢➤⑩➟⑥➥❜➮✫➟⑥➦✂➡✟❒➆➨➔➬♥➜ ➚✂➻①➚④❰➉➤⑩➟⑥➚✂➨➫➡✈➜✂➨➫➚✂➼➏➪✂➝❭➞✈➨➫➤⑩➟⑩➬✈➨➫➤⑥➝⑥Ð
✏❚ÿ➇ã❴♠✚á✵✂✜✓✻❜✟✂✞✗❆�❒♣❢â➁❝❄❡❇✂✚✠❅♣❋Þ✕✂→➳➱➴❄➉✴tù➵⑩➷❫ä✆☎✼➵①➵⑥➹▼➳▼➴❄➉✌➉✌➉✼Ð

➭r➽☛➴❢➸✭Ø❲Ð✱ó✮Ð✱➫▼Ð✴❮✺✃✂➻✖➟⑥➚✂➪❘➇✮Ð➳ó✮Ð✱ú❷➝✚➼①➼▼Ð➣ç④➬✈➨→➩❤æ✫➟⑥➚✂➪➌➚▼➻①➚✼❰❥➡❸➬♥➨➫➩❤æ✫➦➱➝✚➞➢➨→➻④➪✂➨→➩❿➮✫➻⑩➬♥➨→➻⑥➚✂➡➀➨➫➚➌➦❚➝❭➞✈➨➫➻✼➪✂➨➫➩✯➟⑥➥➫➥➫➧
Ò➑➻①➞➢➩✚➝❭➪✘➻①➡➢➩✚➨➫➥→➥❆➟❢➬♥➻①➞➢➡➂❒➆➨➫➬✈➜✜➪✂➞➢➧➌Ò➑➞➢➨→➩❮➬♥➨→➻⑥➚➙Ð✁✝✟✂✡✠✻♠✳♥✼â➱á❈☛✛à✿Ô★ÿ✁❝❄❥✌✂→➳➱➴⑥ä▼➽✌t➔➽❋➹❫➴✛☎✾➽❋➾✌❪▼➳▼➴❄➉✌➉①➾✼Ð

➭r➽❋➹⑩➸⑦➫▼Ð✪Õ✘➻①➡➢➝✚➞❭Ð❉✠❅❥➯❝❼Ô✚ß✍❞✡❝⑥â➱á✜❁➎❝⑥â➱á❴♠✳❡✥✸➶♠✳❥●à➯♠❢â▼Þ❜à➋â✣�❒♣❢â➁❝❄❡✝à➯❧❁❝⑥ß✵✠❅♣☛Þ✭❥ù❞✭❡✟Þ❮Ð④ê✸➞➢➨→➚✂➩❭➝❭➬✈➻①➚❑ð✥➚▼➨➫➤①➝❭➞✈➡➢➨➫➬❥➧
ê✪➞✈➝❭➡✈➡❭➳❚ê✪➞➢➨→➚✂➩❭➝❭➬♥➻⑥➚➙➳✺➽❋ä❫➵⑥➹✼Ð

➭r➽✯➷⑥➸❲ç❚Ð❆❇✮➟⑩➞♥➟✯➧❫➟⑥➚✂➟⑥➚✜➟⑥➚✂➪③ø✝Ð✴➫①➟✯➧❫➟⑥➞✈➟⑥➮➄➟⑩➚➙Ð❤ó➀➜✲➟⑥➻⑥➬✈➨→➩❿➤✼➨➫➺✂➞♥➟❢➬♥➨→➻⑥➚✫➨➫➚➌➟✟➚✂➻⑥➚✼❰❥➥➫➨→➚✂➝✚➟⑥➞✸➻①➡✈➩❭➨→➥→➥→➟⑩➬♥➻⑥➞➣❒➆➨➫➬♥➜
➩❭➻①✃✂➥→➻⑥➮❼➺✜➪✲➟⑥➮☎➦✂➨→➚✂➼▼Ð❊✝✟✂✡✠✻♠✳♥✼â➱á☞☛✺à✿Ô★ÿ✁❝❄❥✯✂→➳❏➽✯➷❫➾✱❩♠➽✄❬✭t➔➽☛➵✛☎✼➹✼➽①➳❏➽❋ä⑥ä▼➽①Ð

➭r➽☛➯❢➸✭Ø❲Ð✏➇✮Ð✻❇❿➻①➞✈➪▼➮➄➟⑥➞➢æ✾Ð⑦❇❿➻①➚✼❰➉➦❚➝❭➞✈➨→➻④➪✂➨➫➩❲➮☎➻⑥➬♥➨➫➻①➚✴➩✚➟⑥✃✂➡➢➝✚➪Ö➺♦➧✴➼①➞♥➟✪❲✚➨→➚▼➼➌➨→➚✂➩❭➨→➪✂➝❭➚✂➩✚➝✟➨→➚✏➟⑥➚➍➨➫➮✫➦✲➟⑩➩❭➬
➻①➡➢➩✚➨➫➥→➥❆➟❢➬♥➻①➞❭Ð❊✝✟✂✡✠✻♠✳♥✼â➱á❈☛✛à✿Ô★ÿ✁❝❄❥✌✂→➳✺➽✯➷♦➯➳❩➇➴✌❬✭tù➴①➵⑥ä✆☎✼➴⑥ä❫➵✼➳➱➽❋ä①ä▼➽⑥Ð

➭r➽❋➾⑩➸❷➇✮Ð✻❇✥➻❋➤❆÷⑥æ✾➳✚❋❏➡✚Ð✺ê■➟⑩➬❤➟⑥æ♦➨➇➳➙Ø✟Ð✾ó➀➨➫➥→➨➫➺❚➝❭➞➢➬♥➻▼➳❏➟⑥➚▼➪✘➫▼Ð✻➫▼Ð➙➛✸➧✼➡➢➻①➚➙Ð❸Õ✘➟⑩➬♥➜✂➝❭➮➄➟❢➬♥➨→➩✚➟⑥➥✡➮✫➻④➪✂➝✚➥■➻⑥Ò✸➬♥➜✂➝
➩❭➝✚➥→➥✺➪▼➨➫➤④➨→➡➢➨→➻①➚➌➩❮➧④➩✚➥→➝✭➻⑥Ò Ô ➡✈➡➢➨→➻①➚✕➧⑥➝✯➟⑥➡❸➬✯Ð✾✖◆❜✴❝❴♠❋Þ❮➳❏➽①➽➨❩♠➽✄❬✭tù➴①➵①➵●☎▼➴❄❪①➾▼➳✂➴❄➉✌➉▼➽⑥Ð

➭r➽☛➵❢➸⑦➫▼Ð❹❇✥✃▼➡✈➡✈➺✂➟⑥✃✂➮ ➟⑥➚✂➪ Ø✟Ð❹➆❿✃▼➨→➚✲➟▼Ð Ø ➬❥❒➀➻❐➪✂➝✚➼①➞➢➝✚➝✓❰❥➻⑥Ò❆❰✿Ò➑➞✈➝✚➝❭➪✂➻①➮ ➝✚➟⑥➞➢➬✈➜✂å♦✃✲➟⑥æ⑥➝➠➮✫➻④➪✂➝❭➥❽❒➆➨➫➬♥➜
➡❸➬❤➟⑩➬✈➨→➩✒û❢➪▼➧④➚✲➟⑥➮☎➨→➩✮Ò➑➞➢➨→➩❭➬✈➨→➻①➚❏Ð❊❅❚♥❆ÿ✯❞❱❝⑥â➱á❍✲⑨❵❼❵➱ß❞à➯❞✈á❏■❢❞✥♠✥❵✱❜❴♣❋Þ❮à➯❧❤Þ❮➳➙➽☛➴①➯➳❩➑➷➨❬✭t➲➾❫➴⑥ä✛☎✼➾❫➯⑥➾▼➳➱➽❋ä✌❪①➵✼Ð

➭r➽✒❪⑩➸⑦Õ➠Ð❤❉❽➝❭➡➢➬♥➞➢➝✚➨➫➩❤➜➙➳❤❇❲Ð✾❳✥➨➫➚✂➞✈➨➫➩❤➜✂➡✚➳✛➟⑩➚✂➪❿ø✖Ð✛ê✡➻①➦✂➦➙Ð❸➇➂➨➫Ò➑✃✂➞➢➩✯➟⑩➬✈➨→➻①➚➍➟⑩➚✂➪➠➡❸➬❤➟⑥➺▼➨→➥→➨➔➬❥➧✘➟⑥➚✲➟⑥➥➔➧✼➡➢➨→➡❽Ò➑➻①➞✭➟
➚✂➻⑥➚✼❰❥➡➢➮✫➻④➻⑥➬♥➜❼Ò➑➞➢➨→➩❮➬♥➨→➻⑥➚✝➻①➡✈➩❭➨→➥→➥→➟⑩➬♥➻⑥➞✚Ð❑✲✔ÿ✯❧✥❜④à♦✐❄❞❛♠▲✩❊✲⑨❵❼❵➱ß❞à➯❞✈á▼✸➶❞✥❧✥❜✴❝⑥â✲à➯❧❤Þ❮➳♦➾⑥➾✱❩✿➯✌❬ïtù➹❄➉▼➽✦☎✼➹▼➽✚➷✂➳▼➽❋ä⑥ä①➾▼Ð

➭r➽❋ä⑩➸➒ê✡Ð✺➛❷Ð■ê✪➨➫➨→➞✈➻⑥➨→➚✂➝❭➚➍➟⑥➚✂➪❖◆✝Ð✺Ø❲Ð✾ø✭✃✴❲✚➚✂➝❮➬♥➡✈➻❋➤➱Ð➄Ø✥➚➠➝❮➤①➝❭➚♦➬❸❰❥➪✂➞➢➨➫➤⑥➝✚➚×➮☎➝❭➬✈➜✂➻✼➪➍➬✈➻✰➡➢➨→➮❼✃▼➥❆➟⑩➬✈➝ Ô ➥→➨➫➦✼❰
➦➱➻❋➤✏➡➢➧④➡➢➬✈➝✚➮☎➡➒❒➆➨➔➬♥➜➠➟⑥➩✚➩❭✃✂➞♥➟⑩➬✈➝✫➩❭➻①➮☎➦✂✃▼➬♥➨➫➚✂➼✜➻⑥Ò➂➡✈➥→➨➫➪✂➨→➚▼➼✕➮✫➻⑥➬✈➨→➻①➚▼➡✚Ð✭✲❍✖✡✸ ✓✴ÿ✁❝⑥â▼Þ★❝❴❧✭❥➇à➯♠❢â▼ÞP♠❢â
✸➓❝❄❥✞❜✱❞✭❡❣❝❄❥●à➯❧❁❝⑥ß✼✠✻♠▲✩ï❥✴✪❭❝❄ÿ✯❞❮➳✲➹⑥➷❅❩●➹❼❬❮➳✾➴✪➉✌➉✌❪▼Ð
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